英语专业四级语法、词汇知识讲座

一、英语专业四级语法、词汇知识考试概况介绍

1.《教学大纲》对英语专业语法的总体描述是：能识别词类；区分名词的可数性和不可数性，可数名词的单、复数形式；基本掌握各种代词的形式与用法、基数词和序数词、常用介词和连词、形容词和副词的句法功能、比较级和最高级的构成及基本句型、冠词的一般用法；了解动词的主要种类、时态、语态及不定式和分词的基本用法、句子种类、基本句型和基本构词法。掌握主谓一致关系、表语从句、宾语从句、定语从句和状语从句等句型、直接引语和间接引语的用法、动词不定式和分词的用法、各种时态、主动语态、被动语态和构词法。其中对四级的要求是：除掌握上述内容外，还应该熟练掌握主语从句、同位语从句、倒装句和各种条件句。
    2.《教学大纲》对英语专业词汇的总体描述是：认知词汇不少于2，000个；掌握1，200个左右的常用词和一定数量的习惯用语及固定搭配，并能在口语中运用；认识740个左右的单词和一定数量的习惯用语及固定搭配，能根据上下文的提示理解其含义。通过基础英语课、阅读课和其他途径认知词汇达4，000～5，000个（其中含中学已学的2，000个），正确而熟练地使用其中的2，000～2，500个及其最基本的搭配。其中对四级的要求是：通过基础英语课、阅读课和其他途径认知词汇5，500 6，500个（含第二级要求的4，000～5，000个），正确而熟练地运用其中的3，000～4，000个及其最基本的搭配。
近年来专业四级考试中Grammar and Vocabulary部分中，60%为词汇、词组和短语的用法，约40%为语法结构，而且多有交叉。该题在总分中虽占分不多,但作为测试考生英语水平之基础,它对于TEM4中所有题项影响之大是众所周知的，因为任何一门外语的学习均始于词汇和语法，且对于词汇数量及其深度的掌握程度在一定意义上反应一个人的英语水平。因此，掌握词汇和语法对于在TEM4中取得好成绩显得尤为重要。

综观这近几年考题，可发现：

1．语法考题的涉及面宽，近年考题曾经考到：几乎所有词类；三种动词的非谓语形式；各种从句及关系词的用法；动词时态、虚拟语气、情态动词的用法；独立主格，主谓一致，倒装，强调、并列结构等基本语法知识。

2．语法考试的重点突出，语法考试的重点为内容庞杂较难掌握的项目，这些项目还反复出现，如：虚拟语气，状语从句，定语从句，独立主格，情态动词。

3．具体考查重点为以上项目中的特殊用法，不常用的情况
1）虚拟语气的考点为：would rather＋that从句＋一般过去时：It is vital／ necessary／ important／ urgent／ imperative／ desirable／ advisable／ natural／ essential＋that＋动词原形；It is time／about time／high time＋that＋一般过去时：proposal／suggestion＋that＋动词原形；lest＋that＋should＋动词原形；if only＋that＋would＋动词原形。

2）状语从句的考点为：非if引导的条件状语从句，此类句子多用at times，provided，so long as，in case，once等来替代if；由even if／so，now that，for all等引导的让步状语从句；just／hardly...when引导的时间状语从句；more than，as...as，not so much as，the same as，as much as等引导的比较状语从句。

3）独立主格结构多以逻辑主语＋分词的形式出现。

4）情态动词多与完成时形式连用。

5）定语从句重点考查介词＋关系代词（which）和as作为关系代词。

专业四级考试的词汇部分要求考生能灵活正确运用教学大纲语法结构表一至四级的全部内容，熟练掌握教学大纲词汇表中一至四级规定的5000—6000个认知词汇及其最基本的搭配。其考查重点为：

1．动词、名词与介词的搭配如：popular／patient＋with；yield／solution／adapt／transfer／access＋to；accuse／require＋of；charge＋for；under＋discussion等等。

2．习惯用法如：confess to／set about／be used to＋doing；be supposed to／have／make sb．＋do等。

3．由同一动词构成的短语如：come，go，set，break等构成的短语。

4．单个的动词，抽象名词，形容词和副词多以近义词、同义词的形式出现。

5．介词短语在句中作状语如：in terms of；with the exception of；in vain等，另外还应注意rather than，other than，such as，none／nothing＋but等词在考题中的出现。

语法和词汇的复习思路：

1．全面掌握基本语法点，重点记住各个项目中的“偏，特，难”点。

2．掌握常用习惯用法和词组。

3．注意在阅读中培养语感，因为在语篇层次上培养的语感往往可以直接帮助答题。

4．研究以往考试试题，适当做些练习记住典型题例。
完型填空
完形填空着重检查考生对语言的综合运用能力。给出一篇破坏信息较多的短文，通常有250词左右，以往是15个空，现在增加为20空，每空四个选项，需要考生综合考虑短文的内容安排、结构组织、内在逻辑及语言特色，主要测试词汇辨析、习惯用法、固定搭配、语法结构及逻辑推理和语篇理解等方面的知识和能力。完形填空出题方式主要概括为词汇、语法和语篇题（语义题）。　
1.词汇题：
对词汇的考查无论在形式还是测试点上都与词汇的选择的选择填空很相似，主要测试考生对词汇意义和用法的掌握成度及对它们之间细微差别的辨识能力，如单词的基本用法，同义词，近义词，反义词的辨析等。它与词汇选择填空不同之处在于，作为一种测试考生综合语言知识和技能的题型，完形填空更依赖于上下文， 而不是空白处所在句。上下文的信息，尤其是词语的复现，同现手段可以帮助学生选择答案。如：

例一：1995年全真题中的第38题

They quickly made use of the newer and faster means of communication to improve the (38) _____ and thus the efficiency of their operations.

A. value   B.ratio   C. rate   D. speed

本题考查名词的用法。前面讲“使用更快的联系方式”，那么其目的自然是improve the speed,而且后面有出现了复现信息efficiency，由此可推断答案为D。

例二：1994年全真题第48题

Though a collector’job is not an easy one and full of (48)____ it is certainly a job will appeal to all those who love animals.

A. expectations   B. sorrows   C. excitement   D. disappointments

本题考查名词的用法。前半句讲了“动物管理员”的工作不容易，那么后半句的语气也应该与前面保持一致，四个选项只有D.disappointemnts在语义及语气上与前半句相符。Full of disappointments与not and easy job为近义词同现。

2.语法题
完形填空对语法的测试不同于单纯的语法测试，其测试的重点是考查学生综合运用英语的能力，换句话说，是把语法放在语篇中测试。这就要求考生在熟练掌握各种从句的基础上还要初步掌握句子和段落之间的衔接手段。四级考试中完形填空的语法知识常涉及虚拟语气，各种从句，非谓语动词的用法及一致关系等。如：

例一：2000年全真题第27 题

A liquid can be kept in an open container and (27)____ it to the level of a free surface.

27. A. fill   B. be filled    C. filling    D. to fill

考查对句子结构的理解。由于所填词前面有and这一并列连词，这里缺少一个谓语与前面的can be并列。谓语动词fill的意思是“使…充满”，具有使动意义，其后直接跟宾语，故选A。

例二： 2001年全真题第29题

He should be willing to work on his own ____(29)_____his own knowledge not always prove adquate to the task in hand. 

29. A. should   B. when   C. because    D. if

考查虚拟语气的掌握。空白所在句是一个表示与将来事实相反的虚拟语气句。表示条件的从句中没有if，应该用部分倒装。故选A。

3. 语篇题
英语四级考试中的完形填空非常注重考查语篇的衔接性和连贯性，它采用完形填空的形式，把语法词汇等放在语篇中考查，要求考生能理解语篇的结构，分清句子与句子之间，段落与段落之间内在的逻辑关系，找出关键的词使整个语篇衔接，连贯起来。常出现在完形填空部分的逻辑关系表示方式有连词、副词、语气词及插入语和介词词组等。如：
例一： 2002年全真题第31题

…an Eskimo must have at the tip of his tongue a vocabulary of more than 10,000 words…(31), these Eskimo words are far more highly infected than those of any of the well-known European languages.

31. A. however   B. moreover   C. Though    D. Therefore

本篇考查语篇分析能力。前面讲到爱斯基摩人掌握的词汇多，后面又讲他们的词汇变化形式也很丰富，因此这里是递进关系，故选B。
完形填空的解题过程可以概括为“总、分、总”三步走。
　　第一步：“总” 速读全文，把握大局。考生用2～3分钟，以略读方式快速浏览全文，主要目的是要了解文章的体裁和题材，从整体上把握全文内容和结构框架，找出文章的主题、大意，作者的观点、态度、思路，文章展开的线索，句与句以及段与段之间的逻辑关系及文章的语言风格或特点。考生应当格外注意段首句和段尾句，因为文章第一句话旨在让读者对全文有一个大致的了解，而且段首句往往就是主题句；而段尾句往往是结论句,同样为主题服务。另外，还要注意各种重复出现的词语。重复出现的词语指的是同根词的重复，以同义词、近义词或反义词形式出现的重复，相似的表达方式或句式的重复等等。这些词语相互呼应，从不同角度反复说明文章的主题，影射作者的意图，与段首句段尾句一起勾勒出全文的脉络走向。文章总是按照一定的思路发展的。论说文一般按照逻辑推理关系论述，叙述文常常按照时间顺序来发展，而描写文的发展往往表现为空间关系。不同文体的文章在发展层次上常常要用不同的连接方式，过渡方式。考生通过速读全文可以把握文章思路发展的基本线索，为下一步解题确定语境线索。这一步必不可少，考生千万不要贪图节省时间而拿起文章就做题，这样往往“误入歧途”，把自己的理解强加给文章。
　　第二步：“分” 往返迂回，各个击破。考生逐句通读全文，但是先不要看四个选择项，做到通读与猜测并行。另外，千万不要拘泥于题目顺序，这一步解题过程可以针对不同情况分三轮解题，通俗地讲，就是好做的先做，不会的留到下一轮。第一轮，对含义明显的词汇，固定搭配或习惯用法，常用句式等纯语言知识问题，可以边读边随时猜测出答案，包括介词的用法、倒装句、虚拟语气等固定的句型或语法。第二轮，针对在通读过程中未能轻易猜测出答案的题目。这类题目的答案，不仅仅取决于对文章局部的理解，而是要在对语篇理解的基础上，利用上下文中字里行间的线索才能猜测出答案。

此时，考生首先看清题区的句法关系，辨别句子是简单句、并列句还是主从复合句，并根据语法判断词性，然后根据考生自己的生活常识、背景知识与文章主题猜测该词或短语的语义范围。例如，对于动词、名词、形容词、副词等实义词，应该在语篇基础上判断它们的性质：动态、静态、积极、消极、褒义、贬义等。对形容词和副词还要分辨它们是强还是弱，是修饰数量、质量、长度、面积还是形状。对于连词，更要从上下文中判断它的逻辑意义，表示并列、递进、让步还是转折等。对猜测出答案的题目，应当首先对照选择项，找出选择项中与自己猜测完全相同或十分接近的那个答案，把它填入原文，看一看还原后的句子是否符合语法规律，语义是否符合文章主题，如若不符合上述要求，就必须推翻原解，重新猜测。第三轮，集中突破前两轮未能解出的题目。在前两轮的基础上，针对最后难关，直接对照选择项，利用前两轮已填入的选项缩小填空范围，采用排除法，排除不恰当的选项，最后敲定答案。
　　第三步：“总” 检查核实。此时的文章应当是一个语法结构正确，用词语义准确，上下文逻辑关系严密，主题突出，内容充实，意思连贯，层次清晰的整体。首先，要着眼大局，从语篇整体上，看答案是否符合文章主题，作者态度，意图及文体特征，结合段首句、段尾句和含有连贯意义的词语，把文章看作一篇范文，从写作角度，审视文章的谋篇布局“启、承、转、合”。其次，从以下几方面对所选答案进行核查：1)所选择的单词或短语是否符合本句内容，使上下文连贯和谐，与全文意义相协调；2)所选择的单词或短语是否符合某种固定搭配；3)所选择的单词或短语是否符合某种句型、时态、语态的特殊要求，如虚拟语气从句中的谓语动词用原形(过去式、过去完成式)；4)所选词本身或附近的词有无特殊要求，如有些动词后面只接动名词而不能接不定式。必要时对个别答案仍需推敲，发现不妥，要重新考虑，但应慎重，无绝对把握，仍应相信第一感觉。
专四词汇完形六大题型
专四的完型和词汇语法题包含哪些题型和考点？又该如何复习？
    无论是完形填空还是词汇语法，主要的考点无外乎以下六大题型，而每一种题型的考点各具特色：
1. 近义词辨析题。
    如表示"真实的"的形容词可以有true, genuine, real, 等等，不一而足，但含义上彼此有差异，用法也不尽相同。比如true强调"符合真理的，正确的"，genuine强调"非人造的，货真价实的"，比如genuine leather纯牛皮，real则强调事件的真实性，可理解为"显示的，并非虚假的"，此时就要注意结合考题的上下文，选择符合要求的词汇。
    书籍推荐：英语专业"能力突破"系列-四级语法、完形填空
2．词根词缀辨析题：
    英语单词的构成可包含三个成分：前缀（prefix）+词根（root）+后缀（suffix）。如respectable（体面的，高尚的，值得尊敬的）这个词，re-是前缀，表示"重复做某动作"；spect是词根，意思是一个动作--"看"；而-able是后缀，它首先揭示了该单词的词性是形容词(adjective)，另外，这个形容词后缀的意思是"能够…的，值得…的"。而英语中，很多单词互相之间含有相同的词根，即含义上有一定的联系性，此时就比较难判断词义用法。如respectable的同根词有respectful（态度恭敬的）和respective（各自的）。这三个单词的低跟都是spect，拼写也有一定的雷同，但词义相去甚远。这类含有相同词根的词汇，是考生应当重点积累的，并且背单词的时候要学会掌握常见词根、前缀、后缀的含义，从而在做这类辨析题时善于运用构词法知识判断。
3. 动词词组题：
    动词词组永远是考试中的重点，尤其要注意同一个动词与不同介词组合，可结合成含义各不相同的词组。以动词give为例，give out表示"分发物品"、give off表示"散发出光芒或气味"、give up表示"放弃"；give in表示"屈服，投降，让步"。考题中常给出一个动词，而后面用什么介词与之搭配，则需要考生在选项中选词填空。因此，考生在背单词时，需要专门花时间积累动词+介词词组。　　
4. 从句引导词题：
    英语的从句包括主语从句、表语从句、状语从句、定语从句、同位语从句、宾语从句等，而根据从句部分在句子里不同的表情达意作用，又可细分为更多类型，如状语从句包含表示原因的原因状语从句、表示时间概念的时间状语从句、表示假设的条件状语从句；根据从句的性质的语义重要性、语气强弱又可进一步细分，比如定语从句可细分为限定性定于从句，此时从句含义与主句紧密相关；以及非限定性定于从句，此时从句含义与主句联系不紧密，仅起到补充说明作用。综上所述，各种从句都有各自常用的引导词。如限定性定于从句常用that引导，非限定性定语从句常用which引导，条件状语从句常用if引导，主语从句常用what引导，等等。考生应该根据上述从句分类，搞清常用引导词。
5. 逻辑连词题：
    这类题目通常在选项中出现表示不同逻辑关系的连词，如表示转折关系的but, 表示递进关系的then，表示并列关系的and, or, 表示因果关系的because, since, therefore等，要求考生理解上下文的逻辑关系，再选择符合要求的连词。应对这类题目，考生要把上述常考逻辑关系涉及到的连词反复熟悉。
6. 形近词辨析题：
    指在选项种故意安插拼写形式相近，具有混淆功能的单词，让考生辨别。如virtual与visual，前者表示"实质上的"，后者表示"视觉的"。这类题目需要考生有扎实的词汇背记基本功，才能做到对单词的拼写形式有清晰的判断力。　　
二、全真试题分析讲解

略
三、全国专业四级英语填空题常考结构
填空题常考结构
一、主句单一原则
任何一个句子中只可能有一个主句。做题时考生需要首先判断原题中已经给出的句子结构，如果已经有一个主句，那么就绝对不能够再出现另一个主句，除非中间有连接词进行联系。

例1：___, work songs often exhibit the song culture of a people in a fundamental form. 　　
(A) They occur where they are 　　 (B) Occuring where 　　 
(C) Where they occur 　　 (D) Where do they occur 
分析：空格后面是一个主句，(A)为带有从句的主句，空格后又是主句，有两个主句一定错。C为地点状语从句，正确(劳动歌曲发生的地方)。

例2: ___Indiana, is in a rich farming and dairy area, it is primarily a diversified industrial center 　　 (A) Fort Wayne 　 (B) Although Fort Wayne 　 (C) For wayne is in 　 (D) Fort Wayne, in 
分析：空格后有两个谓语动词但中间没有连接词，由此可知，最后一句话是一个主句，空格处应该有从句引导词，四个选项中只有（B）中although能引导从句，故选（B）。

二、谓语动词专一原则
任何一个句子只可能存在一个谓语动词。句子中不可能没有谓语动词，也不能多于一个谓语动词(除非中间存在连接词)。

例1：William Walker's mural, “Wall of Respect,” ___an outdoor wall in Chicago, deals with 　　　social issues. 
(A) covers   (B) covers it   (C) which covers 　(D) which it covers 
分析：空格后的deals with 是谓语动词，A, B是谓语形式, 和deals with 之间没有连接词，可先排除; D 中的it多余，因为在定语从句中which已经作了主语；C构成正确的定语从句

例2：In copper engravings and etchings, ___caused by the edges of the plate is clearly visible on the paper. 　　 
(A) the impression is 　　 (B) if the impression is 　　 (C) impressions 　　 (D) the impression 分析：题目中的is是谓语，A,B中是谓语重复。C为复数名词，与后面的谓语动词is的数不一致，故也排除。因此选择D，caused.... 修饰impression

三、平行结构技巧：如果填空题中空格的后面有and, 或者and后面有空格，那么这道题目一定是考察平行结构。填空题中平行结构出现的形式是： A and B, A , B, and C

例1：The technique of recording, classifying, and___is known as accounting. 　
（A）an enterprise’s transactions summary      

(B) the summarizing of an enterprise’s transactions

 (C) transactions of an enterprise are summarized 　
(D) summarizing the transactions of an  enterprise 
分析：空格的后面是and, 一般考平行结构，空格处缺与前面recording、classifying并列的动名词。四个选项中只有（D）符合条件，故选（D）。

例2：Louis T. Wright, a surgeon, developed ingenious orthopedic braces, ___, and supervised the first use of Aureomycin on human patients. 　　　 
(A) treating skull fractures that he pioneered in 　
(B) pioneered in treating skull fractures 　　　 
(C) which pioneered in treating skull fractures 　　　 
(D) he was a pioneer in the treatment of skull fractures 
分析：空格后面是and, 空格处缺少和developed、supervised平行的谓语动词，因此选择（B）。

四、宾语从句结构
宾语从句的引导词在前面的主从复合句中已经提到。这里指出的是填空题中关于宾语从句考的最多的两个结构：　　　　
   state(陈述，表明)+that 　　　　 
indicate(指明,表明)+that

例1：The quantum theory states ___, such as light, is given off and absorbed in tiny definite units called quanta or photons. 　　　 
(A) energy that 　　 (B) that it is energy 　　 (C) it is energy 　　 (D) that energy 
分析：空格前的谓语动词states一般接关系连词that引导的宾语从句，故首先排除C。空格后已有谓语动词，空格不应再出现谓语动词，因此D正确。

例2：Studies of the gravity field of the Earth indicate___yield when unusual weight is 　　　placed on them. 　　 
(A) although its crust and mantle 　　 (B) its crust and mantle to 　　 
(C) that its crust and mantle 　　 (D) for its crust and mantle to 
分析：空格处显然缺谓语动词indicate的宾语。（A）和（D）不能作宾语，可首先排除。（B）使句子结构混乱、语义不清，因此选择（D），构成宾语从句。

五、介词+ which结构
许多同学在选择which还是介词+which上总是不太明白，这里有一个技巧可以告诉大家。“which”后面一定加一个缺主语或者宾语的句子，因为“which”在这个句子中作了宾语或者主语成分。 “介词+ which”后面则跟一个完整的句子，因为”介词+which”整个结构在定语从句中作状语。

例1：In the United States, a primary election is a method ___voters select the nominees for public office. 　　　 
(A) that 　 (B)by which 　 (C)is that 　 (D)by those 
分析：空格前后都是句子，因此缺从句引导词或连接词，首先排除C和D。A能够引导从句，但是根据题意，修饰method是不通的。B是介词+which, 引导定语从句，(大选是一种方法，根据这个方法，选民怎么….)；正确

例2: Croquet is a popular lawn game ------ players hit wooden balls through wire arches called wickers. 　　　
(A) when 　　(B) which 　　(C) is when 　　(D) in which 
分析：空格前后都是完整的句子，空格处缺定语从句引导词，由此首先排除（A）和（C）。但是到底是选择B还是D，则看从句，从句是完整的句子，那么一定选择D, 关系代词which 前应该有介词。

六、in that结构
在表示“原因”概念的引导词中， because of +名词，consequently是副词, 而“in that”是原因状语的引导词。

例1：Mercury differs from other industrial metals ___ it is a liquid. 　　 
(A) whereas 　 (B) in that 　 (C) because of 　 (D) consequently 
分析：空格前后都是完整的句子，空格处显然缺从句引导词。C、D不能引导从句，可以首先排除。根据题意，两个句子之间是因果关系而不是对比关系，故选（B）。in that为复合连词，用来引导原因状语从句。

例2：Hovercraft, or air-cushion vehicles, are unusual ___travel over land and water on a layer of air. 　　　
(A)they 　　(B)in they 　　(C)that they 　　(D)in that they 
分析：空格处缺从句引导词和从句主语。A和B缺从句引导词，首先被排除。C一般作宾语从句或定语从句，而句中需要的是状语从句，故也排除。D中in that为连词，引导表原因的状语从句，符合题意（气垫船之所以不同，是因为……），故选D。

　　这里我们再重申一下，如果选项中出现“介词+which”或者“in that”，那么首先考虑这个选项，如果后面使用的是完整的句子结构，那么这个选项就一定是答案。这种题目平时出现的不多，但是要考的话一定就是重点。

例3：Emily Dickinson's garden was a place___great inspiration for her poems. 　　　
(A) that she drew 　　(B) by drawing her 　(C) from which she drew 　(D) drawn from which
分析：首先看选项C, “介词+which”, 而后面是she drew great inspiration for her poems.是一个完整句子，那么选项C就是答案。

七、what 结构
 what结构在95.8以后的新题中考的非常多，记住一点：what=the thing that

例1：The chief foods eaten in any country depend largely on___best in its climate and soil. 　　 (A) it grows 　 (B) what grows　　 (C) does it grow 　 (D) what does it grow 
分析：空格前有depend on这个短语，四个选项都是句子，故可判断出空格处为宾语从句。A和C没有从句引导词，故排除，（D）的语序有问题，从句不能用特殊疑问句的倒装形式，故（B）正确。

例2：During the eighteenth century, Little Turtle was chief of the Miami tribe whose territory became___is now Indiana and Ohio. 　　　
(A) there 　　　(B) where 　　　(C) that 　　　(D) what 
分析：空格处缺的词既要引导从句又要作从句主语。四个选项中只有D符合条件。

八、同位语结构同位语考试形式一：名词作主语，主语同位语　___,　__ _,　___　(注意是两个逗号)

例1：The tongue , ___, is an important aid in chewing and swallowing . 　　　
(A) is the chief organ of taste 　　　(B) tasting the organ chiefly 　　　
(C) the chief organ of taste 　　　(D) the organ chiefly tastes 
分析：空格处显然缺定语或同位语。句中已有谓语动词is, 故先排除A和D。（B）不合题意，故也可排除。（C）是名词短语，适合作主语的同位语，使句子完整，句意正确，故选（C）。

同位语考试形式二：名词作主语，后面的名词是主语同位语，解释说明后面的名词　___, ___　(注意是一个逗号)

例2：A prolific writer of prose and verse, ----of Native Americans in her novel, Century of Dishonor. 　　　
A) Helen Hunt Jackson took up the cause 　(B) the cause taken up by Helen Hunt Jackson 　　　(C) was Helen Hunt Jackson's cause 　　　(D) the cause that Helen Hunt Jackson took up. 
分析：空格前为名词短语，空格后为介词短语，空格处明显缺主语和谓语动词。根据空格前名词短语的意思判断，主语应该是人名而不是指物的名词，故选（A）。

例3：Often very annoying weeds ,___and act as hosts to many insect pests. 　　
(A) that crowd out less hardy plants than goldenrods 　　　
(B) crowding out less hardy plants by goldenrods 　　　
(C) the goldenrod's crowding out of less hardy plants 　　　
(D) goldenrods crowd out less hardy plants 
分析：空格后面是and, 句中缺少与and并列的谓语动词。A只有从句没有主句; B,C分别是分词和名词短语, 无法与动词act并列; D 包含主语的同位语goldenrods和谓语动词crowd。

同位语考试形式三：主谓宾后面出现一个名词，那么名词可以作宾语或者表语的同位语
例4：An Olympic marathon is 26 miles and 385 yards, approximately___from Marathon to Athens. 　　　(A) the distance is 　(B) that the distance is 　(C) is that the distance 　(D) the distance 
分析：逗号前为完整的句子，后面如果再接句子一定要有连接词或者从句引导词。A、B、C均为主谓结构，但都没有从句引导词，故排除。D是名词短语作表语同位语，故选（D）。 

九、比较结构
比较结构中要注意两点：1、倒装性；2、对称性
例1：Western Nebraska generally receives less snow than___eastern Nebraska. 　　　
(A) does 　　　 (B) in 　　　 (C) it does in 　　　 (D) in it does 
分析：than引导比较状语从句，空格后面是个专有名词，肯定是比较从句的主语，空格处明显缺从句的谓语动词，只有（A）符合条件，故选（A）。注意than eastern Nebraska does 是正确的语序，但是原文中使用了倒装；在比较结构的后面部分中，如果比较从句的主语长，谓语动词短，动词可放到主语前面进行到装。

例2： Hot objects emit___do cold objects. 　　　 
(A) rays more than infrared 　　　 (B) rays are more infrared than 　　　 
(C) more than infrared rays 　　　 (D) more infrared rays than 
分析：emit为及物动词，空格处缺宾语和引导比较从句的than, 只有（D）符合条件。注意空格后为倒装形式，do代替emit以避免重复。此题为常考的句子结构。

比较结构中还需要注意相互比较的必须属于同一种事物例

例3：The activities of the international marketing researcher are frequently much broader than___. 　　　
(A) the domestic marketer has 　　　(B) the domestic marketer does 　　　
(C) those of the domestic marketer 　　　(D) that which has the domestic marketer 
分析：本题还是考查比较句，由于谓语动词是系动词are, 故先排除与其不对应的以has和does结尾的（A）和（B）。选项D则语义不清，也可排除。C中those代替前面提到的activities以避免重复，those一定要具备，因为只有这样才能满足比较的都是activities，谓语动词are因与主句谓语动词相同而被省略，因此C为正确答案。

例4：The annual worth of Utah's manufacturing is greater than --. 　　　
(A) that of its mining and farming combined 　　　(B) mining and farming combination 　　　
(C) that mining and farming combined 　　　(D) of its combination mining and farming 
分析：本题为比较句，一般来说，比较的双方应属于同一类事物。句中主语显然是比较的一方，而空格处应是与之相对应的另一方。（B）、（C）、（D）均无法与the annual worth相对应，故可以排除。（A）中代词that代替 the annual worth, 是英语中常见的避免重复的用法，故选（A）。

十、定语从句省略结构
关系代词在定语从句中做宾语时可以省略

例1：Most crocodiles will eat anything----capture and overpower. 　　 
(A) can　　(B) they can 　(C) which can 　(D) and 
分析：空格前是个完整句子，空格后是两个并列的及物动词，后面却没有宾语，由此可推断出空格处缺能作从句宾语的从句引导词和从句主语。（A）、（D）没有从句引导词，可首先排除。（C）有从句引导词，也可作从句的宾语，却没有从句主语。正确答案（B）看似没有从句引导词，实际上是省略了引导词that,故选（B）。that they can capture, that引导定语从句在句子中做capture的宾语。

例2：A majority of people in the United States can get all the calcium their bodies----from the 　　 food they eat. 　　　 
(A) require 　　　 (B) requires 　　　 (C) requiring 　　　 (D)to require 
分析：此题显然缺从句谓语动词，故首先排除（C）和（D）。（B）为第三人称单数形式，与主语bodies相矛盾，故也可排除,因此选择A。their bodies require from the food they eat是定语从句修饰calcium, 省略了that; 实际上they eat也是定语从句省略了that修饰the food“介词+名词”在定语从句中做表语时，关系代词和be动词可以同时省略，剩下的形容词短语做名词的后置定语。
例3：改错To produce one pound of honey , a colony of bees must fly a distance equals to twice around the world. 
分析：句子中实际上是省略了that is, a distance that is equal to, 因此equals to 应该改为equal to

例4： A neutron star forms when a star much more massive than the Sun dies and exploded. 　　　　　　　　　　　　　　 
分析：句中省略了which is， a star which is much more
十一、状语从句省略结构 
例如：Metals expand when they are heated. 
Metals expand 是主句；when they are heated 是状语从句。但是这个状语从句中可以省略掉they are, 句子变成：
Metals expand when heated. 
但是并不是所有的状语从句都可以这么省略。这种省略从句主语的方式理论上需要满足以下两个条件：

第一、从句主语和主句主语必须保持一致；　　　　
第二、从句的谓语必须是be动词，主语和be动词同进同出，比如上面的they和are要么同时省略，要么同时保留。

例1：Although___rigid, bones exhibit a degree of elasticity that enables the skeleton to withstand considerable impact. 　　　
(A) apparently 　　　(B) are apparently 　　　(C) apparently their 　　　(D) are they apparently 分析：连词although通常引导主谓完整的状语从句，当从句主语与主句主语相同、从句谓语又为系表结构时，则可省略主语和连系动词，故正确答案为（A）。Although apparently rigid = Although bones are apparently rigid, 注意bones和are必须同时省略。

　　因此，我们从上面的例题中来分析一下填空题中状语从句省略以后的形式：though, although, even thought, while, If, when等为引导状语从句的词；这些词后面一定+形容词(分词)，主句（注意逗号的后面是主句，前面是从句）

例2：All marble is composed of crystals of the minerals calcite or dolomite, ___, are perfectly white. 　　　
(A) when, pure which 　(B) when, which pure 　(C) which, pure when 　(D) which, when pure
分析：空格前是个完整的句子，空格后是系表结构，空格处显然缺非限定性定语从句的引导词兼作从句主语。（A）、（B）不引导非限定性定语从句，可首先排除。（C）中的pure和when位置错了，故选（D）。注意when pure是插入语，同时也是省略用法when they are pure；which are perfectly white, 状语从句省略结构，

例3：___relatively costly, the diesel engine is highly efficient and needs servicing infrequently 　　　(A) Even 　　　(B) It is 　　　(C) Even though 　　 (D) There is 
分析：B和D填入后，都是构成两个主句，不对；Even though则引导状语从句，even though it is, 这里it is 已经省略。

十二、动词ing+名词的复数作主语结构
这是一个比较难的结构，因为许多同学经常混淆动名词和现在分词。现在分词相当于形容词，和后面的名词是修饰与被修饰的关系；动名词是相当于具有动词特征的名词，和后面的名词是动宾关系。

那么如何在句子中判断动名词和现在分词呢？我们来看两个例子：
Doing exercises is a good habit. 做练习是一个好习惯。
The starring troops have to surrender. 　　
第一个句子强调的是做，而不是练习，不能说练习是一个好习惯，只能说做练习是一个好习惯，因此do是中心词，它和后面的名词是动宾关系，那么这个do就是动名词；　 
第二个句子说挨饿的军队必须投降，是军队投降，而不是挨饿要投降，因此中心词是troop，starring是来修饰troop的，因此starring是现在分词。

在“动词ing+名词的复数”作主语结构的句子中，谓语动词是系动词is

例1：___by transferring the blame to others is often called scapegoating. 　　　
(A) Eliminate problems 　　　(B) The eliminated problems（被消除的问题）　　　
(C) Eliminating problems 　　　(D) Problems are eliminated 
分析：空格处缺主语。（A）不能作主语，（B）的名词为复数，与后面谓语动词相矛盾，（D）使句子出现两个谓语，故排除。（C）构成动名词短语，可作句中主语，故选（C）。这个题目的意思是通过把责任转嫁给别人，这种消除问题的方式，通常叫做替罪羊。

例2：___wooden buildings helps to protect them from damage due to weather. 　　　
 (A) Painting 　　　 (B) Painted 　　　 (C) The paint 　　　 (D) By painting 
分析：从谓语动词helps可判断出主语不可能为buildings, 因为主谓语在数上不一致，故空格处缺构成单数的词。四个选项中只有动名词painting符合这一条件，故选（A）。（B）构成复数名词短语，（C）无法与后面的名词连接，（D）构成介词短语，不能作主语，三个选项都可排除。 painted wooden buildings 被油漆的房子，中心词是buildings, 后面help不能用单数 painting wooden buildings油漆房子这件事情，中心词是painting

例3：Scientists think ___helps some tree to conserve water in the winter. 　　　
(A) when losing leaves 　(B) leaves are lost 　(C) that losing leaves   (D) the leaves losing 
分析：这道题目大家都能够选择C, 但是我们必须彻底理解C为什么正确，think that后面是宾语从句。losing是及物动词，丢弃叶子帮助树来保持水分，要注意不是树叶来帮助保持水分，而是丢弃树叶这个动作来保持水分。丢弃叶子是树主动丢弃，因此losing是动名词。
十三、make结构    

make结构即为：make +sth.(宾语) +possible+（宾语补足语）共有三种形式：make it possible+to do 　make it possible+that引导的从句　make possible sth (这个sth一定很长，它后面有一个后置定语)
做题技巧：如果possible后面有to do 或者that引导的定语从句, 中间一定有it 如果possible后面有名词，中间一定没有it

例1：X-rays are able to pass through objects and thus make___details that are otherwise impossible to observe .       

(A) it visible 　　　(B) visibly 　　　(C) visible 　　　(D) they are visible
分析：此题考动词make的一种用法，visible后面有名词，因此中间不能有it，选择C；可以看到空格后that引导的是定语从句，visible是宾语补足语，宾语补足语的存在是因为宾语太长了，details是宾语。

例2：Using many symbols makes___to put a large amount of information on a single map. 　　　(A) possible 　　　(B) it possible 　　　(C) it is possible 　　　(D) that possible
分析：从四个选项可以判断出本题考make的一种惯用法。首先排除明显的错误选项：C为句子，却没有与主句相连的连词，D中that后面应有主语并构成结构完整的从句。 由于后面是动词不定式，因此possible前面一定有it, it作形式宾语，故B正确。

十四、the more …the more…结构   

这个结构的意思是“越….越…”，结构一共有三条规则：　   

1. the more后面的名词必须使用冠词或者所有格, 新题专门考这条规则　 

2. the more 后面的谓语如果是be动词的话，可以省略，例如上面的例题　  

3. 第二个the more 后面可以使用倒装，而第一个后面却不行 the more, the more其实是原因状语从句，前面是原因，后面是结果，倒装句中必须是主句倒装，从句绝对不能够倒装。

例1：The stronger__magnet, the greater the number of lines of magnetic force. 　　
(A) of 　　　(B) the 　　　(C) is the 　　　(D) is of the
分析：本题显然考查”the more … the more…”结构，the more后面的名词必须使用冠词或者所有格，因此只能选择B

例2：The less the surface of the ground yields to the weight of the body of a runner, ___to the body.　 　　
(A) the stress it is greater 　(B) greater is the stress  (C) greater stress is 　(D) the greater the stress 分析：正确答案为D。此题考the more … the more句型，只有D符合这一句型的要求，故选D。

十五、表示结果的伴随状语结构  

主谓宾完整的句子后面，如果出现两个词，thereby或者thus, 那么这两个词后面必须使用现在分词，表示“从而怎么样”的意思，这便是表示结果的伴随状语结构。但是必须注意并不是thus后面就是加doing，必须是前面一个完整的句子才对。

例1：A microphone enables a soft tone to beamplified , thus making it possible the gentle renditions of romantic love songs in a large hall. 　　　　　 

分析：Possible后面有名词，那么it应该去掉，thus后面表示结果的伴随状语从句，表示从而使得歌曲演唱成为可能。

例2：The Smithsonian Institution preserves more than sixty-five million items of scientific, historical, or artistic interest, ___winning the popular title, “attic of the nation.” 　　
 (A) however 　　　 (B) thus 　　　 (C) and 　　　 (D) moreover
分析：逗号前面是个完整的句子，逗号后面是现在分词短语作状语表示结果。四个选项中只有thus一词可直接放在现在分词前面，故选B。thus 副词，修饰分词winning, 伴随状语

例3： Snow aids farmers by keeping heat in the lower ground levels, thereby___from freezing. 　　　 (A) to save the seeds 　(B) saving the seeds 　(C)which saves the seeds 　 (D) the seeds saved
分析：thereby和to有意思重复，所以不能够选择(A), 后面应该跟现在分词，答案为B
十六、形容词最高级省略结构  

The crane is the tallest bird of the wading birds. 最高级后面的名词与范围名词重复，可以省略，句子变为The crane is the tallest of the wading birds.

例1：The crane is___of the wading birds. 　　
(A) the tallest 　　 (B) the tallest that is 　　(C) which is the tallest 　 (D) which the tallest is
分析：空格前是主语和谓语，空格后是of引导的介词短语，空格处明显缺作表语的名词或名词短语。四个选项中只有（A）使句子结构完整，语义清楚，故选（A）。

例2：. Cows are said to be the least intelligently of domestic animals. 

分析：改为形容词，intelligent，intelligently为副词，不能作表语。

十七、规则动词过去分词 

作定语结构这里的规则动词指的是过去式和过去分词一样，导致考生看不出句子结构，比如：　 program, programmed, programmed 因此判断这个词是过去式还是过去分词就显得比较重要：　　 

第一步：从逻辑上判断这个动作是主动还是被动　　 

第二步：如果是被动的话，做谓语前面一定有系动词be

例1：___Wupatki National Monument in Arizona features structures built of red sandstone by ancestors of the Hopi people. 　　
(A) That the 　　　(B) In the 　　　(C) Around the 　　　(D) The
分析：空格后是结构完整的句子，空格处显然缺定冠词the 修饰主语，故选D。A中that引导主语从句，使整个句子变成从句而无主句，B、C构成介词短语，使句子缺主语，故排除。句子中的built是过去分词。

例2：Antibodies ___by small, round cells called lymphocytes and plasma cells. 　　
(A) to be made 　　　(B) making 　　　(C) made 　　　(D) are made
分析：空格前为名词作主语，空格后是介词by引导的动作执行者，called是过去分词作定语，所以句子缺谓语，故选D。A、B、C均为非谓语动词，故排除。

例3：Automatons programmed to perform a given task ___the flexibility and adaptability of human beings. 　　
(A) without 　　　(B) lack 　　　(C) minus 　　　(D) not having
分析：programmed在句中是过去分词作名词后置修饰语，空格处缺谓语动词。四个选择答案中只有（B）是可作谓语的动词，故选（B）。 B， programmed是一个定语，而不是谓语，机器人被编制程序，所以是过去分词，而不是谓语动词

十八、逻辑主语结构 

在一个完整的句子前面出现现在分词、过去分词、或者介词短语，那么这个句子的主语是前面这三种结构逻辑上的主语。

例1：Having been served lunch, ___. 　　
(A) the problem was discussed by the members of the committee 　　
(B) the committee members discussed the problem 　
(C) it was discussed by the committee members the problem 　　
(D) a discussion of the problem was make by the members of the committee
分析：Having been served lunch指被招待了午饭，那么只可能是委员会的成员被招待，而不可能是问题，所以选择B

例2：___was not incorporated as a city until almost two centuries later, in 1834. 　　
(A) Settling Brooklyn, the Dutch 　　　(B) The Dutch settled Brooklyn 　　
(C) Brooklyn was settled by the Dutch 　　　(D) Settled by the Dutch, Brooklyn
分析：空格后面是谓语和状语，空格处缺主语。Brooklyn表示人或者Dutch表示地方做主语，但是从as a city可知，主语不是人名，而是地名，由此首先排除A。B、C均是句子，不合要求。D符合句法和题意。

例3：At thirteen___at a district school near her home, and when she was fifteen , she saw her first article in print. 　　
(A) the first teaching position that Mary Jane Hawes had 　　
(B) the teaching position was Mary Jane Hawe''s first 　　
(C) when Mary Jane Hawes had her first teaching position 　　
(D) Mary Jane Hawes had her first teaching position
分析：从并列连词and 可知，第一个逗号前是一个完整的句子，空格处缺主谓结构，而且主语是一个人名。四个选项中只有D以人名作主语，故选D。

例4： Even at low levels, ___. 　　
(A) the nervous system has produced detrimental effects by lead 　　
(B) lead''s detrimental effects are producing the nervous system 　　
(C) lead produces detrimental effects on the nervous system 　　
(D) the detrimental effects produced by lead on the nervous system
分析：空格前为介词短语状语，空格处缺一个完整的句子。A、B结构上似乎完整，但意思不清，D不是完整的句子，故选C。

例5：改错The chorus plays a large part in any oratorio, linking areas were sung by soloists with segments of choral music. 　 

分析：应该把D中的were去掉

十九、复合宾语结构 

有些及物动词+宾语后意思表达不完整，需要再加形容词或者名词来补充说明宾语被叫做不完全及物动词，该形容词或者名词叫做宾语补足语。宾语加补足语叫做复合宾语。当宾语和宾补由主动语态变为被动语态，分别变为主语和主补。  

We played soccer. We called him Bob. Bob在这里作宾语补足语 He was called Bob. Bob在这里作主语补足语

下面列出了一些经常要求使用宾补的动词 make, consider, call, elect, appoint,  例： 

We appoint him monitor. 　　 

We elected him president.

例1：Poodles were once used as retrievers in duck hunting , but the American Kennel Club does not consider them___because they are now primarily kept as pets. 　　
(A) where sporting dogs　(B) sporting dogs  (C) when sporting dogs  (D) they are sportingdogs  

分析：选择B, them是宾语，sporting dogs宾补
二十、It结构

一、强调句型　It is + 强调部分+that +其余部分

　　这个句型需要注意几点：强调部分+其余部分是一个完整的句子；强调部分可以强调主语、宾语和状语，不能强调谓语和定语；强调人使用who或者that, 其他的只能用that (即使是时间和地点)，who 和that绝对不能省略如果原句是过去时态，强调句型使用it was.，例如：原句：Ann bought these books last year. 　 

强调宾语：It was these books that Ann bought last year.  

强调状语：It was last year that Ann bought these books.

二、形式主语 It is + 名词/形容词+ to do/that 引导的句子 to do/that 引导的句子是真正的主语，it 是形式主语，这是为了避免头重脚轻。

例1：It is the interaction between people , rather than 　　A　　　B 　　 the events that occur in their lives , that are 　　C 　　 the main focus of social psychology. 　D
分析：Rather than …是插入语，主句是强调句型, it is …that, 主语是interaction, 所以是is

例2： ___an increasing international exchange of 　　　educational films. 　　
(A) It is　　　　(B) There is　　　　(C) Though there is 　　　(D) Although it is
分析：缺少主谓，选择B, it 用在句子的句首，只可能作强调句型或者形式主语。空格后是一个名词短语，只有B与之构成完整的句子。A语义不完整，C、D则使整个句子成了让步从句而缺主句，故都可排除。

二十一、which 引导的定语从句结构 

which是关系代词，which后面应该加缺主语或者宾语的句子，在这个句子中，which要作成分，作主语或者宾语　in which+完整的句子 which在定语从句中作in的宾语，所以不能作后面句子的主语　名词+of which+谓语动词 of which来修饰名词，名词在定语从句中作主语，所以后面直接跟谓语动词

例1：In blank verse___of ten syllables, five of which are accented. 　　
(A) line consists of each 　　 (B) consists of each line 　　
(C) each line consists 　　 (D) it consists of each line
分析：空格前后均为介词词组，逗号后为非限定性定语从句，空格处缺主句主谓成分。A单数名词line前没有限定词，而且语义不清，B没有主语，D中it 指代不明，所以选C。　　 five of which are accented表示其中五个要被重读，of which修饰five, 十个中的五个

例2：The spiral threads of spider''s web have a sticky substance on them___insects. 　　
(A) traps　　　(B) trap its　　　　(C) which traps 　　　(D) which it traps
分析：空格前为完整的主谓结构，后面是一个名词，A和B显然不能与前面的谓语动词并列，故可以首先排除。D中的代词it明显是多余的，故也不对。C为正确选项，其中关系代词which指代前面的名词短语a sticky substance。网上有粘状的物质来诱捕昆虫。

例3：Traditionally, ethnographers and linguists have paid little attention to cultural interpretations given to silence, or to the types of social contexts in which tends to occur. 　 

分析：D错，in which后面跟完整句子。In which it, it 指代silence, or to 和第二行的to并列

例4：After the First World War, the author Anais Nin became interested in the art movement known as Surrealism and in psychoanalysis,both ___her novels and short stories.
(A) in which the influence 　　　(B) of which influenced 　　
(C) to have influence 　　　(D) its influence in
分析：第二个逗号前为结构完整的句子，A中有从句引导词which, 却没有谓语动词，构成不了完整的句子。C中最后一个词为名词，无法与后面的名词短语连接，D构成名词短语，不合题意，而且名词influence一般接介词on, 故三个选项都可排除。B构成一个非限定性定语从句，故选B。

源:考试大-专四专八考试

四、英语专业四级语法、词汇知识讲义

虚拟语气
一、虚拟语气的规则用法：三种基本形式
1主、从句都表示与过去事实相反：
  从句的谓语动词用：had + 动词过去分词；
  主句的谓语动词用：情态动词 + have + 动词过去分词。
注意：能用于虚拟语气的情态动词只有四个：should, could, would, might.
使用哪一个情态动词要由句子含义决定，考试中出现最多的是could, would.
2 主、从句都表示与现在事实相反：
  从句的谓语动词用：动词过去式（如果是be则只能用were）
  主句的谓语动词用：情态动词 + 动词原形。
3 主、从句都表示与将来事实相反：
  从句的谓语动词用：were to + 动词原形（重点）、should + 动词原形、动词过去式；
  主句的谓语动词用：情态动词 + 动词原形。
	
	从句
	主句

	与过去事实相反
	Had +过去分词
	Should (第一人称)/ would(其它人称) +have +过去分词

	与现在事实相反
	一般过去时（be用were）
	Would/should/could/might+ 动词原形

	与将来事实相反
	过去时或were to /should + 动词原形
	Would/should/could/might+ 动词原形



二、虚拟语气的特殊应用：
1 would rather + that，这时句子谓语动词用一般过去时来体现虚拟语气。
I would rather you told her the truth.
I’d rather you came tomorrow.
2 if only 如果，要是...就好了，if only + that，这时句子一定要用虚拟语气。
有两种形式可以体现虚拟语气：
a. 如果该句子表示与现在或将来事实相反，谓语动词用一般过去时或would do。
b. 如果该句子表示与过去事实相反，谓语动词用过去完成时。
  Look at the terrible situation I am in! If only I _B_ your advice.
   A follow   B had followed   C would follow   D have followed
  If only the committee _D_ the regulations and put them into effect as soon as possible
   A approve   B will approve   C can approve   D would approve
注意：当if only后的句子表示与现在或将来事实相反，该用动词过去式来表示虚拟语气，而选项中又没有时，可以采用这种形式：would + 动词原形。
Note: only if表示"只有"；if only则表示"如果……就好了"。If only也可用于陈述语气。 
　　I wake up only if the alarm clock rings. 只有闹钟响了，我才会醒。 
　　If only the alarm clock had rung.　　　当时闹钟响了，就好了。 
　　If only he comes early.　　　　　　　但愿他早点回来。
3 当以下动词后加句子时，句子应用虚拟语气，句子谓语动词的形式是：（should）+ 动词原形。
a. 表示建议、提议的：suggest, advise, propose, recommend, move.
[move只有在表达在会议上提出提议时后面加虚拟语气]
b. 表示要求的：ask, demand, require, request, desire.
c. 表示指挥、命令的：order, command, direct.
d. 表示坚持，坚持认为的：insist.
I insist that we_______ (go) there by bus.

He susggested that we _________ (leave) early.

The judge ordered that the prisoner________ (be) sentenced to 30 days in jail.
4 it is + 第三点中动词的过去分词 + that引导的从句。
这样的结构中从句谓语动词形式为：（should）+ 动词原形。
以下几个形容词置于该结构中时也要用相同的形式来体现虚拟语气：important, necessary, essential, obligatory（有义务的，强制性的，必须的）,anxious, crucial, improper, impossible, natural, urgent, vital, willing。
It is politely requested by the hotel management that radios _C_ after 11 o'clock at night. [虚拟语气]
    A were not played   B not to play   C not be played   D did not play
It is important that we________ (speak) politely.

It is imperative that we _________(practice) criticism and self-criticism.
5 第三点中动词相应的名词形式 + that引导从句，该从句同样要用虚拟语气，
谓语动词形式为：（should）+ 动词原形。
经常用于这种结构的词有：suggestion, advice, proposal, recommendation, motion.
My suggestion is that we should tell him.

Our only request is that this should be settled as soon as possible.
6 以下一些表达方式所在的句子一定要用虚拟语气。
or (表示否则), otherwise, unless, but for(若不是，若非), lest
当遇到含有以上四个表达方式的句子时，先要判断该句是表示与现在、过去、还是将来事实相反，然后依照相应的虚拟语气规则用法的形式来确定句子结构。
含有下面三个表达方式的句子体现虚拟语气的形式是固定的：
lest(以免，防备), for fear that(惟恐), on condition that(在..条件下)
它们后面句子的谓语动词的形式都是：（should）+ 动词原形。
The storm delayed us. But for the storm we would have been in time.

I used my caculator; otherwise I’d have taken much longer.

Supposing I accepted this offer, what would you say?

Without your timely help, my daughter would have drowned.
7 it is (high) time 是...的时候了。
这个结构有以下两种变形形式，所用虚拟语气形式都一样：it is high time / it is about time.
这三个结构后面加的句子谓语动词都用一般过去时或用should加动词原形来体现虚拟语气,但should不可省略。 
　 It is time that the children went to bed. 
　 It is high time that the children should go to bed.
8 注意以下两种情况下should + 动词原形中should不能省略。
这里should表示一种语气，经常被翻译成“竟然”。
a. 四个动词：think, believe, expect, suspect.它们的否定或者疑问形式后面加句子，句子谓语动词用：should + 动词原形，should不能省略。
I don't believe that he should be cheated. 我不相信他也会被骗。
it is a pity, it is a shame 真遗憾，it is strange 真怪
以上三个结构后面加的句子谓语动词用：should + 动词原形，should不能省略。
9. I wish + that 
1） 用于wish后面的从句，表示与事实相反的情况，或表示将来不太可能实现的愿望。其宾语从句的动词形式为：
	
	真实状况
	wish后　

	从句动作先于主句动词动作　
	现在时　
	过去时（be的过去式为 were）


	从句动作与主句动作同时发生
	过去时
	过去完成时（had + 过去分词）


	将来不大可能实现的愿望　　
	将来时
	would/could + 动词原形　



　I wish I were as tall as you.　我希望和你一样高。 
　He wished he hadn’t said that. 他希望他没讲那样的话。 
　I wish it would rain tomorrow. 我希望明天下雨就好了。 
2）Wish to do表达法。 
　 Wish sb / sth to do 
　 I wish to see the manager. = I want to see the manager. 
　 I wish the manager to be informed at once. (= I want the manager to be informed at once.)

错综时态的虚拟语气
错综时态的虚拟语气即指主句和从句在表达是与什么时态的事实相反上并不一致（比如主句要表达与现在事实相反而从句要表达与过去事实相反），这种情况要采用“对号入座”的方法来处理，即主从句结构分别采用与其表达时态对应的结构。Eg.
If you had asked him yesterday, you would know what to do now. 
　 （从句与过去事实相反，主句与现在事实相反。） 
　　If it had rained last night (过去), it would be very cold today (现在).
60. If I hadn’t stood under the ladder to catch you when you fell, you _A_ now.
A wouldn't be smiling   B couldn't have smiled   C won't smile   D didn't smile
2. If you had studied the problem carefully yesterday, _C_.
A you won’t find any difficulty now   B you would not have found any difficulty now
C you would not find any difficulty now   D you have not found any difficulty now
3. He would be studying at the university now if he _C_ the entrance examination.
A passed   B have passed   C had passed   D should have passed
16. It is a shame that he _B_ that poor little girl!
A deceived   B should deceive   C deceive   D deceiving
18. Mrs. bliss kept the door and the windows shut lest the noise outside _D_ her son's sleep. [lest(以免，防备) 后面句子的谓语动词的形式都是：（should）+ 动词原形]
A would interfere with   B had interfered with
C interfered with   D should interfere with
-------------------------1996-01-------------------------
虚拟条件句的倒装
虚拟条件句的从句部分如果含有were, should, 或had, 可将if省略，再把were, should或had 移到从句句首，实行倒装。 
　 Were they here now, they could help us. =If they were here now, they could help us. 
　 Had you come earlier, you would have met him =If you had come earlier, you would have met    him.　 
　 Should it rain, the crops would be saved. =Were it to rain, the crops would be saved. 
注意：在虚拟语气的从句中，动词’be’的过去时态一律用"were"，不用was， 即在从句中be用were代替。 
　 If I were you, I would go to look for him. 如果我是你，就会去找他。 
　 If he were here, everything would be all right. 如果他在这儿，一切都会好的。 
典型例题 
　_____ to do the work, I should do it some other day. 
       A. If were I　　 B. I were　C. Were I　D. Was I 
　 答案C. 在虚拟条件状语中如果有were, should, had这三个词，通常将if省略，主语提前, 变成 were, should, had +主语的形式。但要注意，在虚拟条件状语从句中，省略连词的倒装形式的句首不能用动词的缩略形式。如我们可说 Were I not to do., 而不能说 Weren’t I to do.
比较级
1． Test Yourself
    在我们分析比较级的测试特点探讨其应对策略之前,让我们首先看以下几题。
     1) Radio, television and press ____ of conveying news and information.(1995.6)
        A. are the most three common means    B. are the most common three means
        C. are the three most common means    D. are three the most common means
     2) If tap water were as dangerous as some people think, ________ would be getting sick.(1998.1)
         A. a lot of more us   B. more a lot of us    C. a lot of us more   D. a lot more of us
      3) The trumpet player was certainly loud. But I wasn't bothered by his loudness ___ by his lack of talent.(1999.1)
        A. than  B. more than  C. as  D. so much as
     4) Americans eat ____ as they actually need every day.(1998.6)
        A. twice as much protein    B. twice protein as much twice
        C. twice protein as much    D. protein as twice much
 5) There are few electronic applications ____ to raise fears regarding future employment opportunities than robots.
        A. likely  B. more likely  C. most likely  D. much likely
 6) The little man was ____ more than one meter fifty tall.(1995.1)
        A. nearly    B. quite    C. hardly    D. almost
 7) Certain programs work better for some ___ for others.(1995.1)
        A. and    B. than   C. as    D. but
 8) It is not unusual for workers in that region ____.(1995.1)
        A. to be paid more than a month late   B. to be paid later than more a month
        C. to pay later than a month more      D. to pay late more than a month
  9) It is reported that ________adopted children went to know who their natural parents are.(1997.1)
        A. the most  B. most of  C. most   D. the most of
 10) The little man was _______one meter fifty high.(1997.1)
       A. almost more than   B. hardly more than  C. nearly more than   D. as much as
  参考答案：
        1) C  2) C  3) D  4) A  5) B  6) C  7) B  8) A  9) C  10) B
 2． 比较级测试特点
        在四级测试中，比较级属低档题，比较简单，考查范围大体有
        1）比较级形式的判断
        比较级考题在设计干扰项时一般都会有比较与非比较的选择，more than 与as/so …as的选择。如上面的③，⑤。
        2）比较级的修饰语
        比较级的修饰语包括修饰语的结构和修饰语的选用。
        结构指比较级修饰语须置于比较级之前，如①，②和④。 

 修饰语的选用根据其所表达的意思而定，如⑥，⑩。
        3）比较级结构与其它结构的区别
        如⑧中形容词修饰语more than a month与比较级结构的区别，⑨中most 与the most的区别。
3． 比较级应对策略
1）如果选项中有比较级结构，该题则为比较级考查题，可根据比较级使用规则选择正确答案
2）比较级修饰语应注意more than 或as…as结构之前.

3）注意比较结构的完整性，要么是more than 结构，要么是as/so …as 结构，或是the more …., the more ….的句型。
4）注意结构的各种变体：结构内出现名词时的结构可以是as old a car, as many /much/few/little …as。
5）如果有比较 对象的选择应注意比较对象的一致性和互不包容性。如：
 His English is better than anyone else's in his class.
比较级的基本内容
英语中形容词与副词有三个比较等级,即原级,比较级和最高级。
    一般来说, 表示等于时用原级。
    Eg. I’m just as busy today as I was yesterday.
    表示二者的比较时用比较级
    eg. I’m much busier today than I was yesterday.
    表示“最”时用最高级
    Eg. That was the busiest day of my life. 
形容词比较等级的构成 
    构成                  原级            比较级          最高级
    单音节词尾加er, est     great            greater          greatest
    单音节词尾e, 加r, st    fine             finer            finest
    闭音节单音节词尾只
    有一个辅音字母,双写    big             bigger           biggest
    辅音字母加er,est                       
    少数以y,er,ow, ble结尾
    双音节词尾加er,est     happy           happier           happiest
    (y前为辅音字母去y加 clever           cleverer           cleverest   
    er,est)
    其它双音节词和多
    音节词,前加more,    difficult         more difficult       most difficult
   不规则变化    most    
副词比较等级的构成 
    副词比较等级的构成大致与形容词比较等级的构成相同,但以后缀ly结尾的副词用more和most。
    hard       hardest          hardest
    early       earlier          earliest
    quickly     more quickly     most quickly
    不规则变化
形容词与副词比较等级的基本用法
    A. 基本形式“as +原级+as” 结构
    eg. He’s as tall as I.
    B.否定的同级比较常用 not as… as或 not so … as 
    eg. He does not smoke so heavily as his brother. 
    C.变体
    1)  as + much/many + 名词+ as
    2)  as +形原级 + a + 名词 +as
    3)  as + 形+ 不可数名词+ as
    4)  名词复数+as +形 + as
    5)  the same as/ be similar to
比较级 
   A.基本结构“比较级+than” 结构eg.
    He is taller than I .
    She sees me more often than she sees her brother.
   B.变体
    1)形比较级 + 名 + than
    2)名 + 形比较级 + than
    3)the + 形比较级 + of + the two
    4)superior/ inferior to 
最高级 
   A. 常用“the +最高级+比较范围”
    eg. This is the best picture in the hall.
    He sings the best in the class.
   B. 变体
    1)   more… than any other 
    2)   Not … + 比较等级
关于比较结构用法的补充说明
   1)more…than…是…而不是,与其说是…不如说是eg. 
      She is more keen than wise. 
      He is more a writer than an artist.
   2) not so much …as与其说是…不如说是
    eg. It wasn’t so much that I disliked her as that I just wasn’t interested.
   3)not more/er than与 no more/er than  eg. 
      He is no richer than I= as poor as
      He is not richer than I.
   4)more and more  eg. 

He is becoming fatter and fatter.
   5). The more… the more…
      eg. The harder she worked, the more progress she made.
   6)more than 多于
      eg. More than 1000 people attended the meeting.
   7)more than 不止, 超过 
    eg. She is more than pretty.
   8) more than 简直不
     eg. My trip to Beijing is more than sightseeing.
几个值得注意的比较级句式
一、the+比较级, the+比较级
此句型表示后者随着前者的变化而变化，意为“越……就越……”，前者相当于一个条件句，因此，要用一般现在时代替一般将来时。如：
The better I knew him, the more I liked him. 我越了解他就越喜欢他。
The more difficult the questions are, the less likely I’ll be able to answer them. 题目越难我越答不出。
二、the+比较级+of the two

表示“两者中较…的那个人或物”时，在比较级前加定冠词the。如：
He is the taller of the two. 他是两人中较高的那个。
She was the more promising worker of the two. 她是两人之中更有培养前途的工人。
三、比较级+and+比较级
此句型表示“越来越…”，单音节形容词或副词用“-er+and +-er”，如：
Things are getting better and better every day. 情况一天天好起来。
It’s becoming more and more difficult to find a job. 找工作越来越困难了。
Holiday nights are getting less and less expensive. 假日机票越来越便宜了。
四、not +比较级+ than / no +比较级+ than

比较级前加not，表示前者不如后者，与not as…as相当；比较级前加no是对两者的否定，意为“和……一样不……”，与neither…nor…或“as+相反意义的形容词或副词+as”相当。如：
He is not taller than me. 他不如我高。
He is no taller than me. 他同我一样不高。(即一样矮)

His English is not better than mine. 他的英语不如我的英语好。
His English is no better than mine. 他的英语同我的英语一样不好。(即一样差)

You are not more careful than he is. 你不如他仔细。
You are no more careful than he is. 你和他一样不仔细。(即一样粗心)

五、no more than与not more than
两者均可表示数量，前者表示“仅仅”、“只不过”，强调少；而后者表示“不多于”、“至多”。如：

This test takes no more than thirty minutes. 这个测验只需30分钟。
For thirty years, he had done no more than he had needed to. 30年来，他只干了他需要干的工作。

He has not more than three children. 他最多 3 个孩子(有或许还不到 3 个之意)。

六、no more…than与not more…than
两者均可用于比较，前者表示对两者都否定，意为“同……一样不”(=neither ... nor)；而后者则指两者虽都具有某种特征，但程度不同，意为“不如”、“不及”(= not so ... as)。如：

He is no more a writer than a painter. 他不是画家，也不是作家。(= He is neither a painter nor a writer.)
He’s no more able to read Spanish than I am. 他和我都读不懂西班牙语。(=Neither he nor I am not read Spanish.)
She is not more clever than he is. 她不如他聪明。(= She is not so clever as he is.)
This book is not more difficult than that one. 这本书不比那本书更难。(This book is not so difficult as that one.)
七、no less than 与not less than
表示均可表示数量，前者意为“多达”、“有…之多”，强调多；后者表示“不下于”、“至少”。如：

He paid no less than $10,000 for it. 他为此付了10000多美元。

He paid not less than $10,000 for it. 他为此付的钱不下10000美元。

He walks no less than five miles to school. 他上学至少要走五英里。

He has no less than seven daughters. 他有七个女儿之多。

He has not less than seven daughters. 他至少有七个女儿。

有时两者都可译为“至少”，但no less than语气比not less than要夸张，表示所涉及的数量比预料的要多，其用法可比较其反义结构no more than（只不过，只有），用于强调少。

八、no more …than 与 no less…than
前者意为“与…一样不”，否定两者；而后者则表示“和…一样”，肯定两者。如：
She’s no more a great singer than I am. 他不是优秀歌手，我也不是。 
Your brother is no less wise than you. 你的兄弟跟你一样聪明。

A whale is no more a fish than a horse is. 马不是鱼，鲸也不是鱼。

A dolphin is no less a clever animal than a dog is. 海豚与狗同样都是聪明的动物。

九、less / least +原级
“less＋原级”表示降级的比较级；“least＋原级”表示降级的最高级。如：

Would you mind speaking less quickly? 你可否讲得慢一点?
The movie was less funny than the book. 电影没有书那么滑稽有趣。

This is the least useful of the four books. 这是四本书中最没用的一本。

It is said that those who eat the most are the least healthy. 据说吃得最多的人身体最差。

十、less…than…的用法
1. 本身用作比较级：把more看成many或much的比较级，后接名词，表示“比…更多”。如：

Statistics show that there are more boys than girls at school. 统计数字表明学校的男生比女生多。  
2. 后接多音节形容词和副词：more后接多音节形容词或副词，前后是两个或两类人或物进行比较时，表示“比……更”。如：

Airports were more closely watched than anyplace else. 飞机场比任何其他地方看守得更严密。

All human beings are much more intelligent than animals. 所有人类的智力都比动物高得多。

3. 对同一对象的两个方面进行比较：若是对同一个人或物在不同方面进行取舍时，意为“与其说……倒不如……”，此时，不论形容词或副词是单音节、双音节还是多音节，一律用more…than…。如(from www.yygrammar.com)：

He is more hungry than tired. 与其说他累了，倒不如说他饿了。

I was more annoyed than worried. 我与其说是着急，不如说是生气。

“情态动词+完成式”的用法归纳
1. must + have done：用于肯定句，表示推测，意为“一定(已经)……”。
2. can + have done：用于否定句或疑问句，表示推测，意为“可能(已经)……”。
3. could + have done：可用于肯定句、否定句或疑问句，表示推测、责备或遗憾等，意为“可能……”、“本来可以……”、“本来应该……”等。
4. should [ought to] + have done：可用于肯定句、否定句或疑问句，表示责备或遗憾等，意为“本来应该……”。
5. need + have done：用于否定句或疑问句，用于否定时意为“本来不必”，用于疑问句时意为“有必要……吗”。
6. may + have done：用于肯定句或否定句，表示推测，意为“可能(已经)……”。
7. might + have done：用于肯定句或否定句，表示推测，意为“可能(已经)……(此时 might 可换为 may)；另外还可以表示过来可能发生的事结果未发生，意为“本来会……”(此时 might 不能换为 may)。
用法举例：
He can’t have left so soon. 他不可能走得这么早。
I should have thought of it. 我本应想到这一点的。
You needn’t have mentioned it. 你没有必要提及此事的。
You must have mistaken my intention. 你一定是误会了我的意图。
I might have come to a wrong conclusion. 我或许得出了错误的结论。
You could have helped me—why did you just sit and watch? 你本可帮助我的，为什么只坐在一旁瞧着?
倒装：
倒装结构也是比较常见的一种句式，但考查的分量不大，考试都有哪些特点，如何应付，首先让我们一起来看一下近几年的考题。
1．Test Yourself.
      1) I could not persuade him to accept it, ___ make him see the importance of it.(19995.1)
        A. if only I could not  B. no more than I could  C. or I could not   D. nor could I
      2) Not until the game had begun ______at the sports ground.(2000.6)
        A. had he arrived  B. would he have arrived  C. did he arrive  D. should he have arrived
      3) The organization had broken no rules, but _____ had it acted responsibly.(19996.1)
        A. neither   B. so   C. either   D. both
4) We have been told that under no circumstances ______ the telephone in the office for   personal affairs.(1999.6)
A. may we use   B. we may use   C. we could use   D. did we use
5) Only under special circumstances_____to take make-up tests.(1997.6)
A. are freshmen permitted     B. freshmen are permitted
C. permitted are freshmen     D. are permitted freshmen
参考答案: 1) D  2) C  3) A  4) B  5) A
 2．倒装测试范围和应对策略
        倒装分部分倒装和全部倒装。谓语部分所有单词都放在主语前是全部倒装，谓语的一部分放在主语的前面是部分倒装，谓语中的一部分通常是指：1、系动词；2、助动词；3、情态动词。但从近几年的测试来看，重点是部分倒装。对于倒装句型同学们所应注意的就是在哪些情况下需要倒装，并且如何倒装。注意下面常见的倒装条件。 
全部倒装的七条原则：
  1. There be句型（表示有）；
  2. 以There或now, then开头的句子，且句子谓语动词为come或go；
     There you go again. 你又去那里了。
There goes the bell. 
　   Then came the chairman. 
  3. 以Here开头的句子，且句子谓语动词为系动词be； 
Here you are. 拿去。
Here is your letter. 
  4. 以副词out, in, up, down, away开头的句子；
Out rushed a missile from under the bomber. 
Ahead sat an old woman. 
注意: 上述全部倒装的句型结构的主语必须是名词，如果主语是人称代词则不能完全倒装。如：Here he comes.   Away they went.
5. 以状语（常见的是地点状语）开头的句子。
Under the tree sat an old man.
On the hay lay a wounded boy of not more than seventeen.
6. 现在分词和过去分词可提至句首构成"分词+ be + 主语+其它+的倒装句式。如：
        Enclosed in the letter was a photo of a beautiful girl.
        Glooming in the test tube on the table was the mysterious something which theyhad been working so hard to find, radium.
7. so/such…. that句型中，so + 形容词/副词提前，主谓倒装。如：
        So boring was the speech that the audience all left halfway.
        Such a noise did they make that the neighbors could not go to sleep at night.        
部分倒装的六条原则：
1. so放在句首时表示承前肯定，这个句子用部分倒装；
    nor, neither放在句首时表示承前否定，句子也用部分倒装；
2. 省略了引导词if 的虚拟条件从句，可以把从句中的had, should, could, were中的任何一  个提到从句最前面的位置，构成部分倒装；
3. as, though表示“尽管”时引导从句，从句中的表语可以置于引导词之前构成部分倒装；系动词后面的部分就是表语，形容词、名词、名词性短语可以置于系动词之后。
    例如：She is beautiful.   They are students.
    四级考试中出现的是由动词的过去分词转变的形容词作表语的形式。
26. _B_ as it was at such a time, his work attracted much attention.
        A Being published   B Published   C Publishing   D To be published
当题干是as引导一个从句，且as前为一个空格时他表示的就是尽管，空格处要填的就是  表语。being published 正在被出版； to be published 将要被出版。此句恢复正常语序应为： As it was published at such a time … 
4. 表示否定含义的单词或短语放在句首，句子用部分倒装；常见的一些表示否定含义的单词：never, little, few, hardly (… when), scarcely (… when) ；seldom 难得，不常；nowhere 哪里都不。常见的一些表示否定含义的短语：in no way 决不； on no account 决不；under no circumstances 在任何情况下都不。 
Never have I seen such a performance. 
Nowhere will you find the answer to this question. 
Not until the child fell asleep did the mother leave the room. 
当Not until引出主从复合句，主句倒装，从句不倒装。 
注意： 如否定词不在句首不倒装。 
I have never seen such a performance. 
The mother didn’t leave the room until the child fell asleep. 
典型例题 
1)　Why can’t I smoke here? 
   At no time___ in the meeting-room 
   A. is smoking permitted    B.　smoking is permitted 
   C. smoking is it permitted　 D.　does smoking permit 
答案A. 这是一个倒装问题。当否定词语置于句首以表示强调时，其句中的主谓须用倒装结构。 这些否定词包括no, little, hardly, seldom, never, not only, not until等。本题的正常语序是 Smoking is permitted in the meeting-room at no time.
2） Not until the early years of the 19th century ___ what heat is. 
A. man did know　 B. man know　 C. didn’t man know　 D. did man know 
　答案D.　 看到Not until…的句型，我们知道为一倒装句，答案在C，D 中选一个。 
改写为正常语序为，Man did not know what heat is until the early years of the 19th. 现在将not提前，后面就不能再用否定了,否则意思就变了。
5. only + 状语放在句首，句子用部分倒装；Only后的状语可以是单词、短语，也可以是从句，要特别注意，从句并不倒装，而是主句倒装。（如果only去掉就是全部倒装）
   Only when the war was over was he able to get happily back to work.
 Only under special circumstances _C_ to take make-up tests.
     A permitted are freshmen   B freshmen are permitted
     C are freshmen permitted   D are permitted freshmen
   freshmen 新生； make up for 弥补，补偿； make-up tests 补考（缓考）。
6. 注意两个表达形式：come what may 无论发生什么情况； say what you will 畅所欲言。强调句式的补充内容：被强调部分是疑问词时的情况。
主谓一致
1) 主谓一致
1． 主谓一致（与插入语无关） 
1）主谓的分隔原则：主谓之间可以用定语从句或者省略的定语从句分隔。 
2）定语从句中的主谓一致： 
3）随前一致：n. + together with n2 as well as including along with with / of accompanied with / by 
4）就近原则：n1 or n2 +v（就近原则）either n1 or n2 
5）可数n1 and 可数n2+v(pl) 不可数n1 and 不可数n2+v(pl) 例外：war and peace is…　war and peace是一个整体 但是如果主语表示的是同一个概念，同一人，同一事的时候，谓语动词用单数，这种结构的特征是and连接的两个词只有一个冠词。
  The iron and steel industry is very important to our country.
  The head master and mathematical teacher is coming.
  The head master and the mathematical teacher are coming.
类似的还有：law and order　bread and butter　black and white　 to love and to be loved is … a lawyer and a teacher are… a lawyer and teacher is … 
6) 随后原则：not a but b / not only a but also b+v.(与b一致) 
7) 百分比结构：most , half , rest , some , majority , one+persent of+n1+v.（由n1决定）
8) 倒装结构的主谓一致： a）there be +n　由名词决定动词 b）among , between等介词位于句首引起倒装结构： among / between …+系动词+n. （由名词决定动词） 
9) the+adj的主谓一致： 
a）当表示“一类人”， 
b）当表示某一抽象概念时the good is always attractive. 10 to do/doing/主从+vs *more than one+n many a +n. a day or two 
主谓一致的易错点归纳
 

■不定式短语、动词-ing形式或名词性从句作主语，谓语动词用单数形式。如：
Remember /To remember English words is not easy. 记英语单词不容易。
Who will do the job hasn’t been decided yet. 谁来做这项工作还没决定。
注：what引导主语从句时，如果其表语是复数形式，谓语动词要用复数形式。如：
What he took with him were two books. 他带去的是两本书。
■“名词或代词+由with, together with, along with, as well as, besides, but ,except, including, in addition to, like, no less than, rather than等引起的短语”作主语时，谓语动词与前面的名词或代词的数一致。如：
Mr Li together with his two sons has gone to the cinema. 李先生和他的两个儿子看电影去了。
No one except the two boys was late for class. 除了两个男孩外，没有一个人迟到。
Li Ming, rather than his classmates, has let out the secret. 是李明透露了那个消息而不是他的同学透露的。
■“more than one/many a + 单数名词”作主语时，谓语动词用单数形式。如：
More than one person has known it. 不止一个人知道这件事。
Many a worker was killed in the accident. 在这个事故中死了许多工人。
注：“More+复数名词 than one”作主语，谓语则用复数形式。如：
More persons than one have known it. 不止一个人知道这件事。
■“一两个……”，用“one or two+名词复数”表达时，谓语用复数；用“a(an) +名词单数or two”表达时，谓语动词用单数形式。如：
One or two days are enough for them. 

=A day or two is enough for them. 给他们一两天时间足够了。
■and连接两个名词一起作主语时，谓语动词一般用复数形式。如：
Lily and Kite are kind to me. 莉莉和凯特都对我很好。
但是，当两个名词表示同一人、同一事物、同一概念或一个完整的东西时(其特征是and后的名词前无任何冠词) ，谓语动词用单数形式。如：
The teacher and writer has come. 那个教师兼作家已经来了。
(The teacher and the writer have come. 那个教师和那个作家都到来了。) 


Bread and butter is a daily food in the West. 奶油面包是西方的日常食物。
A knife and fork is on the table. 有一副刀叉在桌上。
注：当and连接的并列单数主语前分别有no，each, every, many a, more than one 等修饰时，谓语动词用单数形式。如：
Many a teacher and many a student has seen the film. 许多教师和学生都看过这部电影。
不定代词one, no one, the other, another, anyone, anybody, someone, somebody, everyone, everybody, nobody, anything, something, everything, nothing, each, either 以及被each, every修饰的名词做主语，尽管有些表达复数意义，但是，它们的谓语应该用单数形式。如：
Is everybody here today? 大家都到齐了吗？
Neither (book) is good. 两本书都不好。
None knows the weight of another’s burden. 见人挑担不吃力。
注：neither, none做主语时，口语中或非正式文字中，谓语动词通常用复数，正式的书面语中用单数。如：
Are/Is neither of the teams playing this week? 这个星期两个队中有哪一个队要进行比赛？
None of them has/have been to the Great Wall. 他们中没有一个人去过长城。
不过，none作主语，其表语是单数，谓语用单数；表语是复数，谓语则用复数。
■在定语从句中，当关系代词 who, which或 that做主语时，从句中的谓语动词应该与先行词保持一致。如：
The teacher who teaches us English is from England. 教我们英语的教师是英国人。
Are these the books that were bought yesterday? 这些就是昨天买的书吗？
I, who am a new teacher, will teach you English. 我，一个新教师，将教你们英语。
■“one of+名词复数”后面的定语从句， 谓语动词应该用复数；而“the (only) one of + 名词复数”后面的定语从句的谓语应该用单数形式。如：
He is one of the students that have passed the exam 他是通过了考试的学生之一。
He is the (only) one of the students that has passed the exam. 他就是通过考试的那个学生。
■某些集体名词，如family, audience, class, club, company, crew, enemy, government, group, party, public, team等作主语时，如果作为一个整体看待，谓语动词用单数形式，如果就其中一个个成员而言，谓语动词用复单数形式。如：
My family are all fond of going to the cinema. 我全家都爱看电影。
The family is rather big, with twelve people in all. 这个家庭很大，总共有12个人。
■当表示时间、距离、金额等度量的复数名词作主语，把它看作一个整体时，谓语动词一般用单数。如：
Surely 15 minutes is enough time for you to have a coffee. 你喝杯咖啡15分钟当然足够了。
但若与pass, go by, spend, waste等连用时，谓语动词用复数。如：
Six months have passed, and we still have no news of them. 六个月过去了，我们依然没有他们的消息

 由两个部分构成一个整体的物品名词做主语，如shoes, glasses, boots, socks, scissors, compasses, trousers, shorts等，谓语通常用复数形式。如： 
His trousers are new. 他的裤子是新的。
但带有pair这样的量词时，谓语要与量词的数保持一致。如：
That pair of trousers was sold out. 那条裤子卖出去了。
■“分数（百分数）+ of + 名词”以及 “all (most, some, any, half, a lot, part, the rest) + of + 名词”做主语时，谓语动词的数与of后的名词的数一致。如：
Three-fourths of the surface of the earth is water. 地表四分之三都是水。
Twenty percent of the oranges are bad. 这桔子百分之二十都坏了。
All of my classmates like music. 我们所有的同学都喜欢音乐。
All of the water is gone. 那些水全都没有了。
The rest of the students have gone home. 其余的学生都回家了。
The rest of the money was stolen. 其作的钱被人偷了。
■“a (the, this, that) kind /sort / type of + 名词”做主语，谓语用单数形式；但“these (those, all, many, some) kinds of + 名词”做主语，谓语则用复数形式。如：
This kind of book is useful for us. 这种书对我们很用。
Many kinds of shoes are on sale in that shop. 那个店里有许多种鞋出售。
注：“名词+ of a (the, this, that, these, those, all, some, many等) + kind(s) ”做主语，谓语动词的数与前面名词的数一致。如：
Book of this kind is useful for us. 这种书对我们有用。
Apples of these kinds are sour. 这种苹果是酸的。
■在主谓倒装的句子中，谓语动词的数应与其后的主语一致。如：
On the wall hang two large portraits. 墙上挂着两幅大肖像。  
 
Between the two rows of trees stands the teaching building. 要两排树之间是教学楼。
“a number of +复数名词”意为“许多”，作主语时，谓语动词用复数；“the number of +复数名词”意为“……的数目”，作主语时，谓语动词用单数。如：
The number of people invited was fifty, but a number of them were absent for different reasons. 被邀请的人是五十个，但由许多人由于不同原因缺席了。
■“a lot of /lots of /plenty of /a large quantity of /a large amount of +名词”作主语，谓语动词的数与名词的数一致；如：
A large amount of damage was done in a very short time. 在短时间内造成了很大的损害。
A great amount of our investments are in property. 我们大量的钱都投资到房地产中。

但“(large /huge) quantities /amounts of名词”作主语，谓语动词一般用复数。如：
Large amounts of money were spent on the bridge. 那座桥耗费了大量金钱。 
■“a +单数名词+and a half”和“one and a half +复数名词”做主语，谓语动词用单数形式。如：
One and a half pears has been left on the table. 盘子里剩下一个半梨子。
 

非谓语动词
非谓语动词等语法项目的测试特点和应对策略。
一、 非谓语动词近几年的语法测试中非谓语动词约占31.1%，平均每年近5道题，可谓是语法项目考查的重点，那么非谓语动词的考查都有哪些特点，解答时又应注意些什么呢？下面我和大家就一起来分析一下：
1、非谓语动词考查特点
1) 谓语动词与非谓语动词的判断
对谓语动词与非谓语动词区别的考查主要集中在独立主格结构，如：
All things ___ because of the snowstorm, many passengers could do nothing but take the train.
   A. had been canceled     B. have been canceled
   C. were canceled         D. having been canceled
四个选项中有三个是谓语动词，只有D是非谓语动词，只要同学们能判断出这里是非谓语动词做状语，则不用考虑时态的问题，答案自明。
2) 谓语动词后不定式与动名词的选择
谓语动词后接不定式还是接动名词也是四级语法测试中的一个题眼。如：
① I don‘t mind ____ the decision as long as it is not too late.
A. you to delay making     B. your delaying making
C. your delaying to make     D. you delay to make
② Had I remembered ____ the windows, the thief would not have got in.
A. to close     B. closing      C. to have closed     D. having closed
③ Your hair wants ______ . You‘d better have it done tomorrow.
A. cut    B. to cut    C. cutting    D. being cut
这类题涉及三个方面：
谓语动词后应该接不定式还是动名词？
既可接不定式又可接动名词时，结构和意思上有何差别？
不定式与动名词用主动形式还是用被动形式？
3) 做定语的非谓语动词的选择
从近几年的考查情况来看，对做定语的非谓语动词的考查有两种情况：
1) 对一般概念的考查，而不是固定结构中的非谓语动词做定语。如：
① The project ____ by the end of 2000, will expand the city‘s telephone network to cover 1000，000 users.
  A. accomplished         B. being accomplished
  C. to be accomplished     D. having been accomplished
② If I correct someone, I will do it with so much good humor and self-restraint as if I were the one ______.
  A. to correct   B. correcting    C. having been corrected     D. being corrected
同学们只要掌握非谓语动词做定语的一般的规律，就可以判断①题答案为C，②题答案为D。
2) 对固定结构的考查，如：
① The professor could hardly find sufficient grounds _____ his arguments in favor of the new theory.
   A. to be based on    B. to base on    C. which to base on    D. on which to base
② The pressure _____ causes Americans to be energetic, but it also puts them under a constant emotional strain.
   A. to compete    B. competing    C. to be competed    D. having competed
①题为不定式做定语的固定形式，答案为D，②题为某些特定名词的定语结构，答案为A。在英语中有些名词，如动词变来的名词，形容词变来的名词，以及means，way， time， moment， reason等要求其后用不定式做定语，不定式没有体的变化。
4) 做状语的非谓语动词的选择
做状语的非谓语动词主要考查其各种形式的选择，如：
① ______ the earth to be flat， many feared that Columbus would fall off the edge of the earth.
   A. Having believed    B. Believing    C. Believed    D. Being Believed
② _______ a teacher in a university， it is necessary to have at least a master‘s degree.
   A. To become    B. Become    C. One becomes    D. On becoming
③ Realizing that he hadn‘t enough money and ____ to borrow from his father, he decided to sell his watch.
   A. not wanted    B. no to want    C. not wanting    D. wanting not
④ ___ it or not， his discovery has created a stir in scientific circles.
   A. Believe B. To believe C. Believing D. Believed
从以上各题来看，考查的侧重点有：
状语类别的判断
不同的状语对非谓语动词的要求不同，目的状语要求用不定式，如②。
非谓语动词与句子属于之间的逻辑关系
根据主谓关系或动宾关系的不同来确定用现在分词还是用过去分词。
非谓语动词的否定形式
not否定非谓语动词时置于非谓语动词之前，如③。
独立成分
有些非谓语动词的使用不受与句子主语关系的限制，称为独立成分，这类成分只记忆即可。如:generally speaking， judging from...， to tell the truth...， 等。
5) 做补足语的非谓语动词的选择
做宾语补足语的非谓语动词受谓语动词的限制，不同动词后的宾语补足语形式要求不同。近几年对各类宾补都有考查。如：
① They are going to have the service man ____ an electric fan in the officetomorrow.
   A. install  B. to install   C. to be installed   D. installed
② After a few rounds of talks， both sides regarded the territory dispute ______.
   A. being settled    B. to be settled   C. had settled    D. as settled
③ You will see this product ____ wherever you go.
   A. to be advertised   B. advertised   C. advertise   D. advertising
④ His remarks left me _____ about his real purpose.
   A. wondered    B. wonder    C. to wonder    D. wondering
⑤ When I caught him ____ me I stopped buying things there and started dealingwith another shop.
   A. cheating   B. cheat   C. to cheat    D. to be cheating
⑥ The sale usually takes place outside the house, with the audience _____ on benches, chairs or boxes.
   A. having seated   B. seating   C. seated    D. having been seated
考查涉及到:
感官动词后的宾语补足语，如 ③。
have， make， let， leave等特殊单词后的宾语补足语。
regard类后面的宾语补足语
with独立分句后面的
常用动词后面的宾语补足语。
6) 做表语的非谓语动词的选择
表语的考查多侧重于分词做表语形式的选择，很少有动名词的用法的考查，虽然选项中有不定式作为干扰项，只要能看出是做表语的也就不用考虑。如：
① The house was very quiet， ____ as it was on the side of the mountain.
   A. isolated   B. isolating   C. being isolated   D. having been isolated
② These surveys indicate that many crimes go _____ by the police，mainly becausenot all victims report them.
   A. unrecorded  B. to be unrecorded   C. unrecording    D. to have been unrecorded
分词做表语可以做系动词be的表语，也可以做其它系动词的表语，如go， feel，seem， look， remain等等。这些系动词后非谓语动词的饿用法规则是相同的。
7) to作为介词与作为不定式符号的选择to可以是介词，也可以用来引导不定式，四级考试中对种类用法的考查也比较多。如：
① I have no objection _______ your story again.
   A. to hear   B. to hearing   C. to having heard   D. to have heard
② The traditional approach ____ with complex problems is to break down intosmaller, more easily managed problems.
   A. to dealing   B. in dealing   C. dealing   D. to deal
③ The man in the corner confessed to _____ a lie to the manager of the company.
   A. have told    B. be told   C. being told   D. having told
这类考题的考查方式有两种，一是四个选项中有两个相对的选项to do something 和 to doing something，这时考查的自然是to的性质；另一种是to在题干中，如③。
8) 分词前连词的使用分词前连词的使用是为了使分词的作用更加明了，使考生更加准确地理解试题。考查有两种情况
根据连词选择适当的分词形式
Michael used to look hurt and surprised when ______.
  A. scolding   B. to scold   C. having scolded   D. scolded
when的使用说明非谓语动词做时间状语，答案不可能是B，从scold与句子主语间的逻辑关系来看，应该是动宾关系，答案应该是D。
根据状语的功能选择不同的连词
Careful surveys have indicated that as many as 50 percent of patient do not take drugs ___ directed.
  A. like   B. so   C. which   D. as
由上下文的意思可以看出，分词所做的是方式状语，连词应该是as。
9) 非谓语动词的体非谓语动词中分词的体有完成体和进行体，即having done， having been done和being done，完成体只用于做状语的场合，而进行体可以用于做定语和做补足语。
动名词的体也有having done， having been done和 being done的结构主要用于做主语和宾语的场合。
不定式的体有to be doing 和to have done，主要用于pretend， happen， seem， appear， be said to等结构中。如：
① The man in the corner confessed to _____ a lie to the manager of the company.
   A. have told    B. be told   C. being told    D. having told
having told在句中做介词宾语，表示动作发生在谓语动词之前。
② I‘d rather read than watch television; the programs seem ____all the time.
   A. to get worse   B. to be getting worse   C. to have got worse   D. getting worse
从all the time的使用可以推断get worse是一个渐变过程，所以用不定式的进行体。
③ The speech _____ a lively discussion started.
   A. being delivered   B. was delivered  C. be delivered   D. having been delivered
该结构属于独立主格结构做时间状语，状语分词所表示的动作发生在谓语动词之前，所以应该用完成体，答案为D。
10）动名词复合结构
        动名词符合结构可以做主语、宾语和表语，在对动名词的考查中总是将其逻辑主语包括进来，形成动名词的复合结构：
        ① _____ in an atmosphere of simple living was what her parents
        wished for.(1999.1)
        A. The girl was educated B. The girl educated
        C. The girl's being educated D. The girl to be educated
        本题涉及题眼比较多，A，为从句做主语，但缺少that，D为不定式做主语，但缺少for(for the girl to be educated)，B结构不能做主语，答案是C，为动名词的复合结构。
        ② Ann never dreams of _____ for her to be sent abroad very soon.
        A. there being a chance B. there to be a chance
        C. there be a chance D. being a chance
        介词后用动名词，表示存在时必须用there be句型，所以答案为A，这也是动名词复合结构，there为动名词的逻辑主语。
        ③ I don't mind _____ the decision as long as it is not too late.
        A. you to delay making B. your delaying making
        C. you delaying to make D. you delay to make (2000.1)
        Mind要求接动名词,动名词的逻辑主语用形容词性物主代词，答案自然是B。
        ④ I would appreciate _____ it a secret.(1995.6)
        A. your keeping B. you to keep
        C. that you keep D. that you will keep
        本题与上一题类似，答案是A。
2．非谓语动词解题策略
      1） 正确判断非谓语动词
       这类题一般出现在独立主格结构中，如果在选项与句子之间没有连词，则说明，所选为独立主格结构，既名词或主格代词 + 分词。
        All things ______, the planned trip will have to be called off.
        A. considered   B. be considered   C. considering    D. having considered (1998.6)
        句子没有连词，说明所选结构不属于从句，那么就是独立主格做状语，根据动词与其逻辑主语之间的关系为动宾关系，答案应该是A。
        ____, a man who expresses himself effectively is sure to succeed more rapidly than a man whose command of language is poor.(1997.6)
        A. Other things being equal      B. Were other things equal
        C. To be equal to other things    D. Other things to be equal
        做状语的可以是从句，但B的结构是虚拟条件，与这里不符，不表目的，C不对，不表将来，独立主格中非谓语动词不能是不定式，答案为A。
       4） 判断动名词复合结构的方式
       主语位置上，或动词、介词后的"名词/代词 + 非谓语动词"，如果表示的是一个事件则是动名词复合结构，而不是"名词 + 定语。请看以下各例：
        He insisted on the windows _____ open while he was sleeping.
        A. left   B. being left   C. leaving   D. be left
        insist on后不接从句，D可以排除。这里表达的是坚持要求"开着窗子睡觉"，所以应该是动名词复合结构，答案为B。
        The road __________ caused us to be late for our work for half an hour.
A. blocked    B. was blocked    C. blocking    D. being blocked
        做主语的表示上班迟到的原因，自然应该是"交通堵塞"，而不是"被堵的道路"，所以还是动名词复合结构，答案为D。
        The concerned mother thrilled at the news of his son _________ to college.
          A. had been admitted       B. admitted
          C. having been admitted    D. having admitted
        消息表达的应该是个事件，说明不是"被录取的孩子"，介词of后不可能接从句，说明of后为动名词的复合结构，答案是C。
       3） 注意分析非谓语动词与其逻辑主语之间的关系
        正确判断非谓语动词与起逻辑主语之间的关系是正确选择非谓语动词形式的保证，不管是做什么成分的非谓语动词都体现以下特点：
        如果非谓语动词与逻辑主语之间是主谓关系，则用现在分词；
        如果非谓语动词与逻辑主语之间是动宾关系，则用过去分词；
        如果表示将来，则用动词不定式。
        这是非谓语动词运用的基本原则，然后再根据其不同的作用，掌握其更细的规则。如：
        (1)做定语时
        做定语的可以是动名词、分词或不定式。动名词做前置定语，所构成的大多为固定短语，四级考试一般不涉及。主要考查分词和不定式做定语。分词或不定式做定语一般做后置定语① The project ____ by the end of 2000, will expand the city's telephone network to cover       1,000,000 users.
        A. accomplished B.          being accomplished
        C. to be accomplished        D. having been accomplished
② Hard work ____ on time will lead to better grades.(1995.1)
        A. done   B. be done    C. having done    D. to have been done
③ As early as 1647 Ohio made a decision that free, tax-supported schools must be established in every town _____ 50 households or more.(1998.1)
        A. having  B. to have  C. to have had   D. having had
④ Those _____ to the conference were mostly famous scientists.
        A. invited   B. were invited    C. inviting    D. to invite
 做定语的非谓语动词有一下几种形式：
        "doing 结构":分词与中心词之间是主谓关系,表示正在进行,或状态。如③
        "being done结构"：分词与中心词之间是动宾关系，表示被动和正在进行，如：No one is to enter the buildingbeing repaired.
        "to be done结构"：不定式与中心词之间是动宾关系，表示将来和被动，如①。
        "done结构"：分词与中心词之间是动宾关系，表示被动、完成或一般，如②④。
        "to do结构"：不定式与中心词之间是主谓关系，表示将来。如：The professor to give us a speechtomorrow is said to have compiled many scientific works.
 完成形式不能做定语，包括分词的完成形式和不定式的完成形式。
        (2)做状语
        做状语的可以是不定式，也可以是分词。大体结构有：
        "doing 结构"：分词与句子主语为主谓关系，表示与谓语动词同时发生，或基本上同时发生，或是同时存在的状态。如：
        ______ the earth to be flat, many feared that Columbus would fall off the edgeof the earth.
A. Having believed B. Believing
        C. Believed D. Being believed
        "done结构"：只要分词与句子主语间是动宾关系就可以用过去分词，可以表示完成，可以表示正在进行，也可以表示条件。如：
        _______ in this way, the situation doesn't seem so disappointing.
        A. Too look at    B. Looking at    C. Looked at     D. To be looked at (2000.1)
        He came in, followed by a group of reporters.
        "having done结构"：分词与句子主语是主谓关系，切发生在谓语动词之前。Having seen the film already,I declined his invitation to go to the cinema.
        "having been done结构"：该结构表示完成被动，即分词与句子主语之间是动宾关系，切发生在谓语动词之前。如：Havingbeen showed many times, he still didn't understand the operation of the machine.
        "to do 结构"：这是不定式结构，在句中可以做目的状语，也可以做结果状语，但不定式动作总是发生在谓语动词之后。如：
        _______ a teacher in a university, it is necessary to have at least a master's degree.
        A. To become   B. Become    C. One becomes    D. On becoming
        表结果时一般为固定结构，如too …to…, enough to….，或是表示出乎意料的结果，常可加构成only to的结构。如：
        I did what I could to comfort her only to make her cry even more.
        The next day, she woke to find herself in hospital.
        "being done结构"：该结构表示被动与正在进行，一般置于句首，表示原因。如：Being chased by some spies,he hid himself in the grass.
        (2)做表语
         测试中对表语的考查主要侧重在现在分词与过去分词的区别上，所以对于做表语的非谓语动词，主要看分词与句子主语之间的关系。做表语的分词一般只有 doing 和done两种形式。现在分词表示做表语的与主语是主谓关系；过去分词表示做表语的与主语之间是动宾关系。根据使用规律，如果主语是无生命名词，则表语分词为现在分词；如果主语是有生命名词，以过去分词居多，但也可以用现在分词，但意思不同。如：
        How disappointed he felt at the result of the election. (他感到失望)
        How disappointing he is. He should have failed in such an election. (他令人失望）
        可接表语的系动词很多，除be外还有remain, feel, look, appear, seem, get, become, go。
        (3)做补足语
        一般做宾补的非谓语动词动词的形式选择与其它成分中的非谓语动词形式选择规则基本相同。
        doing结构：分词与宾语构成主谓关系，表正在进行。
        When I caught him ____ me I stopped buying things there and started dealing with another shop.
        A. cheating    B. cheat    C. to cheat    D. to be cheating
        done结构：分词与宾语构成动宾关系，表示被动与完成。
        Don't get your schedule _____;stay with us in this class.(1996.1)
          A. to change   B. changing    C. changed    D. change
        to do 结构：不定式表示将来，如wish somebody to do, expect somebody to do, arrange for somebodyto do等等。
        being done结构：表示被动和正在进行, watch the flag being raised
        Corn originated in the New World and thus was not known in Europe until Columbus found it _____ in Cuba.(2000.1)
        A. being cultivated    B. been cultivated    C. having cultivated    D. cultivating
        to be done结构：用语表示将来与被动，一般用语主谓关系时可用to做宾补的动词后，如：want something to be done, ordersomething to be done
        完成形式不能做宾补。
       4） 注意分析非谓语动词做什么状语
        不同的状语对非谓语动词的要求不同，如表示目的只能是不定式，另外，测试中也常有选择非谓语动词前连词的试题。因此，同学们应注意根据状语与句子间的关系，判断连词的使用。
5） 注意不定式的特殊句式
        不定式在做定语和做状语时都有其特殊句式，注意这些句式的特点，考试中就会少走一点弯路。如：
        have something to do类：
        这类结构相当于汉语的连动结构，即"有事要做"，"买东西吃"，"借书看"等。
        a room in which to live类：
        该类结构是a room to live in 的变体。但如果不熟悉这个结构，考试中则难以决断。如：
        You will want two trees about ten feet apart, from _____ to suspend your tent.(1998.1)
            A. there    B. them   C. which   D. where
        The professor could hardly find sufficient grounds _____ his arguments in favor of the new theory.(2000.6)
        A. to be based on   B. to base on   C. which to base on    D. on which to base
        the first to do
        该结构表示如果名词前有序数词、形容词最高级或序数词、最高级本身做名词用，其后应不定式做定语。
        the ability to do
        该结构表示，形容词变了的名词后用不定式做定语。
        the need to do
        该结构表示由动词变来的名词后用不定式做定语。
        the way to do
        该结构表示，在一些特定的名词后面常用不定式做定语，应注意记忆，如means, reason, time, pressure, moment。
       6） 熟记固定搭配，分清不定式与to加动名词
        其实容易产生不定式符号与介词混淆的只是为数不多的某些句式，只要平时注意积累即可。
        prefer doing something to doing something
        look forward to doing something
        be used to doing something (习惯于做某事)
        stick to doing something
        object to doing something/ have objection to doing something
        be opposed to doing something
        admit/confess to doing something
        I have no objection _____ your story again.(2000.6)
        A. to hear    B. to hearing    C. to having heard    D. to have heard
        The man in the corner confessed to ________ a lie to the manager of the company.
        A. have told   B. be told   C. being told     D. having told来
从出题人的心理来看，如果有to do something和 to doing something的对比项，一般答案是to doing something。
       7） 分清宾补的类别
        (1)感官动词后的宾补可以是
        doing, do, done, being done的结构，其中being done 只用于少数动词后面， 如find, smell, feel等。
        (2)have somebody do something 让某人做某事
        have somebody doing something 让某人一直做某事
        won't have somebody do something 不许某人做某事
        have something done 使某事被做
        have something + ving 让……一直……
        (3)catch,smell,keep,set,等只能接doing的结构,表示主动和正在进行。
        (4)leave somebody doing something 让某人一直做某事
        leave something undone 使某事只做了一半
        leave something to be done 事情有待于解决
        leave somebody to do something让某事做某事，表示将来
        (5)with somebody to do something宾补与宾语是主谓关系，表示将来。
        with somebody doing something 宾补与宾语之间是主谓关系，表示正在进行。
        with something to do 宾补与宾语间是动宾关系，表示将来，动作执行者在句中找的着。
        with something to be done宾补与宾语是动宾关系，表示将来，但动作执行者在句中找不着。
        with something done 宾补与宾语之间是动宾关系，表示完成。 8） 注意下列结构中非谓语动词的体
        pretend/appear/seem/happen/ be said to do something
        不定式动作一般为状态动词，也可是终止性动词，表示与谓语动词同时存在或发生。
        pretend/appear/seem/happen/ be said to have done something
        不定式动作发生在谓语动词之前。
        pretend/appear/seem/happen/ be said to be doing something
        不定式动作与谓语动词同时进行
       9)熟记哪些动词后接不定式,哪些接动名词,如果两者都可，又有什么差别。
        既可接不定式,又可接动名词,用法有别的动词常考的有: forget,remember, regret, mean, try等。
       10）注意want/need/require表示"需要"时的特殊句式
        want/need/require表"需要"时，后接主动的动名词或被动的不定式，即doing 或to be done的形式。不可混淆。
考点透析“反意疑问句”
句子按结构来分，可分为简单句、并列句和复合句。简单句按不同交际功能可分为陈述句、疑问句、祈使句、感叹句四种。按提出问题的方式，疑问句可分为：一般疑问句，特殊疑问句，选择疑问句和反意疑问句。
㈠反意疑问句的结构形式：
　　反意疑问句提出情况或看法，问对方同不同意，这种问句都由两部分组成，前一部分用陈述句的形式，后一部分是一个附着在前一部分上的简短问句，中间用逗号隔开，如前一部分为肯定形式，后一部分通常用否定形式，前一部分为否定形式，后一部分就用肯定形式，两部分的时态要一致。如：
　　①You are to go home via Hongkong, aren’t you?
　　你准备经香港回国，对吧？（肯定的陈述句+否定的反意疑问句）
　　②They didn’t raise many questions at the press conference, did they?
　　他们在记者招待会上没提出很多问题，是吧？（否定的陈述句+肯定的反意疑问句）
　　③You won’t be away for long, will you?
　　你不会离开太久，是吧？（否定的陈述句+肯定的反意疑问句）
　　④You have already got our invitation, haven’t you?
　　你们已收到了我们的请贴，是吧？（肯定的陈述句+否定的反意疑问句）
㈡反意疑问句的答语
　　在回答反意疑问句时，应根据事实来回答，如果事实是肯定的，前面要用yes,否则用no, 在第一部分为否定句时要特别注意，这时英语回答和汉语回答是不一致的。如：
　　①----You are not going out today, are you? 你今天不出去，是吗？
　    ----No, I am not. 是的，我今天不出去。
（“不出去”属于否定的事实，所以在英语中应用“no”来表示此义，不要用 “yes” 来回答。）
②---You are not going out today, are you? 你今天不出去，是吗？
　----Yes, I am. 不，我出去。
（“出去”属于肯定的事实，所以在英语中应用“yes”来表示此义，不要用 “no”来回答。）
③---George wasn’t there that day, was he? 乔治那天不在那里，对吧？
  ----No, he wasn’t. 　对，他不在。
（“不在”属于否定的事实，所以在英语中应用“no”来表示此义，不要用 “yes”来回答。）
④----George wasn’t there that day, was he?
　----Yes, he was.
（“在”属于肯定的事实，所以在英语中应用“yes”来表示此义，不要用 “no”来回答。）
一般来说这种反意疑问句及其回答中的肯定否定关系可以用下面这个公式表示：（＋表示肯定，－表示否定）
　　问句中：＋，－ 或－，＋
　　回答中：＋，＋或－，－
㈢构成反意疑问句时应注意的问题：
　　⒈当陈述部分的主语是everybody, everyone, someone, no one, nobody, somebody等不定代词时，反意疑问句部分中的主语常用they (有时也可用he.)如：
　　①Nobody phoned while I was out, did they?
　　我出去的时候没人打电话，是吧？
　　②Everyone has been there, haven’t they?
　　每个人都去过那里，是吗？
　　③Somebody borrowed my pen yesterday, didn’t they?
　　昨天有人借了我的钢笔，是吧？
　　④No one was hurt, was he?
　　没人受伤，是吧？
    ⒉ 当陈述部分的主语是everything, anything, nothing, something等表物的不定代词时，反意疑问部分的主语常用it.如：
　　① Everything has been done on how to prevent the pollution, hasn’t it?
　　关于如何预防污染已采取了一切措施，是吗？
　　②Nothing is wrong with the machine, is it?
　　这台机器没出什么毛病，是吧？
　　③Nothing can stop us now, can it?
　　任何事情都无法阻止我们，是吧？
　　⒊ 当陈述部分的主语是one时，反意疑问部分的主语常用one或you。如：
　　①One can’t be too careful, can one/ you? 一个人越认真越好，是吧？
　　②One should study hard, shouldn’t one/ you? 一个人应当认真学习，是吗？
　　⒋ 当陈述部分的主语是man(人类)时，反意疑问部分的主语常用he。如：
　　Man is the master of his own fate, isn’t he? 人类是自己命运的主宰，是吗？
　　⒌ 当陈述部分是there be结构时， 反意疑问部分用there,省略主语代词。　　如：
　　①There is something wrong with the machine, is there? 机器出了毛病了，是吗？
　　②There won’t be any trouble, will there? 不会有任何麻烦，是吗？
　　③There used to be a shop, didn’t there?
　　⒍ 当陈述部分含有seldom, hardly, never, rarely, few, little, nowhere, nothing等否定词或半否定词时，反意疑问部分的动词应用肯定形式。如：
    ①She seldom goes to the cinema, does she? 她很少去看电影，是吗？
　　②Few people know him, do they? 没几个人认识他，是吗？
　　③Bob rarely got drunk, did he? 鲍勃很少喝醉，是吗？
　　④He has never been to London, has he? 他从没去过伦敦，是吗？
　　⑤They can hardly understand it, can they? 他们几乎不能理解，是吗？
　　⑥You have nothing else to say, have you? 你没有什么可说的了，是吧？
　　⒎ 当陈述部分中含有im, in, dis, un等否定前缀或less等否定后缀时，应把陈述部分看成是肯定的，反意疑问部分要用否定式。如：
　　①He was unsuccessful, wasn’t he? 他没成功，是吗？
　　②This meeting is unimportant, isn’t it? 这次会议不重要，是吗？
　　③Your mother dislikes seeing you with me, doesn’t she?
　　你母亲不喜欢看到你和我在一起，是吗？
　　④He is unfamiliar with this type of computer, isn’t he?
　　他不熟悉这种类型的计算机，是吗？
　　⒏ 当陈述部分是I’m …结构时，反意疑问部分常用aren’t I　如：
　　①I am late, aren’t I? 我迟到了，是吗？
　　②I’m a boy, aren’t I? 我是一个男孩，是吗？
　　⒐ 当陈述部分是主从复合句时，反意疑问部分中的动词和主语代词通常应和主句中的动词和主语保持一致。如：
    ①She says that I did it, doesn’t she? 她说是我做的，是吗？
　　②He never said he would come, did he? 他从没说过要来，是吗？
　　③When he goes there, he will go to see her, won’t he?
　　当他去那里时，他要去看她，是吗？
　　④If you don’t start early, you will be late, won’t you?
　　如果你不早点出发就会迟到，是吗？
　　⑤He told you that he had watched the football match, didn’t he?
　　他告诉你已看过了这场足球赛，是吗？
　　⑥Peter believes that his dream will come true some day, doesn’t he?
　　彼得相信有一天他的梦想会实现，是吗？
　　⒑ 当陈述部分的主句是I suppose, I think, I believe, I imagine等结构时，反意疑问部分往往与从句保持一致，而且要注意否定转移。如：
    ①I suppose that she is careful, isn’t she? 　我认为她认真，是吗？
　　②I think he is a thief, isn’t he? 我认为他是一个小偷，是吗？
　　③I don’t believe she has gone home, has she? 我认为她没有回家，是吗？
　　④I don’t think he can do it well, can he? 　我认为他做不好那件事，是吗？
　　⑤I don’t believe you can finish the job, can you? 我觉得你完不成这项工作，是吗？
　　⑥I don’t guess he knows it, does he? 我想他不知道这件事，是吗？
　　⒒ 当陈述部分含有have，而且have作“有”解时，反意疑问部分用have/has或借助助动词do, does, did等来完成；如果陈述部分中的have是实义动词，则反意疑问部分应需借助助动词do, does, did等来完成。如：
    ①He hasn’t a lot of time to spare, has he? 他没有许多可以抽出的时间，是吗？
　　②He doesn’t have an English dictionary, does he? 他没有英语词典，是吗？
　　③They had milk and bread for breakfast, didn’t they?
　　他们早餐吃的面包喝的牛奶，是吗？
　　④You all had a good time, didn’t you? 你们都玩儿得很开心，是吗？
　　⑤Mike often has a cold, doesn’t he? 迈克经常感冒，是吗？
　　⒓当陈述部分的谓语动词包括have to, had to时，反意疑问部分通常用do的适当形式。如：
    ①You had to take the early bus, didn’t you? 你不得不乘坐早班车，是吗？
　　②We have to do it, don’t we? 我们不得不做这件事，是吗？
　　③He has to look after the child, doesn’t he? 　他不得不照顾这个小孩，是吗？
　　④They had to keep quiet, didn’t they? 他们不得不保持安静，是吗？
　　⒔ 当陈述部分含有情态动词used to时，反意疑问部分可用used to形式或did形式。如：
    ①He used to smoke three cigarettes a day, didn’t/ usedn’t he?
　　他过去一天常吸三根香烟，是吗？
　　②He used to get up late, didn’t/ usedn’t he? 他过去起床晚，是吗？
③We used to work in the same workshop, didn’t/ usedn’t we? 
我们过去在同一个车间工作，是吗？
　　⒕ 当陈述部分是祈使句时，反意疑问部分常用will you. 　如：
    ①Help me to do it, will you? 帮我做这件事，好吗？
　　②Don’t go there, will you? 别去那里，好吗？
　　③Be quiet, will you? 安静些，好吗？
　　④Give me some cigarettes, will you? 给我一些香烟，好吗？
　　⑤Don’t move the chair, will you? 　别搬这把椅子，好吗？
　　◆ Let’s 和Let us都表示“让我们”，但用法上不同。前者包括听话人，后者不包括听话人。正因如此，它们的反意疑问句的形式常常不同：
　　以Let’s 开头的祈使句，反意疑问部分常用shall we.
　　以Let us开头的祈使句，反意疑问部分常用will you. 如：
    ①Let’s go skating, shall we? 　我们去滑冰，好吗？(说话人、听话人均去滑冰)
　　②Let us have a look at your book, will you?
　　让我们看看你的书，好吗？（说话人要看书，听话人不看书）
　　③Let’s go now, shall we? 　我们现在走，好吗？（我们去，你也去）
　　④Let us go shopping, will you? 让我们去买东西，好吗？（我们去，你不去）　
　　⒖ 当陈述句部分含had better/best, would like to, would rather等约定俗成特殊短语时，反意疑问部分应保留第一个词。如：
    ①He had better do more speaking, hadn’t he? 他最好多说，是吗？
　　②You would like to do it, wouldn’t you? 你愿意做这件事，是吗？
　　⒗ 当陈述句部分是强调句或类似强调句的结构时，反意疑问部分常和句首的It is/was保持一致。如：
    ①It was in a park that you met him, wasn’t it? 你是在公园里遇见了他，是吗？
　　②It is the first time that he has gone there, isn’t it? 这是他第一次去那里，是吗？
　　③It is ten years since he joined the army, isn’t it? 他参军十年了，是吗？
　　⒘ 当陈述句部分为感叹句时，反意疑问句部分常用否定形式，且问句部分的动词常用be. 如：
    ①What a handsome man he is, isn’t he? 他是一个多么英俊的人，是吗？
　　②What a cold day, isn’t it? 多么冷的一天，是吗？
　　⒙ 当陈述部分含有情态动词must, may, can’t, 且表示推测时，反意疑问部分不能用must, may, can’t自身，应和后面的实义动词保持一致；
　　◆ must/ may/ can’t + do 表示对现在情况的推测，反意疑问部分用一般现在时。　如：
　　①He must be Mr. Chen, isn’t he? (相当于：I think he is Mr. Chen.) 他一定是陈先生，是吗？
　　②He can’t be Mr. Chen, is he? （相当于I don’t think he is Mr. Chen.）
      他不可能是陈先生，是吗？
    ③He must be very tired, isn’t he? (相当于：I believe he is very tired.) 他一定很累，是吗？
　　④Your mother may be at home, isn’t she? (相当于：Maybe your mother is at home.)
      可能你母亲在家呢，是吗？
    ◆ must/ may/ can’t + have done +过去时间状语，表示对过去情况的推测，反意疑问部分常用一般过去时。如：
    ①He must have stayed at home yesterday, didn’t he?
　　(相当于: I think he stayed at home yesterday.) 他昨天一定呆在家里了，是吗？
　　②You must have seen the film last week, didn’t you?
　　(相当于：I think you saw the film last week.) 你上周一定看这部影片了，是吗？
　　③It can’t have snowed last week, did it?
　　(相当于：I don’t think it snowed last week.) 上周不可能下雪了，是吗？
　　④He may have gone home last night, didn’t he?
　　(相当于：Maybe he went home last night.) 他可能昨晚回家了，是吗？
　　◆ must/ may/ can’t + have done , 反意疑问部分常用现在完成时。如：
    ①You must have met him before, haven’t you?
　　（相当于：I think you have met him before.）你从前一定见过他，是吗？
　　②You may have been to Tibet, haven’t you?
　　(相当于：Maybe you have been to Tibet.) 你可能去过西藏，是吗？
　　③He can’t have known the news, has he?
　　(相当于：I don’t think he has known the news.) 他不可能知道那个消息了，是吗？　　
　　④You must have waited for a long time, haven’t you?
　　（相当于：I think you have waited for a long time.）　你一定等了很长时间了，是吗？
　　⒚ 当陈述部分含有情态动词mustn’t表示“禁止”时，反意疑问部分常用must. 如：
     You mustn’t walk on grass, must you? 禁止你在草地上走，是吗？
　　⒛ 当陈述部分含有情态动词need, dare时，反意疑问部分有两种形式：
　　作情态动词时保留自身；作实义动词时反意疑问句应借助于助动词do/does/did来完成。如：
    ①You needn’t go there, need you? 你不必去那里，是吗？（情态动词）
　　②He needs to start at once, doesn’t he? 他需要立刻出发，是吗？（实义动词）
　　③She dare not go out alone at night, dare she? 她晚上不敢一人出去，是吗？（情态动词）
　　④We need to come earlier, don’t we? 　我们需要早点来，是吗？
　　21． 当陈述部分含有情态动词ought to时，反意疑问部分常用oughtn’t (有时也可用shouldn’t.) 如：
　　①The child ought to be punished, oughtn’t he? 这个小孩应当受到惩罚，是吗？
　　②You oughtn’t to criticize her, ought you? 你不应该批评她，是吗？
　　
独立主格结构的用法说明与注意点
一、有关独立主格结构的基本概念 
独立主格结构是一个名词或代词（作为逻辑主语），加上一个形容词、副词、介词短语、分词、不定式等在句中作状语。它有以下三个特点：

1. 独立主格结构的逻辑主语与句子的主语不同，它独立存在。

2. 名词或代词与后面的形容词、副词、介词短语、分词、不定式等存在逻辑上的主谓关系。

3. 独立主格结构一般用逗号与主句分开，但与主句之间不能使用任何连接词。
二、独立主格结构的常见形式
1. 名词（代词）+现在分词

The question being settled, we went home. 问题解决之后，我们就回家了。

We shall play the match tomorrow, weather permitting. 
明天假设天气好，我们就进行比赛。

The monitor being ill, we’d better put the meeting off. 
班长病了，我们最好还是延期开会吧。

2. 名词（代词）+过去分词

The job finished, we went home. 工作结束后我们就回家了。

The last bus having gone, we had to walk home. 
最后一班公车已经走了，我们必须走路回家。

More time given, we should have done the job much better. 
如果给我们更多的时间，我们会把工作做得更好。

3. 名词（代词）+不定式

Nobody to come tomorrow, we will have to put off the meeting till next week. 
如果明天没有人来，我们将把会议推迟到下周。 

So many people to help him, he is sure to succeed. 
有如此多的人来帮助他，他一定会成功的。

4. 名词（代词）+介词短语

The soldiers dashed in, rifle in hand. 士兵们端着枪冲了进来。

A girl came in, book in hand. 一个少女进来了，手里拿着书。

He was waiting, his eyes on her back. 他在等着，眼睛望着她的背影。

5. 名词（代词）+形容词或副词

He sat in the front row, his mouth half open. 他坐在前排，嘴半开着。

She sat at the table, collar off, head down, and pen in position, ready to begin the long letter. 
她坐在桌前，衣领已解掉，头低了下来，拿好钢笔，准备开始写一封长信。

6. There being +名词（代词）

There being nothing else to do, we went home. 没有别的事可做，我们就回家了。

There being no further business, I declare the meeting closed. 
没有再要讨论的事了，我宣布散会。

7. It being +名词（代词）

It being Christmas, the government offices were closed. 
由于圣诞节的缘故，政府机关都休息。

It being a holiday, all the shops were shut. 由于今天是假日，所有商店都关门了。

注：独立主格结构有时可在其前加上介词with。如：

Don’t sleep with the windows open. 别开着窗睡觉。

He stood before his teacher with his head down. 他低着头站在老师面前。

He was lying on the bed with all his clothes on. 他和衣躺在床上。

She came in with a book in her hand. 她手里拿着一本书走了进来。

He fell asleep with the lamp burning. 他没熄灯就睡着了。

I won’t be able to go on holiday with my mother being ill. 
因为妈妈有病，我无法去度假。

He sat there with his eyes closed. 他闭目坐在那儿。

All the afternoon he worked with the door locked. 整个下午他都锁着门在房里工作。

I can’t go out with all these clothes to wash. 要洗这些衣服，我无法出去了。

三、英语独立主格结构的用法
独立主格结构主要表示谓语动词发生的时间、原因、条件或伴随情况等，相当于一个状语从句或并列句。

1. 用作时间状语
The work done (=After the work had been done), we went home. 
工作完成后，我们就回家了。
2. 用作条件状语
Weather permitting (=If weather permits), they will go on an outing to the beach tomorrow. 如果天气允许的话，他们将在明天组织一次海滨小游。
3. 用作原因状语
An important lecture to be given tomorrow (=As an important lecture will be given tomorrow), the professor has to stay up late into the night. 因为明天要发表一个重要的演讲，教授不得不熬夜到很晚。
4. 用作伴随状语
He was lying on the grass, his hands crossed under his head (=and his hands were crossed under his head).他躺在草地上，两手交叉枕在脑后。
5. 表示补充说明
A hunter came in, his face red with cold (=and his face was red with cold). 
一个猎人走了进来，他的脸冻得通红。
We redoubled our efforts, each man working like two. 
我们加倍努力，一个人干两个人的活。
注：独立主格结构表示时间、条件或原因时，相当于一个状语从句，一般放在句首，表示原因时还可放在句末；表伴随状况或补充说明时，相当于一个并列句，通常放于句末。
四、使用独立主格结构的几点注意
1. 当状语从句的主语与主句的主语不是指同一个对象时，可用独立主格结构取代状语从句，但不再保留连词。如：
After class was over (=Class being over / Class over), the students soon left the classroom.下课后，学生很快离开了课室。
2. 在下列两种情况下，独立主格结构中的being（或having been）不能省略：
(1) 独立主格的逻辑主语是代词时。如：
It being Sunday, we went to church.因为是星期天，我们去了做礼拜。
(2) 在There being＋名词的结构中。如：
There being no bus, we had to go home on foot.
因为没有公共汽车，所以我们不得不步行回家。
3. 在“名词（或代词）＋介词短语”构成的独立主格结构中，一般不用形容词性物主代词和冠词。如： 
Miss Smith entered the classroom, book in hand.
史密斯先生走进了课室，手里拿着一本书。
比较with的复合结构：Miss Smith entered the classroom, with a book in his hand.
4. 独立主格结构没有所有格形式。如：
The chief-editor arriving, we began the meeting. 主编来了，我们开始开会。
比较动名词复合结构：
The chief-editor’s arriving made us very surprised.
5. 独立主格结构作时间或原因状语时，可用完成时，表示该动作发生在谓语之前。如：
The listeners having taken their seats, the concert began.听众坐好后，音乐会开始了。
Tom having been late over and over, his boss was very disappointed.
由于汤姆一再迟到，他的老板非常失望。

　　英语中，从句主要有三大类：名词性从句、形容词性从句及副词性从句。下面我们分别介绍。

　　一、名词性从句

　　1、名词性从句的构成及句法特点

　　名词从句是指在完整的句子中以名词性质出现的从句成分，主要包括主语从句、表语从句、 同位语从句和宾语从句。 其连接代词非为三类：1)由that, whether, if和whoewver等引出的陈述句；2)有what引出的疑问句；3)有wh-等词引出的疑问句。第一类和第三类在引出主语从句时可以用形式主语it来代替。

　　2、主语从句

　　That the earth goes around the sun is well-known to everybody.

　　地球围绕着太阳转是众所周知的事实。

　　(= It is well-known to everybody that the earth goes around the sun.)

　　Whether he will come to the meeting is up to his boss. (此时不能用if )

　　他来不来参加会议取决于他的老板。

　　(= It is up to his boss whether he will come to the meeting.)

　　Whoever says so is a liar. 谁这样说使就在撒谎。

　What you need in learning a foreign language well is repeated practice.

　　学习外语你需要的是大量的练习。

　　What you have said is convincing. 你所说的令人信服。

　　Where we shall stay for the night is a problem. 我们在哪儿过夜是个问题。

　　(= It is a problem where we shall stay for the night.)

　　When and where the 2008 Olympic Games will be held has been decided.

　　2008年奥运会举行的时间和地点已经确定下来了。

　　(=It has been decided when and where the 2008 Olympic Games will be held.)

　　How the ancient Egyptians built the pyramids puzzled people for centuries.

　　古埃及人是如何建造金字塔迷惑了多少代的人。

　　(= It puzzled people for centuries how the ancient Egyptians built the pyramids.)

　　同时，需要注意主语从句的一些常见句型。如：

　　It is reported that… 椐报道 … 

　　It must be pointed out that … 必须指出的是 … 

　　It is likely that … 很可能的是 ..;. 

　　It is a good thing that… 很好的是 … 

　　It happens that … 碰巧的是 … 

　　3、表语从句

　　that引出的表语从句里，that可以省略；whether有时也可用来引出表语从句，而一般不用if，但as if却 可以。如： 

　My idea is (that) we need more hands. 我的看法是我们需要更多的人手。

　　The question is whether they will be able to help us. 问题是他们是否能帮我们。

　　All this was over twenty years ago, but it seems as if it was only yesterday.

　　所有这一切过去20多年了，但似乎刚刚是昨天发生的一样。

　　4、同位语从句：名词性从句考查的重点

　　同位语从句的特点是由一个抽象名词+that从句构成，引导词一般是that, 而且that在从句中不充当任何成分。这些抽象名词有：news, idea, fact, doubt, evidence, promise, rumor, hope, truth, belief, message等，同位语从句是对抽象名词进行说明解释。

　　The news that our football team at last defeated Korea made the fans wild with joy.

　　我们的足球队最终击败了朝鲜队的消息令球迷们欢喜若狂。

　　The news that made the fans wild with joy was from the radio. (比较-定语从句)

　　令球迷们欢喜若狂的消息是从收音机里播报的。

　　There is much evidence that the crime rate in this city is on the rise.

　　有充足的证据证明该城市的犯罪率在上升。

　　Einstein came to the conclusion that the maximum speed possible in the universe is that of light. 爱因斯坦得出的结论是宇宙中最大速度是光速。

　　5、名词性从句的考点

　　1、考生要明确下列四个概念

　　1)名词从句通常由连接代词(who, whom, whose, which, what, whoever, whichever, w h atever)、连接副词(when, where, how, why)和连接词(that, if, whether)引出。
2)连接代词和连接副词不仅引出一个从句，而且还在从句中担任某个语法成分。 

　　3)用连接代词和连接副词引出的名词从句前面不要再加that。 

　　4)名词从句的语序一律用陈述句语序，不能用疑问句语序。 

　　2、同位语从句与定语从句的区别

　　(1) 定语从句中的that既代替先行词，同时以在从句中作某个成分(主语或宾语)，而同位语从句中的that是连词，只起连接主句与从句的作用，不充当句中任何成分。

　　(2) 定语从句是形容词性的，其功能是修饰先行词，对先行词加以限定，描述先行词的性质或特征；同位语从句是名词性的，其功能是对名词进行补充说明。例如：

　　The news that he told me is that Tom would go abroad next year.(他告诉我的消息是汤姆明年将出国。)(第一个that引导的从句是定语从句，that在从句中作宾语)

　　The news that Tom would go abroad is told by him.(汤姆将出国的消息是他讲的。)(同位语从句，that在句中不作任何成分)

　　3、what 和that引导名词性从句的差别

　　___________ caused the accident is still a complete mystery.

　　A. What B.That C.How D. Where 

　　【答案】 A。

　　【解析】很显然，本题是为了考查学生是否掌握了what 和that的实际含义及引导名词性从句时的用法差异而设定。那what 和that在引导名词性从句时究竟有怎样的差别呢？

　　1)当what用作连接代词，引导名词性从句时，可引导主语从句、表语从句和宾语从句(不可引导同位语从句)；它本身在句中充当主语、宾语或表语。

　　(1) what表示“所以……的(事)”的意思，相当于“the thing(s) that……”、“all that……”、“that which……”、“everything that……”等。例如：

　Leave it with me and I’ll see what I can do. (what引导宾语从句，并作do的宾语。)

　　把它留给我，我来看看怎么做。

　　What you have done might do harm to other people. (what引导主语从句，并在从句中作宾语。) 你所做的可能会给别人带来伤害。

　　What he said at the meeting astonished everybody present. (what引导主语从句，并在从句中作宾语。) 他在会上说的令所有在场的人吃惊不小。

　　What is most important in life isn’t money. (what引导主语从句，并在从句中作主语。)

　　生活中最重要的不是钱。

　　But wait till you see what we’ll make for you to your own measure. (what 引导宾语从句，并在从句中作宾语。) 你等着看我们能给你什么补偿。

　　What he wanted to see was an end to all the armies of the world. (what 引导主语从句，并在从句中作宾语。) 他所想要看到的是结束世界上所有的军队。

　　(2)what 表示“所……的(人)”的意思，相当于“the person that……”等。例如：

　　He is not what he used to be. (what 引导表语从句，并在从句中作表语。)

　　他已经不是过去的他了。

　　She is no longer what she was five years ago. (what 引导表语从句，并在从句中作表语。)

　　她不是5年前的她了。

　　2)that 

　　当that用作连接词，引导名词性从句时，可引导主语从句、表语从句、宾语从句和同位语从句，that 在从句中既不充当任何成分，也无实际意义，仅起着连接句子的作用。一般不可省略(宾语从句除外)。若从句置于句子后面，代词it作形式主语。例如：

It worried her a bit that her hair was turning grey. (that引导主语从句)。

　　令她烦恼的是头发开始变得花白。

　　Can you believe (that) in such a rich country there should be so many poor people? ( that引导宾语从句) 在这样一个富有的国度里竟有这么多的穷人，你相信吗？

　　We heard the news that our team had won. (that引导同位语从句)

　　我听到我们队获胜的消息。

　　Another problem is that good soil is gradually lost. (that引导表语从句)

　　另一个问题是肥沃的土壤开始慢慢流失了。

　　But the truth is that everyone should take care of disabled people, not just the government. (that引导表语从句) 

　　一条亘古不变的真理就是人们都应该体贴残疾人，而不是体贴政府。

　　二、定语从句

　　1、定语从句的句法特点及关系代词、副词：

　　用来修饰主句中某一名词或代词(有时也可说明整个主句或主句中一部分)而起定语作用的句子叫作定语从句。

　　关系代词：who, whom, whose, that, which, as

　　关系副词：when, where, why 

　　2、关系代词的用法

　　(1) 如果先行词是all, much, anything, something, nothing, everything, little, none等不定代词，关系代词一般只用that，不用which。例如：

　　All the people that are present burst into tears. 所有在场的人都哭了。

　　(2) 如果先等词被形容词最高级以及first, last, any, only, few, mush, no, some, very等词修饰，关系代词常用that, 不用which, who，或whom。例如：

　　He is the last person that could have done such a thing. 他绝不是做这种事的人。

　　(3) 非限制性定语从句中，不能用关系代词that, , 作宾语用的关系代词也不能省略。例如：

　　There are about seven million people taking part in the election, most of whom are well educated. 有700万人参加了这次竞选，其中大部分都受过良好教育。

　　(4) 非限制性定语从句中只能用which，可以指代前面的一个词，也可以引导从句修饰前面的整个主句，代替主句所表示的整体概念或部分概念。在这种从句中，which可以作主语，也可以作宾语或表语，多数情况下意思是与and this 相似，并可以指人。例如：

　　He succeeded in the competition, which made his parents very happy.

　　他比赛获胜，令他父母十分欣慰。

　　(5) 如果作先作词的集体名词着眼于集体的整体，关系代词用which; 若是指集体中的各个成员，则用who。

　　(6) 先行词有两个，一个指人，一个指物，关系代词应该用that。例如：

　　The boy and the dog that are in the picture are very lovely.

　　(7) 如果先行词是anyone, anybody, everyone, everybody, someone, somebody, 关系代词应该用 who 或whom，不用 which。例如：

　　Is there anyone here who will go with you?

　　3、关系副词引导的定语从句

　　关系副词在从句中分别表示时间、地点或原因。关系副词when在从句中充当时间状语，where 充当地点状语，why充当原因状语。

　　He came at a time when we needed him most. 他在我们最需要的时候来了。
We’ll never forget the day when the People’s Republic of China was founded.

　　我们永远不会忘记中华人民共和国成立的那一天。

　　I know the reason why she studies so well. 我知道她学习好的原因。

　　This is the room where he put up for the night. 这就是他渡过夜晚的那房子。

　　另外，that可引导定语从句表示时间、地点或原因。

　　that有时可以代替关系副词 when, where 或者why引导定语从句表示时间、地点或原因。在that引导的这种定语从句中，that也可以省去。

　　Every time (that/when) the telephone rings, he goes nervous. 

　　His father died the year (that / when / in which) he was born.　他父亲在他出生那年逝世了。

　　He is unlikely to find the place (that / where / in which) he lived forty years ago. 

　　他不大可能找到他四十年前居住过的地方。

　　4、限制性和非限制性定语从句

　　1) 定语从句有限制性和非限制性两种。限制性定语从句是先行词不可缺少的部分，去掉它主句意思往往不明确；非限制性定语从句是先行词的附加说明，去掉了也不会影响主句的意思，它与主句之间通常用逗号分开，例如：

　　This is the house which we bought last month. 这是我们上个月买的那幢房子。(限制性)

　　The house, which we bought last month, is very nice.

　　这幢房子很漂亮，是我们上个月买的。(非限制性)

　　2)非限制性定语从句还能将整个主句作为先行词, 对其进行修饰, 这时从句谓语动词要用第三人称单数，例如：

He seems not to have grasped what I meant, which greatly upsets me. 

　　他似乎没抓住我的意思，这使我心烦。

　　Liquid water changes to vapor, which is called evaporation. 

　　液态水变为蒸汽，这就叫做蒸发。

　　5、As在定语从句中的用法

　　1)引导限制性定语从句和非限制性定语从句

　　(1)as多与such 或the same连用，可以代替先行词是人或物的名词。

　　(2)as 也可单独使用，引导非限制性定语从句，作用相当于which。例如：

　　The elephant’s nose is like a snake, as anybody can see.

　　2)As引导的非限制性定语从句的位置 

　　as引导的非限制性定语从句位置较灵活，可以位于主句前面.中间或后面，一般用逗号与主句隔开，但which所引导的非限制性定语从句只能放在主句之后。例如：

　　As is expected, the England team won the football match.

　　The earth runs around the sun, as is known by everyone.

　　6、介词+关系代词的用法

　　“介词＋关系代词”是一个普遍使用的结构:

　　(1) “介词＋关系代词“可以引导限制性定语从句，也可以引导非限制性定语从句。“介词＋关系代词结构中的介词可以是 in, on, about, from, for, with, to at, of, without 等，关系代词只可用whom或 which,不可用 that 。

　　This is the question about which we’ve had so much discussion. 

　　这就是我们讨论的那么多的问题。

　　This is the foreign guest with whom our dean shook hands just now.

　这就是那位我们院长与之握手的外国客人。

　　(2) from where为 “介词＋关系副词“ 结构，但也可以引导定语从句。例如：

　　We stood at the top of the hill, from where we can see the town.

　　(3) 像listen to, look at, depend on, pay attention to, take care of等固定短语动词，在定语从句中一般不宜将介词与动词分开。例如：

　　This is the boy whom she has taken care of.

　　He finally found the pen that he he had beeb looking for all the morning.

　　他最终找到了他一早上一直在找的钢笔。

　　三、状语从句

　　1、概述

　　状语从句主要用来修饰主句或主句的谓语。一般可分为九大类，分别表示时间、地点、原因、目的、结果、条件、让步、比较和方式。尽管种类较多，但由于状语从句与汉语结构和用法相似，所以理解和掌握它并不难。状语从句的关键是要掌握引导不同状语从句的常用连接词和特殊的连接词即考点。

　　2、状语从句分类及常用连词： 

　　类 别　　　　　连 词 

　　时间状语从句　when, whenever, while, as, before, after, since, till, once, as soon as,etc. 

　　地点状语从句　where, wherever 

　　原因状语从句　because, since, as, for, now that, etc. 

　　目的状语从句　in order that, so that, that, etc. 

　　结果状语从句　so…that, so that, such…that, that, etc. 

条件状语从句　if, unless, as (so) long as, etc. 

　　让步状语从句　though, although, even if, even though, however, whatever, as,etc. 

　　比较状语从句　as…as, so…as, than, etc. 

　　方式状语从句　as, as if, as though, etc.

　　3、状语从句的句法功能及考点

　　1)时间状语从句

　　常用引导词：when, as, while, as soon as, while, before, after, since , till, until 

　　特殊引导词：the minute, the moment, the second, every time, the day，the instant, immediately , directly, no sooner … than, hardly …when, scarcely … when

　　I didn’t realize how special my mother was until I became an adult.

　　直到我长大成人后才认识到我母亲是多么的与众不同。

　　While John was watching TV, his wife was cooking.

　　当约翰在看电视的时候，他妻子在煮饭。

　　The children ran away from the orchard (果园) the moment they saw the guard.

　　孩子一看到守卫立刻从果园里跑了。

　　No sooner had I arrived home than it began to rain.

　　他们刚一到家就下起雨来了。

　　Every time I listen to your advice, I get into trouble.

　　每次我听从他的建议就会惹麻烦。

2)地点状语从句

　　常用引导词：where 

　　特殊引导词：wherever, anywhere, everywhere

　　Generally, air will be heavily polluted where there are factories.

　　一般说来，工厂多的地方 
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空气污染就严重。
　　Wherever you go, you should work hard. 无论你到哪去，都应该好好工作。

　　3)原因状语从句

　　常用引导词：because, since, as, since 

　　特殊引导词：seeing that, now that, in that, considering that, given that, considering that, inasmuch as, insomuch as 

　　My friends dislike me because I’m handsome and successful. 

　　我朋友不喜欢我的原因是我长相英俊，事业有成。

　　Now that everybody has come, let’s begin our conference.

　　既然大家都到齐了，咱们就开会吧。

　　The higher income tax is harmful in that it may discourage people from trying to earn more.

　　高额的 
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个人所得税有害之处就在于它打击了人们多挣钱的努力。
　　Considering that he is no more than 12 years old, his height of 1.80 m is quite remarkable.

　　考虑到他还不到12岁，180公分的个子算是惊人。

　　4)目的状语从句

　　常用引导词：so that, in order that

　　特殊引导词：lest, in case, for fear that，in the hope that, for the purpose that, to the end that

　　The boss asked the secretary to hurry up with the letters so that he could sign them.

　　老板让秘书抓紧写出信件这样他好签字。

　　The teacher raised his voice on purpose that the students in the back could hear more clearly. 

　　老师提高声音目的是让后排的学生能听清楚。

　　5)结果状语从句

　　常用引导词：so … that, so… that, such … that, 

　　特殊引导词：such that, to the degree that, to the extent that, to such a degree that, 

　　He got up so early that he caught the first bus. 他起的很早为的是能赶上头班车。

　　It’s such a good chance that we must not miss it. 这是一个好机会，我们不能让它溜走。

　　To such a degree was he excited that he couldn’t sleep last night.

　　他激动得昨夜都没睡好觉。

　　6)条件状语从句

　常用引导词：if, unless, 

　　特殊引导词：as/so long as, only if, providing/provided that, suppose that, in case that, on condition that 

　　We’ll start our project if the president agrees. 

　　如果总裁同意了，我们将立刻实施我们的计划。

　　You will certainly succeed so long as you keep on trying. 只要努力，你一定会成功。

　　Provided that there is no opposition, we shall hold the meeting here.

　　如果没人反对，我们就在那里举行会议。

　　7)让步状语从句

　　常用引导词：though, although, even if, even though

　　特殊引导词：as(用在让步状语从句中必须要倒装)，while ( 一般用在句首 )，no matter …, in spite of the fact that, while, whatever, whoever, wherever, whenever, however, whichever

　　Much as I respect him, I can’t agree to his proposal. 

　　尽管我很尊敬他， 我却不同意他的建议。

　　The old man always enjoys swimming even though the weather is rough.

　　即使天气很恶劣，那老人也仍然喜爱游泳。

　　No matter how hard he tried, she could not change her mind.

　　不管他如何努力，她就是不改决心。

　　He won’t listen whatever you may say. 无论你说什么他都不听。

　　8)比较状语从句

　常用引导词：as (同级比较), than (不同程度的比较)

　　特殊引导词：the more … the more … ; just as …， so…; A is to B what /as X is to Y; no … more than; not A so much as B 

　　She is as bad-tempered as her mother. 她像她母亲一样脾气暴躁。

　　The house is three times as big as ours. 这房子是我们房子的三倍大。

　　The more you exercise, the healthier you will be. 你越锻炼，身体就越健康。

　　Food is to men what oil is to machine. 食物之于人，犹如油之于机器。

　　9)方式状语从句

　　常用引导词：as, as if, how

　　特殊引导词：the way

　　When in Rome, do as the Roman do. 入乡随俗。

　　She behaved as if she were the boss. 她的举止像是个老板。

　　Sometimes we teach our children the way our parents have taught us.

　　有时候我们教导孩子就像父母当年那样教导我们。

　　四、强调句

　　一、概述

　　强调句型是语法的一项重要内容，也是考试中的一个难点。尤其是其易与名词性从句、定语从句相混淆，就更增加了难度。现结合近年来的考试试题等剖析一下强调句型的考查热点，以期有助于大家克服这一难点。

　　强调句型是：It is + 被强调部分 + that .. 。该句型是强调句型。将被强调的部分放在前面，其它部分置于that之后。被强调部分可以是主语，宾语，表语或状语。强调的主语如果是人，that可以由who换用。如果把这种句型结构划掉后，应该是一个完整无缺的句子。这也是判断强调句型与其它从句的方法。

It was on Monday night that all this happened. 所有这一切发生在周一晚上。 

　　It’s me that he blamed. 他怪的是我。

　　二、强调句型的考察热点

　　1)考查对强调句型结构的识别

　　强调句型的基本结构形式为: It is/was+被强调部分+that/who/whom +句子的其余部分。如果原句中谓语动词使用的是现在范畴的时态 (一般现在时、现在进行时、现在完成/现在完成进行时、一般将来时、将来进行时、将来完成时等), 用It is ... that ...。例如:

　　1)It is the ability to do the job________matters not where you come from or what you are. 

　　A. one B. that C. what D. it

　　【答案】B。

　　【解析】如果原句中谓语动词为过去范畴的时态 (一般过去时、过去进行时、过去完成时、过去将来时等), 则用It was ... that ...。例如:

　　2)It was between 1989 and 1999 ________ great changes took place in our hometown.

　　A. when B. that C. which D. because 

　　【答案】B。

　　2)考查强调句型的疑问句式

　　变换句型是增加试题难度的手段之一, 强调句型结构本身就让学生“有些糊涂”, 若再使用其疑问式就更有些让学生“头疼”了。

　　一般疑问句式: Is/Was it+被强调部分+that/who+句子的其余部分?

　　特殊疑问句式: 特殊疑问词+is/was it+被强调部分+that/who+句子的其余部分?

　3. Was________his illness________he didn’t go to see the film?

　　A. necessary; when B. that important of; why

　　C. even if; for D. it because of; that 

　　【答案】D 。

　　4. Was________that I saw last night at the corner?

　　A. it you B. not you C. you D. that yourself

　　【答案】A。

　　3)考查强调句型的易错点

　　强调句型的学习、掌握中有很多难点,同时也是易错点, 这些容易出错的地方,也是各种考试考查的重点和热点。这些易错点有:

　　(1) 强调时间、地点、原因状语时, 通常只使用that, 而不能使用when, where, why。

　　7. It was because of bad weather________the football match had to be put off.

　　A. so B. so that C. why D. that

　　【答案】D。

　　【解析】以上三题均为强调句型, 分别强调时间状语(only when I reread his poems recently)、地点状语 (in Qingdao) 和原因状语 (because of bad weather), 均只能使用that。

　　(2) 当被强调的是not .. until句型时, 应将not置于until之前, 主句由否定句改为肯定句。

　　8. It was not until 1920________regular radio broadcast began.

　　A. while B. which C. that D. since

　【答案】C。

　　(3)强调主语时, 谓语动词应与之保持一致。 

　　【误】 It is I who/ that is going to be sent there to help them.

　　【正】 It is I who/ that am going to be sent there to help them.

　　4) 强调主语或宾语且其为人称代词时, 应注意其形式，仍用主格或宾格形式。

　　【误】It was her that told me about it.

　　【正】It was she that told me about it.

　　【误】It is I who the teacher has punished.

　　【正】It is me whom the teacher has punished.

　　4)考查强调句型与相关句型的辨析

　　强调句型极易与定语从句、名词性从句、状语从句等相关句型混淆, 故考试也常考查这方面的内容。例如:

　　A. 与定语从句的辨析

　　9. Was it during the Second World War________he died?

　　A. that B. while C. in which D. then 

　　【答案】A。

　　【解析】本题易错选C, 以为是定语从句修饰the Second World War。该题可还原为: He died during the Second World War.

　　B. 与名词性从句的辨析

　　10. It was ________ he said ________ disappointed me.

　　A. what; that B. that; that C. what; what D. that; what

【答案】A。

　　【解析】本题同时考查强调句型和名词性从句这两个知识点,学生易错选C,认为两处均为名词性从句。该题可还原为: What he said disappointed me.

　　C. 与状语从句的辨析

　　11. It was about 600 years ago________the first clock with an hour hand was made.

　　A. that B. until C. before D. when

　　【答案】A。

　　【解析】本题易错选C和D,认为是时间状语从句或定语从句。判断是否强调句型的一个简易方法是“还原法”, 即看其能否删除"It is/was...(that/who/whom)..."部分后还原为一个单句。能者则是,不能者则不是。该题可还原为: The first clock with a face and an hour hand was made about 600 years ago.

　　D. 与there be句型的辨析

　　12. ________is no possibility________Bob can win the first prize in the match. 

　　A. There; that B. It; that C. There; whether D. It; whether A

　　【答案】A。

　　【解析】本题为there be句型,而非强调句型。that引导的为同位语从句, 作possibility的同位语。

　　五、平行结构

　　一、连词连接两个对等的词和对等的结构 

　　并列连词and, but, as well as, or, or else, both … and, neither … nor, either … or, not only … but (also), rather than等以及从属连词than可连接两个对等的词和对等的结构。当上述并列连词连接两项或多项对等成分时，这些成分必须同词性、同形式。特别注意出现三项以上(含三项)的并列成分，多是考试焦点。

　　1. 所连接的谓语形式必须一致 

　　He went downtown, bought some books and visited his daughter. 

　　Gunpowder was discovered in the twelfth century, but not used in warfare until two hundred years later. 

　　2. 所连接的词或短语形式必须一致 

　　Your semester grade is based not only on how well you do on each test, but also on how you participate in class. 

　　We often go to the countryside as well as to factories. 

　　I would much rather go to the countryside than stay here. 

　　3. 连接的非谓语动词的形式必须一致 

　　Some find swimming more enjoyable than sitting at home reading. 

　　He was engaged in writing a letter rather than reading the newspaper. 

　　4. 所连接的句子结构必须一致 

　　She is pleased with what you have given and all that you have told him. 

　　The purpose of the research had a more different meaning for them than it did for us. 

　　二、某些特定的固定结构。 

　　(1) 有些词后要用平行结构。例如：prefer sth to sth, prefer doing sth to doing sth, prefer to do sth rather than do sth。如：

　　I prefer rice to noodles. 

　　I prefer watching TV to listening to music. 

He preferred to die rather than surrender. 

　　(2)有些结构中要用平行结构。例如：would / had rather / sooner do something than do something, would / had as soon do something as do something (宁可……也不……) 

　　Liu Hulan said she had rather die than give up. 

　　I would as soon stay at home as go. 

　　(3)比较级句型要求对比双方结构对等，比较范围相当。如：

　　Probably no man had more effcet on the daily lives of most people in the United States ------- Henry Ford. A pioneer in automobile production.

　　A. as was B. than was C. than did D. as did (92.8)

　　[答案] C 比较句型 more…than 要求比较的双方结构相等。前项是实义动词的过去时形式had，故选(C)than did与之平行。

　　The annual worth of Utah’s manufacturing is greater than-------

　　A. that of its mining and farming combined B. mining and farming combination 

　　C. that mining and farming combined D. of its combination mining and farming 

　　[答案] A 此句比较的是utah的年产值(the annual worth) (A)中that即代替了the annual worth，故前后比较的范围，内容一致。

　　三、What … is / was … 结构常用来强调主语或宾语，在这种结构中，is/ was后面是强调的部分。例如： 

　　What hurts is my left leg. 

　　What I like is her style.

　　六、句法结构强化练习

　　1. ___________ is still a controversial issue.
A. If he is the right person for the job B. That he is the right person for the job
　　C. Whether he is the right person for the job D. He is the right person for the job
　　2. They talked about things and persons ____ they remembered in the school. 

　　A. who B. which C. that D. what

　　3. The Latin class had twenty students, ____ had had much better language training than I. 

　　A. most of which B. which C. most of them D. most of whom

　　4. The establishment of the company shall start from the day ____ the business license of the company is issued. 

　　A. which B. on which C. in which  D. whenever 
　　5. You ________ me because I didn't say that. 

　　A. must misunderstand B. must be misunderstanding

　　C. must have misunderstood D. had to misunderstand

　　6. Hardly had the minister finished his statement ___________ several reporters raised their hands and put forward a string of questions. 

　　A. when B. as C. then D. than 

　　7. ___________the letter, I ran out of the room to the post office. 
　　A. After I had finished for B. No sooner that I had finished up 
　　C. As soon as I finished writing D. Since I finished up to write 

　　8. California’s agricultural supremacy dates from 1947. When its farm output first ________ any other state.

　A. that exceeded B. exceeded that

　　C. exceeded that of D.that exceeded of 

　　9. Thomas Jefferson’s achievements as an architect rival his contributions ________ a politician.

　　A.such B. more C. as D. than 

　　10. The less the surface of the ground yields to the weight of the body of a runner, ------- to the body.

　　A. the stress it is greater B. greater is the stress

　　C. greater stress is D. the greater the stress 

　　七、句法结构练习详解

　　1.【答案】C。
　　【解析】A. if引导条件状语从句，不合题意；B. that引导名词从句，但“that”是引导词，不做任何成分，此句意思肯定，即“他是工作的合适人选”与后面的“controversial”相矛盾；C. whether 引导名词从句，“是否”，合乎题意；D. 是B句中 “that” 的省略，也不对。
　　2.【答案】C。 

　　【解析】 定语从句中的关系代词 that常用于下列几种情况：1)先行词中含有人和物 时；2)先行词为anything, everything, all等不定代词；3)先行词被any, no, every, little, much所修饰；4)先行词被序数词所修饰时；5)先行词被形容词最高级所修饰时。 

　　3.【答案】D。 

　　【解析】当非限定性从句修饰物时，应该用 which引导从句,但当其修饰人时，应该用 who,whom或whose。A和B选项不符合此原则。C选项前应改为句号才对。 

　　4.【答案】B。 

　　【解析】这是个主从复合句，从句需要一个含 day在内的时间状语，特指的一天，其前应用介词on。

　　5.【答案】C。 

　　【解析】must+have+过去分词：表示对过去发生的事情的有把握的肯定猜测。must+动词原形：表示对现在发生的事情的猜测。must+be+doing：表示对现在正进行的动作或在此刻前一直在进行的动作的猜测。 

　　6.【答案】A。 

　　【解析】Hardly…when是固定关联词组,意为 “一……就……” 类似的有: scarlely…when, no sooner…than, 因此正确答案为A。

　　7.【答案】C。

　　【解析】finish为及物动词，往往后边直接跟名词、代词或动名词，表示做完某项事或完成某项动作，故此句只有选C正确。此外，即使使用no sooner，但如果置于句首，谓语也必须倒装。因此本题答案为C。

　　8.【答案】C。

　　【解析】动词exceeded (超过)要求比较的内容相当。C. 代词that用以指代比较的内容 “farm output”。

　　9.【答案】C。

　　【解析】动词rival (比得上)要求比较二项结构相等。

　　10.【答案】D。

　　【解析】The less the surface 与答案D. the greater the stress 是完全对等的结构。

　　六、词汇、语法综合测验80题

　　1. He just cannot _____ to the different life style here in America.

　　A. alter B. modify C. adapt D. adopt

　2. The tourist will be prevented from entering a country if he does not have ______ passport.
　　A. an operative B. a valid  C. an efficient D. an effective
　　3. The English language contains a(n)________of words which are comparatively seldom used in ordinary conversation.
　　A. altitude B. latitude  C. multitude D. attitude
　　4. So forcefully _______ that we were all convinced.
　　A. he did speak  B. he spoke  C. did he speak  D. that he spoke
　　5. The only thing _______ really matters to the children is how soon they can return to their aunt and uncle’s farm.
　　A. that B. what  C. which D. this
　　6. Though she is getting on in years, she still has a ________ fear of the dark.
　　A. childlike B. childish  C. naive D. juvenile
　　7. Some old people don’t like pop songs because they can’t ________ so much noise.
　　A. resist B. sustain  C. tolerate D. undergo
　　8. Although he had looked through all the reference material on the subject, he still found it hard to understand this point and her explanation only ________ to his confusion.
　　A. extended B. amounted  C. added D. turned
　　9. Who is a ________ personnel at present? 
　　A. in the charge of  B. under charge of  C. under the charge of  D. in charge of10. American women were ______ the right to vote until 1920 after many years of hard struggle.
　　A. ignored B. neglected  C. refused D. denied 
　　11. All imported wine were made to pay heavy _________. 
　　A. fees B. duties C. prices D. money
　　12. The flight was supposed to take off at nine o’clock but __________ we had to wait until ten.
　　A. in effect B. for result C. for an end D. on purpose
　　13. ________ difficult it is to surmount the obstacles, we’re bound to achieve our goal.
　　A. As B. How C. So D. However
　　14. If you _______ my advice, you ________ your failure now. You _______ your victory.
　　A. took ... wouldn’t cry over ... would celebrate
　　B. had taken ... wouldn’t have cried over ... would have celebrated
　　C. had taken ... aren’t crying over ... are celebrating
　　D.had taken ... wouldn’t be crying over ... would be celebrating

　　15. He has won the first place, _______ is clear from the expressions on his face.
　　A. that B. as C. what D. when
　　16. His response was _______ that he didn’t say yes and he didn’t say no.
　　A. so B. what C. what D. such
　17. Little kids are OK most of the time. But sometimes can become a real _______. 
　　A. difficulty B. nuisance C. worry D. anxiety
　　18. His downfall is ____ to other factors than this.
　　A. contributable B. attributable C. deducible D. responsible
　　19. I think you should go to see a doctor, who may ____ to you proper medicine so that you can recover faster.
　　A. prescribe B. subscribe C. submit D. prohibit
　　20. It pains us to see that our environment is ________. 
　　A. degenerating B. deteriorating C. declining D. depressing
　　21. The age of the students in this class _______ from eighteen to twenty.
　　A. changes B. alters C. ranges D. limits
　　22. After finishing the paper, he _______ himself to have a good rest.
　　A. extended B. stretched C. spread D. reached
　　23. They talked about things and persons ________ they remembered in the school. 

　　A. who B. which C. that D. what

　　24. The conversation was so interesting that we were ________ of the lateness of the hour. 

　　A. negligible B. inattentive C. irrelevant D. oblivious

　　25. People usually ______ certain foods by keeping them in a refrigerator or freezer. 

　A. store B. hold C. keep D. preserve

　　26. He wondered ________. 

　　A. what would his wife’s reaction be B. how would be his wife’s reaction

　　C. what will be his wife’s reaction D. what his wife’s reaction would be

　　27. ______ I like the colour of the hat, I do not like its shape.

　　A. While B. If C. When D. Because

　　28. Did he tell you what ________ if he had a chance?

　　A. was he going to do B. he would do C. be had done D. had to do

　　29. I’d rather you ______ make any comment on the issue for the time being. 
　　A. don’t B. wouldn’t C. didn’t D. shouldn’t

　　30. All things _______, the planned trip will have to be called off.

　　A. considered B. be considered C. considering D. having considered

　　31. He was a man of fine character in all points _______ he was rather timid.

　　A. except for B. except that C. but for D. but
　　32. How can you be _______ to the suffering of starving people?

　　A. indifferent B. inevitable C. peculiar D. vigorous

　　33. The closure of the large factory made many workers live in _______.

　　A. inability B. laziness C. idleness D. property

　　34. ______ that it was made into a film.

　　A. So great the success of the book was B. So successful the book was

　C. So the book was successful D. So great was the success of the book

　　35. Unless economic conditions improve next year, _______ widespread unrest in the United States.
　　A. there will be B. there would be C. there should be D. there is 
　　36. Francis Preston Blair, Jr._______ born in Kentucky,lived and practiced law in Missouri.
　　A. was B. he was C. although D. who he was
　　37. The government has decreed that the gasoline tax _______. 
　　A. is to be abolished B. should abolishC. were abolished D. be abolished
　　38. There was a terrible noise ________ the sudden burst of light.

　　A. followedB. followingC. to be followedD. being followed 

　　39. ______, liquids can be changed into gases. 

　　A. HeatingB. To be heatedC. HeatedD. Heat 

　　40. ______ a reply, he decided to write again.

　　A. Not receiving　　B. Receiving notC. Not having receivedD. Having not received　　

　　41. The tutor asked his students to leave a wide ________ when typing their essays.
　　A. border B. column C. surrounding D. margin
　　42. I picked up the apples, _______ were badly bruised.
　　A. some which B. some C. some of those D. some of which

　　43. He was appointed on the ______ of the commander.
A. recommendation B. approval C. signature D. protection

　　44. _______ been asked to sing an English song.
　　A. Never before have I B. Before have I never C. Have never I D. I never have

　　45. _____ is no reason for discharging him.
　　A. Owing to a few minutes being late B. Due to a few minutes late

　　C. Because be was a few minutes late D. The fact that he was a few minutes late

　　46. She has made _______ of a name for herself in the world of tennis.
　　A. anybody B. something C. somebody D. sometimes

　　47. Why is ________ you are so late for the class?
　　A. it that B. that is C. it D. that

　　48. ______ would welcome such a chance..
　　A. Many man B. A many men C. Many a man D. Many a men

　　49. Between 1974 and 1997，the number of overseas visitors expanded _______ 27%.

　　A. by B. for C. to D. in

　　50. Some women ______ a good salary in a job instead of staying home，but they decided not to work for the sake of the family.

　　A. must make B. should have made C. would make D. could have made 

　　51. His watch _______. I’ll go and call him.

　　A. must be stopped B. was to be stopped　

　C. stopped D. must haven stopped

　　52. Cars moved very slowly in the 1930s, but they ____ move more quickly than in the 1920s.
　　A. were to B. did C. will D. can
　　53. Many a time _______ not to play with fire but he turns a deaf ear to the warnings.
　　A. the child being told B. the child has been told
　　C. has been told the child D. has the child been told
　　54. The innocent young man was ________ of robbing the bank.
　　A. sentenced B. charged C. accused D. punished
　　55. People should behave ________ on such a solemn occasion.
　　A. respectedly B. respectfully C. respectingly D. respectively
　　56. Some areas, _______ their severe weather conditions, are hardly populated.
　　A. due to B. with regard to C. but for D. in spite of
　　57. I ______ at home to look after my sick mother.

　　A.can’t help stay B.can’t help staying

　　C.cannot help but stay D.cannot help but staying

　　58. If this kind of animal becomes _______, our future generation won’t even have a chance to see it.
　　A. little B. scarce C. rare D. short
　　59. I take it for granted that he must be sentenced________. 
　A. to die B. death C. to death D. dead
　　60. ______ is still a controversial issue.
　　A. If he is the right person for the job B. That he is the right person for the job
　　C. Whether he is the right person for the job D. He is the right person for the job
　　61. Though badly damaged by fire, the palace was eventually ______ to its original splendour.

　　A.repaired B.renewed C.restored D.renovated

　　62. I don’t think I know the girl with long hair although she ________ me of someone I know.

　　A.remembers B.recalls C.suggests D.reminds

　　63. ________ their suggestions, we will discuss them fully at the next meeting.

　　A.In regard for B.In regard to C.With regard of D.Regardless for

　　64. I found myself completely _______ by his vivid performance.

　　A.carried out B.carried off C.carried away D.carried on

　　65. _______ these changes we must revise our plan.

　　A.In the course of B.In the light of C.In spite of D.In addition to

　　66. A cold is nothing to you _______ it is merely a cold; but it sometimes becomes a danger.

　　A.no matter B.as well as C.so long as D.so far as

　　67. The seeing-eye dog was the blind man’s _______ companion.

　A.continual B.consistent C.constant D.continuous

　　68. Sally’s score on the exam is the lowest in the class. She _______ hard.

　　A.should have studied B.must have to study

　　C.must have studied D.needn’t have studied

　　69. In his poems, he compared his little daughter ______ a flower.

　　A.by B.to C.for D.as

　　70. Mr Brown is a ______ old man and all his neighbours are _______ to him.

　　A. respectful…respectable B. respectable…respective

　　C. respectable…respectful D. respective…respectable

　　71. So frightened _______ in darkness that she did not dare to move an inch. 

　　A. was the girl B. the girl was C. such a girl was D. that the girl was 

　　72. The potato crop of 1946 was _______ that of 1945. 

　　A. superior than B. superior to C. more superior to D. more superior than 

　　73. ______, the more necessary it is to break it up into a number of parts which the reader can visualize. 

　　A. The more complex a subject becomes B. The more becomes a subject complex 

　　C. A subject becomes the more complex D. The more subjects become essential 

　　74. I wish Bill would drive us to the train station but he has _______ to take us all. 

　　A. very small a car B. too small a car C. a too small car D. such a small car 

　　75. Anyone who has spent time with children is aware of the difference in the way boys and girls respond to ____ situation.
　　A. similar B. alike  C. same D. likely
　　76. The boy slipped out of the room and headed for the swimming pool with out his parents’______.  A. command B. conviction  C. consent D. compromise
　　77. Too much _______ to X-rays can cause skin burns , cancer of other damage to the body.
　　A. disclosure B. exhibition  C. contact D. exposure
　　78. _______ you may be right, I can’t altogether agree.
　　A. As B. While C. If D. Since

　　79. If he had visited me in Beijing, I _______ him to see the sights.
　　A. had taken B. will take  C. would take D. would have taken
　　80. ______, the book has many mistakes.
　　A. Having not been written carefully  B. Not writing carefully
　　C. Having written not carefully  D. Not having been written carefully

　　七、综合测验80题详解

　　1.【答案】C。

　　【解析】alter表示“改变，改装，修改”,名词为alteration；modify表示“修改，修饰”，名词为modification；adapt表示 “使适应，改编”，名词为adaptation；adopt表示“采纳，收养”，名词为adoption。

　　2.【答案】B。

　　【解析】valid是法律用，表示“有效的，正当的”。operative表示“有效果的，能运转的”。efficient表示“能干的，生效的，”强调效率高。effective表示“有效果的，被实施的”，强调有效性。

　3.【答案】C。

　　【解析】multitude表示“大量，多数”；altitude 表示“高度，海拔”；latitude表示“纬度”；attitude表示“态度，姿态”。

　　4.【答案】C。

　　【解析】在so...that...结构中，如果把so 置于句首，主句则要求用倒装语序。such...that...的结构用法与so...that...相同。此外，否定词及含否定意义的词如little, few等放于句首，句子也用倒装结构。如Little does he be know about it, 他对此几乎一无所知。

　　5.【答案】A。

　　【解析】此句从句为定语从句，可有两个关系代词，即that 和which，但主句中先行词受到only的修饰，因此只能选A。

　　6.【答案】B。

　　【解析】childlike指像孩子一样天真的， 诚实的，中性词； childish指孩子所特有的，幼稚的，傻气的，带贬义； naive指天真的，幼稚的；朴素的，朴实的，褒义词； juvenile指青少年特有的，适合青少年的，中性词。

　　7.【答案】C。

　　【解析】resist指抵抗，反抗，对抗，抵制，抗拒(一些不好的东西，并带有强烈的感情色彩)；sustain指支撑，承受住；忍受，经得住(不好的东西，如：打击，考验等)；tolerate指忍受，宽恕，默认(不好的东西的存在)；undergo指经历，经受，忍受，强调过程。
　　8.【答案】C。

　　【解析】此处四个词均可与介词to搭配， 但搭配后的意义完全不同，extend to指延伸至；amount to指合计，总共达；相当于，等于；add to指增添，做加法；turn to指转向某人寻求帮助，只有add to符合题意。

　　9.【答案】D。

【解析】in the charge of指在某人的掌管、控制下，后跟人，此人为主控；under charge of同under the charge of指在某人的掌管(看管)下，后跟人，此人为主控；in charge of主管，掌管，看管，后跟物。此处personnel(人事部)为一个部门，因此答案为in charge of。

　　10.【答案】D。

　　【解析】ignore不顾，忽视；neglect不被重视；忽视；refuse拒绝；deny拒绝给与。根据句意：妇女的选举权不是被忽视，而是被剥夺，故排除A、B；refuse常用的结构

　　是：refuse to do，不符合本题。deny相当于refuse to give，后面常接双宾语。四个选项中只有D正确。
　　11.【答案】B。

　　【解析】fee费，尤指学费、会费等；duty税，尤指海关所收取的进口税等。此处要尤其注意duty一词的这个特殊含义。

　　12.【答案】A。

　　【解析】in effect实际上；on purpose故意。result常用于as a result(结果)短语中；end常用于in the end(最终地；终于)短语中。

　　13.【答案】D。

　　【解析】A. as 引导让步状语从句时，将从句的补语或状语置于句首，如“Difficult as it is to…”，B. how “多么地”，引导感叹句；C. so表示“因此，因而”；D. however “无论如何，不管怎样”，根据句意，D正确。

　　14.【答案】D。

　　【解析】当主句与从句时态不一致时，主句与从句分别使用与各自时态相应的虚拟语气。此句中从句与过去事实相反，主句与现在事实相反，因而选项D正确。

　　15.【答案】B。

　　【解析】此句是定语从句，关系代词代的是前面整个句子，即“He has won the 1st place.”四个选项中C、D都不是关系代词，选项A虽是关系代词，但不引导非限制性关系分句。
　　16.【答案】D。

　　【解析】句子中包含结果状语从句。such 后可直接跟that分句表示结构，这时such 是代词，一般用于主系表结构中。例如：His diligence was such that he made great progress.

　　17.【答案】B。

　　【解析】A. difficulty 困境，困难；B. nuisance 讨厌的(事、物、人…)；C. worry 担忧，烦恼;D. anxiety 焦虑，担心。根据句义，选项B正确。

　　18.【答案】B。

　　【解析】A. contributable 值得奉献的；B. attributable 可归属的，常有be～to 可归因于…；C. deducible 可推断的；D. responsible 负责任的，常有be～for sth. 对…负责任。根据句义，选项B正确。

　　19.【答案】A。

　　【解析】A. prescribe 开处方，开药方；B. subscribe 签署；订阅；subscribe to an opinion 同意某一意见；C. submit 使服从，使受到，呈送，提交；subject to…甘受，屈服；D. prohibit 禁止 prohibit sb. from doing sth. 禁止某人做某事，根据句义，选项A正确。

　　20.【答案】B。

　　【解析】A. degenerate 堕落，蜕化，退化(into); B. deteriorate 恶化；变质；C. decline 衰退，衰落；下降；D. depress 使萧条，使沮丧。根据句子，选项B正确。
　　21.【答案】C。

　　【解析】A. change (发生)变化，改变；B. alter 变样，改变；C. range (在一定范围内)变动，变化，常有range from…to…；D. limit 限制，限定，根据句子，选项C正确。
　22.【答案】B。

　　【解析】stretch oneself，固定搭配，意为“伸直身子，伸懒腰”；故为正确答案。

　　23.【答案】C。

　　【解析】定语从句中的关系代词 that常用于下列几种情况：1)先行词中含有人和物时； 2)先行词为anything, everything, all等不定代词；3)先行词被any, no, every, little, much所修饰；4)先行词被序数词所修饰时；5)先行词被形容词最高级所修饰时。

　　24.【答案】D。 

　　【解析】negligible无关重要的；inattentive不注意的，忽视的，指不能将注意力集中在某一点上；irrelevant不相干的，无关的；oblivious忘记的，不注意的，由于深思、没有注意到而忘记的，忽略了的。

　　25.【答案】D。 

　　【解析】store储存，指储存起来以便以后使用；hold 保持，指某一物体保持在某一位置或状态；keep保持，指把某物保持一段时间；preserve保存，保藏，指安全地保存好某物或保存某物不使其被用完。

　　26.【答案】D。

　　【解析】宾语从句中要用陈述句语序，所以只能选D。

　　27.【答案】A。

　　【解析】 while在这里的意思是although (虽然)。除此之外while 作连词还可以表示“当……时候”, 或 “而(whereas)”。

　　28.【答案】B。

　　【解析】在tell you的后面是一个宾语从句，而在这个宾语从句中用的是过去将来时；第二，在从句中一切句子结构都必须采用陈述句序，而不能使用倒装句。明白这两点就不难做出正确选择了。

　　29.【答案】C。

【解析】本题测试 “would rather” 的用法。句中的 “would rather” 要求从句中使用 过去式，故C正确。

　　30.【答案】A。

　　【解析】句中空格后没有宾语，consider为及物动词，可先排除C，D两项。B项为动词原形，只能用在虚拟句中。A项为过去分词，构成独立结构，正确。

　　31.【答案】B。

　　【解析】except for+名词或名词性短语，except that+从 句；but for+名词或名词性短语，but that+从句，因此选B。

　　32.【答案】A。

　　【解析】indifferent不感兴趣，漠不关心，惯用法：be indifferent to sth./sb., inevitable不可避免的；peculiar独特的，特有的，惯用搭配为：be peculiar to; vigorous强有力的，精力充沛的。根据句意分析，正确答案为A。

　　33.【答案】C。

　　【解析】inability无能, 无力量；laziness懒惰；idleness空闲，闲散；property财产。根据句意分析，正确答案为C。

　　34.【答案】D。

　　【解析】so great提前，句子部分倒装，因此选D。

　　35.【答案】A 

　　【解析】unless 引导条件状语从句，从句中用一般现在时表示将来，因此主句用一般将来时。

　　36.【答案】C。

　　【解析】省略了he was。

　　37.【答案】D 

【解析】deree后边由that引导的宾语从句用虚拟语气，“(should)+动词。宾语从句中主语 gasoline tax 和“废除”应是被动关系，故应用动词的被动语态。据以上分析，D.符合要求是正确答案。

　　38.【答案】B。

　　【解析】由于声音在闪电后，因此为声跟随着光，声音为跟随的发出者，为主动。用现在分词。

　　39.【答案】C。

　　【解析】现在分词表主动，正在进行的；过去分词表被动的，已经完成的。对于液体来说是加热的受动者，是被动的，因而选C。它相当于一个状语从句 When it is heated，…

　　40.【答案】C。

　　【解析】根据题意判断，分词的动作(接信)发生在谓语动词的动作(决心再写信)之前，因此用分词的完成式。分词的否定式的构成为not +分词，故选C。该句可理解为：Because he had not received a reply, he decided to write again.

　　41.【答案】D。

　　【解析】margin页边空白；border边界；column栏目；surrounding周围。故D为正确答案。

　　42.【答案】D。

　　【解析】some of which 意为 “其中的一些……” 引导的定语从句修饰apples，对其补充说明。

　　43.【答案】A。

　　【解析】recommendation 推荐，介绍，on the recommendation of (sb)由(某人)推荐。B.approval赞同，认可，with the approval of ...经……批准，得到……的赞同。C.signature 签字，署名。D.protection 保护，保卫。

　　44.【答案】A。

【解析】B.Before have I never 不能用倒装语序，排除。C.Have never I, 语序错误。D.I never have,never位置错误。A.Never before have I, 否定副词never置于句首，句子语序倒装，结构正确，为正确答案。
　　45.【答案】D。

　　【解析】根据句子结构分析，此处应填入可作主语的词、短语或从句。A.为现在分词短语，可作原因状语，但不可作主语。B.中due to 引导的短语，可作句子的表语及原因状语，不可做主语。C.中because 引起的原因状语从句，不可引导主语从句。D中的中心词是 fact，名词可做主语，that引导一个同位语从句解释说fact。用于此处符合要求，因此D项是正确答案。

　　46.【答案】C。

　　【解析】make somebody of a name for (someone)使某人成名。anybody用于否定句中，其它两项均无此搭配。而something of 表示“有点(成分)”。

　　47.【答案】A。

　　【解析】A。it that, it作句子形式主语。

　　48.【答案】C。

　　【解析】C。Many a man 很多人。many a+可数名词单数形式，表示很多，结构正确，是答案。A. Many man, many后应接可数名词复数形式。B. A many man 结构错误 D. Many a men, many a 后不能用复数形式。

　　49.【答案】A。

　　【解析】介词by 表示“增加了”，而介词to则表示“增加到”，由句意可得知应该是A选项正确。

　　50.【答案】D。

　　【解析】目的是考察情态动词+完成时的结构：情态动词could+have done表示对过去所发生的事“能够”；而should+have done的结构表示对过去应该完成而未完成的事批评、指责等意义。

　51.【答案】D。

　　【解析】考点为属于情态动词+完成时的结构，表示对过去发生的动作进行推测、怀疑、肯定等意义。

　　52.【答案】B。

　　【解析】考点为强调句型。谓语的强调使用的是do+动词原形，B为正确答案。其它三项从语法和意义方面讲都不符合本题：were to表示的是过去将来时；will表示的是一般将来时；can通常表示现在的一种情况。

　　53.【答案】D。

　　【解析】此句中“but”是并列连词，连结两个并列句，因而“but”前面应是一个分句，选项A可排除。状语 “many a time” 放在句首，句子要倒装。选项D是正确的。

　　54.【答案】C。

　　【解析】A. sentence 宣判，判决，常用短语“be sentenced to… “被判处…”；B. charge 控告，指控，短语be charged with…“指控为…”；C. accuse 指挥，指责，短语accuse sb. of…“指控某人某罪”；D. punish 惩罚，只有选项C与介词of连用，表示指控。

　　55.【答案】B。

　　【解析】respectedly 来源于“respected”，不常用；respectfully表示“恭敬地，尊敬地”；respectingly 可能来源于“respecting”，不常用；respectively 各自地，分别地。选项B合乎句意。

　　56.【答案】A。

　　【解析】due to由于，应归于；with regard to关于；but for要不是，起连词的作用；in spite of不管。题中所涉及的是原因，A为正确答案。
　　57.【答案】C。

　　【解析】cannot help doing禁不住，为固定搭配：cannot help but do sth.不得不做……，为固定搭配。根据句意可知C为正确答案。

　58.【答案】B。

　　【解析】A. little 少，不多的，与much相对，倾向于否定；B. scarce “稀有的，稀少的”；常指物质的缺少，含有从前多，现在变为稀少之义；C. rare “稀少的，罕有的”指不常见、稀有难得的东西，常含有珍贵的意味；D. short 短缺，不足的。根据句义，选项B正确。

　　59.【答案】C。

　　【解析】be sentenced to death为固定搭配，意为“被宣判死刑”。故C为正确答案。

　　60.【答案】C。

　　【解析】A. if引导条件状语从句，不合题意；B. that引导名词从句，但“that”是引导词，不做任何成分，此句意思肯定，即 “他是工作的合适人选” 与后面的 “controversial” 相矛盾；C. whether 引导名词从句，“是否”，合乎题意；D. 是B句中“that”的省略，也不对。
　　61.【答案】C。

　　【解析】restore恢复(健康)；复职；(把建筑物，家俱、艺术品等)恢复原状。A. repaire修理，不能与建筑物搭配使用。B. renew更换；更新，只可表示精力的恢复，或更换旧物，而不是使原来的东西改变面貌。D. renovate翻新；修理；强调在原有的基础上进行改造，使之面貌一新。但renovate不能和表达到某一程度的介词“to”搭配，而restore常与介词“to”搭配使用，所以C为正确选项。

　　62.【答案】D。

　　【解析】remind使回想起；提醒，常用于“remind sb.of sth. 使某人回想起……”结构中。A. remember记住，记得。B. recall回想起。C. suggest建议；表明。A、B、C项均不能用于…sb. of sth.结构中。 

　　63.【答案】B。

　　【解析】in regard to /of 关于……，为固定搭配，所以A在形式上就不成立。with regard to 也可以表示“关于……”，但不能用介词“of”来代替“to”，因此可以排除C。regardless of 不注意，不关心；不顾：regardless of wind or rain风雨无阻。所以D项在搭配上也不正确。

　　64.【答案】C。

　　【解析】carry away 吸引住；使激动得失去控制，多用于被动语态：He was carried away by his success.他被成功冲晕了头脑。A. carry out执行；完成；实现。B. carry off 拿走，夺走。D. carry on 继续，进行。

　　65.【答案】B。

　　【解析】in the light of 鉴于；根据：take actions in the light of actual situations根据实际情况采取行动。A. in the course of 在……期间，在……过程中的。C. in spite of 不顾。D. in addition to 除……之外，相当于besides。

　　66.【答案】C。

　　【解析】so long as只要……，用作连词，正符合句意。A. no matter一般不单独使用，而应与what, which, when, where等疑问副词连用，表示“无论……”。B. as well as 也，又：He is kind as well as generous.他既善良又大方。D. so far as 远到，至于：so far as I know就我所知。

　　67.【答案】C。

　　【解析】constant永恒的，忠实的。A.continual连续的；不间断的。B.consistent(人，行为)一致的；经常的；一贯的。D.continuous持续不断的。从题意中可看出“companion(伴侣)”是“忠实的”。

　　68.【答案】A。

　　【解析】实际情况是莎莉成绩最差，那么说明她以前没认真学习。用“should+完成时态”表示过去应该做而没有做到的情况。

　　69.【答案】B。

　　【解析】此题“compare”为关键词，常用于“compare A to B(把A比喻成B)”结构中，或“compare A with B(比较A和B)”结构中，故B为正确选项。

　70.【答案】C。

　　【解析】respectful尊敬人的; respectable受人尊敬的, 值得人尊敬的; respective个别的;responsible有责任的。此句意为 “布朗先生是一位值得尊敬的老人,邻居们都很尊他。” 显然C是正确的。

　　71.【答案】A。

　　【解析】以副词so, often, always, then, now等开头的句子要用倒装词序。

　　72.【答案】B。 

　　【解析】be superior to比……好，比……优越，意同be better than。-or是拉丁语形容词比较级词尾，带此尾的形容词因已经是比较级，故其前不需再加more构成比较级。除superior外，带此尾的形容词还有：inferior to (比……)差的；junior年小的；senior年长的；prior较先的；major较大的；minor较小的等。带-or的形容词用于结构：形容词+(i)or+to…，其中的to相当于英语中的than。

　　73.【答案】A。 

　　【解析】表示“越……越……”, 用比较级句式：the+比较级…the+比较级…。注意：当比较级修饰名词、形容词或副词时，这些名词、形容词或副词要一起移到前面去。根据此原则，A正确。 

　　74.【答案】B。 

　　【解析】too后接形容词和名词时,名词前必须有不定冠词, 这一结构的词序为: too+adj.+a/an+n.如: how strange a person, so warm a day因此, A, C词序不对; D项单独看是正确的,但与后面的to搭配时, 与转折连词but无逻辑联系。

　　75.【答案】A。

　　【解析】similar表示“相似的，相同的”。alike表示“相同的，相像的”，只能作句子的表语，不能作定语修饰名词。same表示“相同，完全一致，没有差别的”，需与the连用。likely表示“似真的，可能的，有希望的”，不合句意。

　　76.【答案】C。

　【解析】consent表示 “同意，允诺，赞成”；command表示 “命令，指挥，指令”；conviction表示 “确信，确定”；compromise表示 “妥协，让步”。

　　77.【答案】D。

　　【解析】exposure表示“暴露，裸露”。如受……的照射，不加防护地接触 
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病毒、污染等。disclosure表示“揭发，揭露”。exhibition表示“展示，展现”，指正式的展览。contact表示“接触，触摸”。
　　78.【答案】B。

　　【解析】根据本句中两个分句的意思关系，可以推断出两者是转折关系。as和since在此处，while相当于although。as作“尽管，虽然”之意，只能用于倒装句型中。

　　79.【答案】D。

　　【解析】此题中，从句时态为过去完成时，主句时态应为过去将来完成时，即would have taken，其他选项均不符合虚拟语气中的时态的要求。

　　80.【答案】D。

　　【解析】句子的逻辑主语为书，它与动词写之间的关系为动宾关系，因此分词应为被动态，可先排除答案B，A和C形式上对了，但语序错了，not修饰分词时应放在分词的前

as与which引导非限制性定语从句的区别
 

这类定语从句只能由 which 或 as 引导。两者之间的区别在于：
1. which 引导的定语从句只能位于主句后，但as引导的从句可位于主句前、中、后。如：
David, as you know, is a photograopher. 戴维是个摄影师，你是知道的。(不可用which)

Li Ming is late, as is often the case. 李明迟到了，这事是经常发生的。(不可用which)

2. as在定语从句中作主语时，从句谓语通常要有be或别的系动词，但which不受此限制。如：
Li Ming was late, which (=and this) made Mr. Zhang very angry. 李明迟到了，这件事使张先生非常生气。(不可用as)

3. as 引导的定语从句只表示一个众所周知或意料之中的事，但 which 不受此限制。如：
He married her, which was unexpected. 他和她结婚了，这是出乎意料的。(不可用as)

4. as有“正如”之意，而which则意为“这(件事，一点)”，可用and this/that/it来代替。
5. as多用于固定搭配中：as is often the case(这是常有的事)，as was expected(不出所料)，as often happens(正如经常发生的那样)，as is known to all(众所周知)，as has been said before(如上所述)，as is mentioned above(正如上面所提到的)等。
注：which 代表整个句子，还可用于in which case, at which point, on which occasion等。如：
I may have to work late, in which case I’ll telephone you. 我可能得晚点下班，那样我会给你打电话的。
引用地址: [image: image4.png]
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与独立主格：短语，句子（或者句子，短语）
1.当短语部分有独立主语，并且该主语不同于句子主语，这时短语结构称为独立主格。（它最明显的特点是短语部分有独立的主语）。
独立主格的结构1：名词（代词）+ 分词 [现在分词、过去分词]
现在分词表示主动的，正在进行的行为；过去分词表示被动的，已经完成的行为。 作题时要通过判断动作与名词（代词）之间的关系来确定是使用现在分词还是过去分词。当动作由名词（代词）发出时使用现在分词，而名词（代词）是受动者时则用过去分词。
54. Silver is the best conductor of electricity, copper _B_ it closely.
A followed   B following   C to follow   D being followed
49. All things _A_, the planned trip will have to be called off.
A considered   B be considered   C considering   D having considered
call off  取消； cancel vt. 取消； 四级中的考点就是现在分词和过去分词的区别。
独立主格的结构2：with + 名词（代词）+ 分词 [句子当中作状语]
36. After the Arab states won independence, great emphasis was laid on expanding education, with girls as well as boys _C_ to go to school.
A to be encouraged   B been encouraged   C being encouraged   D be encouraged
as well as 和（相当于and）； be encouraged不会考。
动词不定式有预示将来行为的含义。to be encouraged 将要被鼓励；
been encouraged 已经被鼓励完了，与主句的谓语动词相对；being encouraged 正在被鼓励
2.短语部分没有独立主语，则短语结构称为非谓语动词。
非谓语动词的结构：分词（分词短语）
句子的主语决定非谓语动词中的分词是用主动还是被动形式。如果是句子的主语发出动作，则使用现在分词；如果动作不是由句子的主语发出，则使用过去分词。
43.No matter how frequently _A_, the works of Beethoven always attract large audiences.
A performed   B performing   C to be performed   D being performed
perform vt. 表演，演出，演奏；
to be performed 将要被演奏； being performed 正在被演奏；
一些特殊的动词：
第一点：forget 忘记； [反义] remember 记得；
这两个词后加动词不定式表示将要进行的行为；这两个词后加动词ing形式表示已经做过的事情。
注意：动名词与现在分词形式一样，但含义不同。这两个词后加动词ing形式都是动名词。
forget to do sth. 忘记要去做某事； forget doing sth. 忘记做过某事；
remember to do sth. 记得要去做某事； remember doing sth. 记得做过某事；
62. I remember _B_ to help us if we ever got into trouble.
A once offering   B him once offering   C him to offer   D to offer him
offer vt. 提出，提供； offer sb. sth. / offer to do sth. 
him once offering 如果改成 his once offering 也正确。
动名词的复合结构：凡是一个动词的后面可以加动名词，就可以加动名词的复合结构。
动作发出者 + 动名词；当动作发出者名字给出时：名词所有格 + 动名词；当动名词的复合结构在文章中出现，且动作发出者在前文中提过时：形容词物主代词（宾格）+ 动名词。
形容词物主代词：his, her, my, your, their, our。代词宾格：him, her, me, you, us, them。
第二点：want 想要； want to do sth. 想做某事； want doing 客观需要或缺乏。
48. Your hair wants _B_. You'd better have it done tomorrow.
A cut   B cutting   C to cut   D being cut
注意：want doing 中doing表示的是被动含义。
18. This room is so dirty that it wants _A_.
A cleaning   B to clean   C being cleaned   D cleaned
第三点：mean 意味； mean to do sth. 打算做某事，意欲… ；mean doing 意味着，…的意思是…
25. There's a man at the reception desk who seems very angry and I think he means _B_ trouble.  [reception desk 接待台]
A making   B to make   C to have made   D having made
-------------------------XXXX-XX-------------------------
55. The children went there to watch the iron tower _D_.
A to erect   B be erected   C erecting   D being erected
watch 看电视用，看比赛用； see 看电影用； 
感官动词watch, see, hear； 感官动词 + 名词（代词）+ do
be erected 强调的是动作的结果； being erected 强调的是动作的过程。
56. The engine _D_ smoke and steam.
A gives up   B gives in   C gives away   D gives off
give up 放弃； give in 屈服，让步； give off 释放，放出（烟和气体）；
give away 泄露，走漏风声；婚礼中新郎的父亲把新娘的手交给新郎的过程；赠送礼品。
57. The manager promised to keep me _C_ of how our business was going on.
A to be informed   B on informing   C informed   D informing
keep sb. + 分词； inform v. 通知，告知； inform sb. of sth. 通知某人某件事情
keep me informed 使我被告知。
60. The goals _B_ he had fought all his life no longer seemed important to him.
A after which   B for which   C with which   D at which
fight with sb. （注意要看整个句子）； fight with + 工具 用该工具来打仗。 fight for 为…而战。
I fight with him. 我和他打起来了。 I fight with him against her. 我和他并肩对付她。
61. I should like to rent a house, modern, comfortable and _B_ in a quiet neighborhood.
A all in all   B above all   C after all   D over all
all in all 总而言之；above all 首先，尤其是；after all 毕竟，终究；overall 全面的，总体的
in a word 总之，in short 简而言之，in conclusion 最后，总之，to sum up总之，总而言之。
62. _B_ we have finished the course, we shall start doing more revision work.
A For now   B Now that   C Ever since   D By now
now that 既然，由于（相当于since）； ever since 自从…以来。
与that搭配且后面可以加句子的几个表达形式：
now that 既然，由于； in that 因为； except that 除…之外。
except后面加名词或代词；except that后面加句子。
63. What you have done is _D_ the doctor’s orders.
A attached to   B responsible to   C resistant to   D contrary to
be attached to 连接，附属； This school is attached to Beida. 这所学校附属于北大。
responsible to 对…负有责任； resistant adj. 反抗的，抵抗的； water resistant 防水的。
be contrary to 与..相反（相违背）。
64. John regretted _A_ to the meeting last week.
A not going   B not to go   C not having been going   D not to be going
regret doing 后悔做过某事； regret to do sth. 遗憾的做某事（应用语境非常有限）。
63. We regret to inform you that the materials you ordered are _B_.
A out of work   B out of stock   C out of reach   D out of practice
out of work 失业； out of reach 够不着 within reach 够得着； out of practice 缺乏练习。
65. They _C_ in spite of the extremely difficult conditions.
A carried out   B carried off   C carried on   D carried forward
in spite of 尽管； carry on 坚持，继续。
66. Mrs. Brown is supposed _A_ for Italy last week.
A to have left   B to be leaving   C to leave   D to have been left
be supposed to do sth. 应该（理应）做某事。
37. He’s watching TV? He’s _D_ to be cleaning his room.
A known   B considered   C regarded   D supposed
  regard as 把…认作
67. My camera can be _B_ to take pictures in cloudy or sunny conditions.
A treated   B adjusted   C adopted   D remedied
  treat 对待，处理； I’ll treat you. 我请客，应用于真正请客之前。It’s on me. 应用于结帐时。
  adjust vt. 调整，调节； adopt vt. 收养，领养； remedy vt. 弥补，补救，修正；
68. A new technique _C_, the yields as a whole increased by 20 percent.
A working out   B having worked out
C having been worked out   D to have been worded out
yields 产量； work out 作出，推出
关于百分数之前介词的用法
increase to 80 percent 增加到80% （增加到用to）
increase by 60 percent增加了60% （表示增加的幅度用by）
55. Between 1974 and 1997, the number of overseas visitors expanded _A_ 27%.
A by   B for   C to   D in
69. Children who are over-protected by their parents may become _C_.
A hurt   B damaged   C spoiled   D harmed
spoil vt. 宠坏，溺爱
70. When Mr. Jones gets old, he will _B_ over his business to his son.
A take   B hand   C think   D get
take over 接管接收； hand over 移交，交出； think over 仔细考虑； get over 克服，战胜。
-------------------------1991-06-------------------------
41. We had a party last month, and it was a lot of fun, so let’s have _A_ one this month.
A another   B more   C the other   D other
不定代词：1 两者中的一个用one；另一个则用the other； 2 很多东西中的一个用one；
剩下的所有叫the others； 3 很多东西中的一个用one；剩下的所有里面再拿一个叫another；
在剩下的里面再拿一个还叫another（单数概念）； 4 很多东西中拿了若干出来用some；
剩下所有叫others； other 后通常要加可数名词的复数形式； more 要用在数词的后面
once more 再来一个（用于很不正式的场合） vravo 再来一个（用于正式场合）
44. No agreement was reached in the discussion as neither side would give way to _A_.
A the other   B any other   C another   D other
neither 两者中任意一者都不
42. It was difficult to guess what her _B_ to the news would be.
A impression   B reaction   C comment   D opinion
reaction n. 反应； reaction to 对…作出反应。
43. I decided to go to the library as soon as I _D_.
A finish what I did   B finished what I did
C would finish what I was doing   D finished what I was doing
  as soon as所引导的时间状语从句与主句的时态搭配有一种情况是主从句都用一般过去时。
45. We are interested in the weather because it _B_ us so directly what we wear, what we do, and even how we feel.
A benefits   B affects   C guides   D effects
  affect vt. 影响； effect n. 影响。
46. Will all those _D_ the proposal raise their hands?
A in relation to   B in contrast to   C in excess of   D in favor of
in relation to 与…相比； in contrast to 与…形成对照；
in excess of 超过，超出（一定的限定范围）； in favor of 赞同，支持。
47. Children are very curious _D_.
A at heart   B in person   C on purpose   D by nature
at heart 在心理，在内心； heart 强调的是内心的感情，mind 强调的是思维，头脑，soul 灵魂
in person 亲自，本人； on purpose 有意的，故意的； by nature 生性（天性）使然。
48. The match was cancelled because most of the members _A_ a match without a standard court.
A objected to having   B were objected to have
C objected to have   D were objected to having
58. The man in the corner confessed to _B_ a lie to the manager of the company.
A have told   B having told   C being told   D be told
confess v. 忏悔； confess to 承认，坦白。
49. The teacher doesn’t permit _C_ in class.
A smoke   B to smoke   C smoking   D to have a smoke
permit v. 允许，准许； permit sb. to do sth. 允许某人做某事； permit doing 允许做某事。
-------------------------2000-06-------------------------
21. As we can no longer wait for the delivery of our order, we have to _D_ it.
A postpone   B refuse   C delay   D cancel
22. These books, which you can get at any bookshop, will give you _A_ you need.
A all the information   B all the informations
C all of information   D all of the informations
23. Not until the game had begun _C_ at the sports ground.
A had he arrived   B would he have arrived   C did he arrive   D should he have arrived
24. Young people are not _B_ to stand and look at works of art; they want art they can participate in. [参与，参加]
A conservative   B content   C confident   D generous
conservative adj. 保守的； conservative party 保守党； content adj. 甘愿的，满足的；
confident adj. 自信的，有信心的； generous adj. 慷慨的，大方的。
25. Most broadcasters maintain that TV has been unfairly criticized and argue that the power of the medium is _C_.
A granted   B implied   C exaggerated   D remedied
maintain 坚持认为； medium n. 媒体单数，media n. 媒体复数；
grant vt. 授予，给予； imply vt. 隐含，暗示； exaggerate v. 夸大，夸张，高估；
remedy vt. 弥补，补救，修正。
26. These surveys indicate that many crimes go _A_ by the police, mainly because not all victims report them. [victims 受害人]
A unrecorded   B to be unrecorded   C unrecording   D to have been unrecorded
27. I have no objection _B_ your story again. [object to + 动名词]
A to hear   B to hearing   C to having heard   D to have heard
28. The clothes a person wears may express his _B_ or social position.
A curiosity   B status   C determination   D significance
status n. 身份，地位； significance n. 意义，重要性； 
29. By law, when one makes a large purchase, he should have _D_ opportunity to change his mind.
A accurate   B urgent   C excessive   D adequate
  accurate adj. 精确的； urgent adj. 紧急的，紧迫的； excessive adj. 过多的，过度的； 
adequate adj. 充足的，足够的。
30. You will see this product _B_ wherever you go.
A to be advertised   B advertised   C advertise   D advertising
31. The early pioneers had to _C_ many hardships to settle on the new land.
A go along with   B go back on   C go through   D go into
go through 经历
32. The suggestion that the major _B_ the prizes was accepted by everyone.
A would present   B present   C presents   D ought to present
suggestion, suggest 所引导的句子都用虚拟语气。 should + （动词原形）
34. Peter, who had been driving all day, suggested _B_ at the next town.
A to stop   B stopping   C stop   D having stopped
suggest  + doing也可以
33. Beer is the most popular drink among male drinkers, _A_ overall consumption is significantly higher than that of women.
A whose   B which   C that   D what
whose指代的就是他前面的male drinkers.
35. I didn't know the word. I had to _C_ a dictionary.
A look out   B make out   C refer to   D go over
look up 查阅； look up a word in a dictionary 在字典中查单词；
reference n. 参考书目； reference room 资料室；
36. The professor could hardly find sufficient grounds _D_ his arguments in favour of the new theory. [sufficient 充足的，足够的；grounds 论据；arguments 论点]
A to be based on   B to base on   C which to base on   D on which to base
base vt. 以…作基础，基于…  which引导从句时，如果从句是介词结尾则介词应在which之前。
on which (he is) to base
37. There are signs _A_ restaurants are becoming more popular with families.
A that   B which   C in which   D whose
sign n. 迹象； fact n. 事实； evidence n. 证据；后面常加同位语从句来说明具体内容。
同位语从句用that（不能省略）引导。
38. I think I was at school, _A_ I was staying with a friend during the vacation when I heard the news. [or else 否则，要不然]
A or else   B and then   C or so   D even so
39. It is said that the math teacher seems _A_ towards bright students.
A partial   B beneficial   C preferable   D liable
partial adj. 偏袒的，偏爱的（经常与to或towards搭配）
40. In order to show his boss what a careful worker he was, he took _C_ trouble over the figures. [figures 数目，数据；extra 额外的，附加的]
A extensive   B spare   C extra   D supreme
41. - "May I speak to your manager Mr. Williams at five o'clock tonight?"
    - "I'm sorry. Mr. Williams _A_ to a conference long before then."
A will have gone   B had gone   C would have gone   D has gone
当要表达将来的行为在将来的某时间之前完成用将来完成时，将来完成时结构：will have + p.p.
42. You _D_ him so closely; you should have kept your distance.
A shouldn't follow   B mustn't follow
C couldn't' have been following   D shouldn't have been following
should have + p.p. 本应该； shouldn’t have + p.p. 本不应该
43. The growth of part-time and flexible working patterns, and of training and retraining schemes, _D_ more women to take advantage of employment opportunities.
A have allowed   B allow   C allowing   D allows
part-time 兼职； full-time 全职； flexible working patterns 弹性工作制； training 培训；
retraining 再培训； take advantage 利用；
44. Everybody _A_ in the hall where they were welcomed by the secretary.
A assembled   B accumulated   C piled   D joined
assembled 聚集； secretary 书记。
45. Putting in a new window will _B_ cutting away part of the roof.
A include   B involve   C contain   D comprise
involve 引起，与…直接有关
46. Living in the western part of the country has its problems, _C_ obtaining fresh water is not the least. [the least 最高级]
A with which   B for which   C of which   D which
42. Living in the central Australian desert has its problems, _C_ obtaining water is not the least. [the least 最高级]
A for which   B to which   C of which   D in which
47. In the _C_ of the project not being a success, the investors stand to lose up to $30 million. [in the event of 万一，如果]
A face   B time   C event   D course
in the face of 面对； in the time of 在…时期； in the course of 在…期间。
48. The manager would rather his daughter _D_ in the same office.
A had not worked   B not to work   C does not work   D did not work
would rather + 动词原形； would rather + 句子（用虚拟语气，句子谓语动词用一般过去时）
49. _D_, he does get annoyed with her sometimes.
A Although much he likes her   B Much although he likes her
C As he likes her much   D Much as he likes her
如果用although引导则应改成：Although he likes her very much, …
50. The British constitution is _B_ a large extent a product of the historical events described above. [无论是在空格前还是后，如果出现了名词extent要找介词就着to]
A within   B to   C by   D at
to a large extent 在很大程度上。
　非谓语动词与独立主格：短语，句子（或者句子，短语）
1.当短语部分有独立主语，并且该主语不同于句子主语，这时短语结构称为独立主格。（它最明显的特点是短语部分有独立的主语）。
独立主格的结构1：名词（代词）+ 分词 [现在分词、过去分词]
现在分词表示主动的，正在进行的行为；过去分词表示被动的，已经完成的行为。 作题时要通过判断动作与名词（代词）之间的关系来确定是使用现在分词还是过去分词。当动作由名词（代词）发出时使用现在分词，而名词（代词）是受动者时则用过去分词。
54. Silver is the best conductor of electricity, copper _B_ it closely.
A followed   B following   C to follow   D being followed
49. All things _A_, the planned trip will have to be called off.
A considered   B be considered   C considering   D having considered
call off  取消； cancel vt. 取消； 四级中的考点就是现在分词和过去分词的区别。
独立主格的结构2：with + 名词（代词）+ 分词 [句子当中作状语]
36. After the Arab states won independence, great emphasis was laid on expanding education, with girls as well as boys _C_ to go to school.
A to be encouraged   B been encouraged   C being encouraged   D be encouraged
as well as 和（相当于and）； be encouraged不会考。
动词不定式有预示将来行为的含义。to be encouraged 将要被鼓励；
been encouraged 已经被鼓励完了，与主句的谓语动词相对；being encouraged 正在被鼓励
2.短语部分没有独立主语，则短语结构称为非谓语动词。
非谓语动词的结构：分词（分词短语）
句子的主语决定非谓语动词中的分词是用主动还是被动形式。如果是句子的主语发出动作，则使用现在分词；如果动作不是由句子的主语发出，则使用过去分词。
43.No matter how frequently _A_, the works of Beethoven always attract large audiences.
A performed   B performing   C to be performed   D being performed
perform vt. 表演，演出，演奏；
to be performed 将要被演奏； being performed 正在被演奏；
一些特殊的动词：
第一点：forget 忘记； [反义] remember 记得；
这两个词后加动词不定式表示将要进行的行为；这两个词后加动词ing形式表示已经做过的事情。
注意：动名词与现在分词形式一样，但含义不同。这两个词后加动词ing形式都是动名词。
forget to do sth. 忘记要去做某事； forget doing sth. 忘记做过某事；
remember to do sth. 记得要去做某事； remember doing sth. 记得做过某事；
62. I remember _B_ to help us if we ever got into trouble.
A once offering   B him once offering   C him to offer   D to offer him
offer vt. 提出，提供； offer sb. sth. / offer to do sth. 
him once offering 如果改成 his once offering 也正确。
动名词的复合结构：凡是一个动词的后面可以加动名词，就可以加动名词的复合结构。
动作发出者 + 动名词；当动作发出者名字给出时：名词所有格 + 动名词；当动名词的复合结构在文章中出现，且动作发出者在前文中提过时：形容词物主代词（宾格）+ 动名词。
形容词物主代词：his, her, my, your, their, our。代词宾格：him, her, me, you, us, them。
第二点：want 想要； want to do sth. 想做某事； want doing 客观需要或缺乏。
48. Your hair wants _B_. You'd better have it done tomorrow.
A cut   B cutting   C to cut   D being cut
注意：want doing 中doing表示的是被动含义。
18. This room is so dirty that it wants _A_.
A cleaning   B to clean   C being cleaned   D cleaned
第三点：mean 意味； mean to do sth. 打算做某事，意欲… ；mean doing 意味着，…的意思是…
25. There's a man at the reception desk who seems very angry and I think he means _B_ trouble.  [reception desk 接待台]
A making   B to make   C to have made   D having made
-------------------------XXXX-XX-------------------------
55. The children went there to watch the iron tower _D_.
A to erect   B be erected   C erecting   D being erected
watch 看电视用，看比赛用； see 看电影用； 
感官动词watch, see, hear； 感官动词 + 名词（代词）+ do
be erected 强调的是动作的结果； being erected 强调的是动作的过程。
56. The engine _D_ smoke and steam.
A gives up   B gives in   C gives away   D gives off
give up 放弃； give in 屈服，让步； give off 释放，放出（烟和气体）；
give away 泄露，走漏风声；婚礼中新郎的父亲把新娘的手交给新郎的过程；赠送礼品。
57. The manager promised to keep me _C_ of how our business was going on.
A to be informed   B on informing   C informed   D informing
keep sb. + 分词； inform v. 通知，告知； inform sb. of sth. 通知某人某件事情
keep me informed 使我被告知。
60. The goals _B_ he had fought all his life no longer seemed important to him.
A after which   B for which   C with which   D at which
fight with sb. （注意要看整个句子）； fight with + 工具 用该工具来打仗。 fight for 为…而战。
I fight with him. 我和他打起来了。 I fight with him against her. 我和他并肩对付她。
61. I should like to rent a house, modern, comfortable and _B_ in a quiet neighborhood.
A all in all   B above all   C after all   D over all
all in all 总而言之；above all 首先，尤其是；after all 毕竟，终究；overall 全面的，总体的
in a word 总之，in short 简而言之，in conclusion 最后，总之，to sum up总之，总而言之。
62. _B_ we have finished the course, we shall start doing more revision work.
A For now   B Now that   C Ever since   D By now
now that 既然，由于（相当于since）； ever since 自从…以来。
与that搭配且后面可以加句子的几个表达形式：
now that 既然，由于； in that 因为； except that 除…之外。
except后面加名词或代词；except that后面加句子。
63. What you have done is _D_ the doctor’s orders.
A attached to   B responsible to   C resistant to   D contrary to
be attached to 连接，附属； This school is attached to Beida. 这所学校附属于北大。
responsible to 对…负有责任； resistant adj. 反抗的，抵抗的； water resistant 防水的。
be contrary to 与..相反（相违背）。
64. John regretted _A_ to the meeting last week.
A not going   B not to go   C not having been going   D not to be going
regret doing 后悔做过某事； regret to do sth. 遗憾的做某事（应用语境非常有限）。
63. We regret to inform you that the materials you ordered are _B_.
A out of work   B out of stock   C out of reach   D out of practice
out of work 失业； out of reach 够不着 within reach 够得着； out of practice 缺乏练习。
65. They _C_ in spite of the extremely difficult conditions.
A carried out   B carried off   C carried on   D carried forward
in spite of 尽管； carry on 坚持，继续。
66. Mrs. Brown is supposed _A_ for Italy last week.
A to have left   B to be leaving   C to leave   D to have been left
be supposed to do sth. 应该（理应）做某事。
37. He’s watching TV? He’s _D_ to be cleaning his room.
A known   B considered   C regarded   D supposed
  regard as 把…认作
67. My camera can be _B_ to take pictures in cloudy or sunny conditions.
A treated   B adjusted   C adopted   D remedied
  treat 对待，处理； I’ll treat you. 我请客，应用于真正请客之前。It’s on me. 应用于结帐时。
  adjust vt. 调整，调节； adopt vt. 收养，领养； remedy vt. 弥补，补救，修正；
68. A new technique _C_, the yields as a whole increased by 20 percent.
A working out   B having worked out
C having been worked out   D to have been worded out
yields 产量； work out 作出，推出
关于百分数之前介词的用法
increase to 80 percent 增加到80% （增加到用to）
increase by 60 percent增加了60% （表示增加的幅度用by）
55. Between 1974 and 1997, the number of overseas visitors expanded _A_ 27%.
A by   B for   C to   D in
69. Children who are over-protected by their parents may become _C_.
A hurt   B damaged   C spoiled   D harmed
spoil vt. 宠坏，溺爱
70. When Mr. Jones gets old, he will _B_ over his business to his son.
A take   B hand   C think   D get
take over 接管接收； hand over 移交，交出； think over 仔细考虑； get over 克服，战胜。
-------------------------1991-06-------------------------
41. We had a party last month, and it was a lot of fun, so let’s have _A_ one this month.
A another   B more   C the other   D other
不定代词：1 两者中的一个用one；另一个则用the other； 2 很多东西中的一个用one；
剩下的所有叫the others； 3 很多东西中的一个用one；剩下的所有里面再拿一个叫another；
在剩下的里面再拿一个还叫another（单数概念）； 4 很多东西中拿了若干出来用some；
剩下所有叫others； other 后通常要加可数名词的复数形式； more 要用在数词的后面
once more 再来一个（用于很不正式的场合） vravo 再来一个（用于正式场合）
44. No agreement was reached in the discussion as neither side would give way to _A_.
A the other   B any other   C another   D other
neither 两者中任意一者都不
42. It was difficult to guess what her _B_ to the news would be.
A impression   B reaction   C comment   D opinion
reaction n. 反应； reaction to 对…作出反应。
43. I decided to go to the library as soon as I _D_.
A finish what I did   B finished what I did
C would finish what I was doing   D finished what I was doing
  as soon as所引导的时间状语从句与主句的时态搭配有一种情况是主从句都用一般过去时。
45. We are interested in the weather because it _B_ us so directly what we wear, what we do, and even how we feel.
A benefits   B affects   C guides   D effects
  affect vt. 影响； effect n. 影响。
46. Will all those _D_ the proposal raise their hands?
A in relation to   B in contrast to   C in excess of   D in favor of
in relation to 与…相比； in contrast to 与…形成对照；
in excess of 超过，超出（一定的限定范围）； in favor of 赞同，支持。
47. Children are very curious _D_.
A at heart   B in person   C on purpose   D by nature
at heart 在心理，在内心； heart 强调的是内心的感情，mind 强调的是思维，头脑，soul 灵魂
in person 亲自，本人； on purpose 有意的，故意的； by nature 生性（天性）使然。
48. The match was cancelled because most of the members _A_ a match without a standard court.
A objected to having   B were objected to have
C objected to have   D were objected to having
58. The man in the corner confessed to _B_ a lie to the manager of the company.
A have told   B having told   C being told   D be told
confess v. 忏悔； confess to 承认，坦白。
49. The teacher doesn’t permit _C_ in class.
A smoke   B to smoke   C smoking   D to have a smoke
permit v. 允许，准许； permit sb. to do sth. 允许某人做某事； permit doing 允许做某事。
-------------------------2000-06-------------------------
21. As we can no longer wait for the delivery of our order, we have to _D_ it.
A postpone   B refuse   C delay   D cancel
22. These books, which you can get at any bookshop, will give you _A_ you need.
A all the information   B all the informations
C all of information   D all of the informations
23. Not until the game had begun _C_ at the sports ground.
A had he arrived   B would he have arrived   C did he arrive   D should he have arrived
24. Young people are not _B_ to stand and look at works of art; they want art they can participate in. [参与，参加]
A conservative   B content   C confident   D generous
conservative adj. 保守的； conservative party 保守党； content adj. 甘愿的，满足的；
confident adj. 自信的，有信心的； generous adj. 慷慨的，大方的。
25. Most broadcasters maintain that TV has been unfairly criticized and argue that the power of the medium is _C_.
A granted   B implied   C exaggerated   D remedied
maintain 坚持认为； medium n. 媒体单数，media n. 媒体复数；
grant vt. 授予，给予； imply vt. 隐含，暗示； exaggerate v. 夸大，夸张，高估；
remedy vt. 弥补，补救，修正。
26. These surveys indicate that many crimes go _A_ by the police, mainly because not all victims report them. [victims 受害人]
A unrecorded   B to be unrecorded   C unrecording   D to have been unrecorded
27. I have no objection _B_ your story again. [object to + 动名词]
A to hear   B to hearing   C to having heard   D to have heard
28. The clothes a person wears may express his _B_ or social position.
A curiosity   B status   C determination   D significance
status n. 身份，地位； significance n. 意义，重要性； 
29. By law, when one makes a large purchase, he should have _D_ opportunity to change his mind.
A accurate   B urgent   C excessive   D adequate
  accurate adj. 精确的； urgent adj. 紧急的，紧迫的； excessive adj. 过多的，过度的； 
adequate adj. 充足的，足够的。
30. You will see this product _B_ wherever you go.
A to be advertised   B advertised   C advertise   D advertising
31. The early pioneers had to _C_ many hardships to settle on the new land.
A go along with   B go back on   C go through   D go into
go through 经历
32. The suggestion that the major _B_ the prizes was accepted by everyone.
A would present   B present   C presents   D ought to present
suggestion, suggest 所引导的句子都用虚拟语气。 should + （动词原形）
34. Peter, who had been driving all day, suggested _B_ at the next town.
A to stop   B stopping   C stop   D having stopped
suggest  + doing也可以
33. Beer is the most popular drink among male drinkers, _A_ overall consumption is significantly higher than that of women.
A whose   B which   C that   D what
whose指代的就是他前面的male drinkers.
35. I didn't know the word. I had to _C_ a dictionary.
A look out   B make out   C refer to   D go over
look up 查阅； look up a word in a dictionary 在字典中查单词；
reference n. 参考书目； reference room 资料室；
36. The professor could hardly find sufficient grounds _D_ his arguments in favour of the new theory. [sufficient 充足的，足够的；grounds 论据；arguments 论点]
A to be based on   B to base on   C which to base on   D on which to base
base vt. 以…作基础，基于…  which引导从句时，如果从句是介词结尾则介词应在which之前。
on which (he is) to base
37. There are signs _A_ restaurants are becoming more popular with families.
A that   B which   C in which   D whose
sign n. 迹象； fact n. 事实； evidence n. 证据；后面常加同位语从句来说明具体内容。
同位语从句用that（不能省略）引导。
38. I think I was at school, _A_ I was staying with a friend during the vacation when I heard the news. [or else 否则，要不然]
A or else   B and then   C or so   D even so
39. It is said that the math teacher seems _A_ towards bright students.
A partial   B beneficial   C preferable   D liable
partial adj. 偏袒的，偏爱的（经常与to或towards搭配）
40. In order to show his boss what a careful worker he was, he took _C_ trouble over the figures. [figures 数目，数据；extra 额外的，附加的]
A extensive   B spare   C extra   D supreme
41. - "May I speak to your manager Mr. Williams at five o'clock tonight?"
    - "I'm sorry. Mr. Williams _A_ to a conference long before then."
A will have gone   B had gone   C would have gone   D has gone
当要表达将来的行为在将来的某时间之前完成用将来完成时，将来完成时结构：will have + p.p.
42. You _D_ him so closely; you should have kept your distance.
A shouldn't follow   B mustn't follow
C couldn't' have been following   D shouldn't have been following
should have + p.p. 本应该； shouldn’t have + p.p. 本不应该
43. The growth of part-time and flexible working patterns, and of training and retraining schemes, _D_ more women to take advantage of employment opportunities.
A have allowed   B allow   C allowing   D allows
part-time 兼职； full-time 全职； flexible working patterns 弹性工作制； training 培训；
retraining 再培训； take advantage 利用；
44. Everybody _A_ in the hall where they were welcomed by the secretary.
A assembled   B accumulated   C piled   D joined
assembled 聚集； secretary 书记。
45. Putting in a new window will _B_ cutting away part of the roof.
A include   B involve   C contain   D comprise
involve 引起，与…直接有关
46. Living in the western part of the country has its problems, _C_ obtaining fresh water is not the least. [the least 最高级]
A with which   B for which   C of which   D which
42. Living in the central Australian desert has its problems, _C_ obtaining water is not the least. [the least 最高级]
A for which   B to which   C of which   D in which
47. In the _C_ of the project not being a success, the investors stand to lose up to $30 million. [in the event of 万一，如果]
A face   B time   C event   D course
in the face of 面对； in the time of 在…时期； in the course of 在…期间。
48. The manager would rather his daughter _D_ in the same office.
A had not worked   B not to work   C does not work   D did not work
would rather + 动词原形； would rather + 句子（用虚拟语气，句子谓语动词用一般过去时）
49. _D_, he does get annoyed with her sometimes.
A Although much he likes her   B Much although he likes her
C As he likes her much   D Much as he likes her
如果用although引导则应改成：Although he likes her very much, …
50. The British constitution is _B_ a large extent a product of the historical events described above. [无论是在空格前还是后，如果出现了名词extent要找介词就着to]
A within   B to   C by   D at
to a large extent 在很大程度上。
构成符合形容词的名词和数量词一律用单数。(见下面2个例题)
31. Despite the wonderful acting and well-developed plot the _B_ movie could not hold our attention.
A three-hours   B three-hour   C three-hours’   D three-hour’s
267. Professor White wrote a _C_ report yesterday.
A two-thousand-words   B two-thousands-word
C two-thousand-word    D two-thousands-words
以ly结尾的不全是副词； friendly, lonely, lovely, likely, lively adj.
考试中常见的否定前缀： un-、dis-、in-、im-
56. _B_ his sister, Jack is quiet and does not easily make friends with others.
A Dislike   B Unlike   C Alike   D Liking
like vt. 喜欢； dislike vt. 不喜欢，厌恶； unlike prep. 不象…；
alike adj. & adv. 同样的(地)，相象的(地)； liking n. 爱好，嗜好；
take a liking for喜欢…，对…产生好感。
III 近义词含义比较；
44. There were some _A_ flowers on the table.
A artificial   B unnatural   C false   D unreal
unreal adj. 不真实的(不是真实世界所拥有的，虚幻的)； Ends justify means 不择手段；
false adj. 具有欺骗性的，假的，伪造的； false coin/passport/hair，a false tooth/false teeth
unnatural adj. 不自然的，经常用来修饰人的行为举止，表示做作的，矫揉造作的。
artificial adj. 人造人为的 artificial leg 假肢artificial leather 人造皮 genuine leather 真皮
54. When people become unemployed, it is _C_ which is often worse than lack of wages.
A laziness   B poverty   C idleness   D inability
laziness n. 懒惰； poverty n. 贫穷； poor adj. 贫穷的；
idleness n. 无事可做(中性，有时也有贬义含义)； inability n. 没有能力，没有办法。
69. A lot of ants are always invading my kitchen. They are a thorough _A_.
A nuisance   B trouble   C worry   D anxiety
invade 进攻，侵略； nuisance n. (具体的)令人讨厌的东西； trouble n. 烦恼，麻烦，问题；
worry n. 担心，发愁； anxiety n. 焦虑。 What a nuisance. 真是烦。
IV 搭配关系问题；
extent n. 程度； to... extent 到达…程度，在…程度之上； extent 只能和to搭配。
object vi. 反对； object + to + 动名词（动词的ing形式）。
objection n. 反对； objection + to + 动名词（动词的ing形式）。
V 形相近，意相远；
65. In Britain, the best season of the year is probably _A_ spring.
A late   B last   C latter   D later
late adj. 晚的，晚于通常时间的； late spring 晚春、暮春； last adj. 最后的，最终的；
later adj. 更晚的（late的比较级）、时间概念后一半的；只适用于表示某个世纪的后半期；
  The later twentieth century. 二十世纪的后一半。
latter adj. （两者中）后者的； former adj. （两者中）前者的；
59. Some people would like to do shopping on Sundays since they expect to pick up wonderful _B_ in the market.
A batteries   B bargains   C baskets   D barrels
battery n. 电池； bargain n. 特价商品； It’s really a bargain. 你真会买东西，不是说真便宜。
basket n. 篮子； barrel n. 桶； wonderful bargain 物美价廉的商品；bargain v. 讨价还价；
53. Remember that customers don’t _D_ about prices in that city.
A debate   B consult   C dispute   D bargain
-------------------------XXXX-XX-------------------------
41. The bridge was named _A_ the hero who gave his life for the cause of the people.
A after   B with   C by   D from
  cause 事业； be named after 以…的名字命名；
42. There were no tickets _D_ for Friday’s performance.
A preferable   B considerable   C possible   D available
  preferable adj. 更好的，更可取的；
358. _C_ the Revolutionary War, the United States was an English colony.
A Inferior to   B Superior to   C Prior to   D Preferable to
  具有比较意味的形容词只要与介词to搭配即可表示其比较级。 super- 表示在…上方，超过…
inferior adj. 低于…的，劣于…的； superior adj. 高于…的，优于…的； prior adj. 在…之前的
Revolutionary War 特指美国独立战争；second adj. 第二的（含有比较意味，也与to搭配）
He is second to none. 首屈一指，无与伦比；
30. Cancer is second only _B_ heart disease as a cause of death.
A of   B to   C with   D from
43. It wasn't such a good dinner _C_ she had promised us.
A that   B which   C as   D what
  such … that … 如此… 以至于… ； sb + be + ___ + sth 空格处应为能加双宾语的动词；
  加双宾语的动词的用法：动词 + sb + sth（主动形式）； sb + be + pp + sth（被动形式）；
59. American women were _D_ the right to vote until 1920 after many years of hard   struggle. [the right to vote 选举权]
A ignored   B neglected   C refused   D denied
deny v. 否认，拒绝；deny sb sth 拒绝给予某人某物；
44. They decided to chase the cow away _C_ it did more damage.
A unless   B until   C before   D although
45. _B_ student with a little common sense should be able to answer the question.
A Each   B Any   C Either   D One
  common sense 常识； each 这个词在英语中强调的是个体与众不同的特点；
  any 这个词强调的是很多东西在一起的共性； either 两者之间任何一个；
31. The medicine is on sale everywhere. You can get it at _C_ chemist’s.
A each   B some   C any   D certain
46. All _D_ is a continuous supply of the basic necessities of life.
A what is needed   B for our needs   C the thing needed   D that is needed
  当all作定语从句的先行词时，从句只能用that来引导； all that = what
47. _A_ with the size of the whole earth, the highest mountain does not seem high at all.
A When compared   B Compare   C While comparing   D Comparing
本题的关键是弄清compare与mountain的关系； when 可以直接加过去分词；
before(after) + being + 过去分词；
44. After _A_ for the job, you will be required to take a language test.
A being interviewed   B interviewed   C interviewing   D having interviewed
They lose their health to make money, and they lose their money to restore health.
48. _C_ she first heard of the man referred to as a specialist. [专家]
A That was from Stephen   B It was Stephen whom
C It was from Stephen that   D It was Stephen that
本题重点是强调句式； 当被强调部分指人且在句子中作宾语时，其余部分可用whom引导；
49. If these shoes are too big, ask the clerk to bring you a smaller _D_.
A suit   B set   C one   D pair
50. Many new _A_ will be opened up in the future for those with a university education.
A opportunities   B necessities   C realities   D probabilities
51. He must have had an accident, or he _A_ then.
A would have been here   B had to be here   C should be here   D would be here
must have + 过去分词 表示对过去行为的肯定推测；
与过去事态相反用：情态动词 + have + 过去分词 来体现虚拟语气；
must 一定，必须； needn't, don't have to 不必；
53. You _A_ all those calculations! We have a computer to do that sort of thing.
A needn’t have done   B must not have done
C shouldn’t have done   D can not have done
should have + 过去分词 本应该，本应当； shouldn't have done本不应该，本不应当；
44. It was very kind of you to do the washing-up, but you _D_ it.
A mustn’t have done   B wouldn’t have done
C mightn’t have done   D didn’t have to do
52. It was essential that the applications forms _C_ back before the deadline. 
A must be sent   B would be sent   C be sent   D were sent
It be essential that 后面一定用虚拟语气，且句子谓语动词固定为(should) + 动词原型；
It was essential that the applications forms send back before the deadline.
53. We _D_ our breakfast when an old man came to the door. 
A just have had   B have just had   C just had   D had just had
when 还可以表示①刚..就… （有动作先后关系）、②恰在此时；
44. I had just started back for the house to change my clothes _D_ I heard voices.
A as   B while   C after   D when
45. I felt somewhat disappointed and was about to leave, _C_ something occurred which attracted my attention.
A unless   B until   C when   D while
64. It was essential that these application forms _D_ back as early as possible.
A must be sent   B will be sent   C are sent   D be sent
四级考试中常见的考察词汇的题型：I 押韵题型（押头韵、押尾韵）
答案总在相似中，如果有三个一样，基本上就在其中了。
54. The rain was heavy and _A_ the land was flooded.
A consequently   B continuously   C constantly   D consistently
continue v. 继续，连续； continually adv. 时断时续地； continuously adv. 连续不断地。
说不停的咳嗽时，continually是间歇的时断时续的咳嗽，continuously是一直不停的咳嗽。
consequently adv. 因此，所以；(heavy rain大雨, light rain小雨)
constantly adv. 始终如一地，连续发生地；constant temperature 恒温
consistently adv. 一贯地，一致地； consistent adj.  consistent policy 一贯的政策。
36. I hate people who _C_ the end of a film that you haven't seen before.
A revise   B rewrite   C reveal   D reverse
rewrite v. 重写，改写； revise vt. 修改，修正； reveal vt. 揭示，揭露；
reverse vt. 颠倒，使反转，使反向。(vers是词根，表示转动；re是前缀，表示向相反方向)
42. There were no tickets _D_ for Friday’s performance.
A preferable   B considerable   C possible   D available
performance n. 表演，演出，演奏； perform vt.  possible adj. 可能的
动词后加able构成形容词通常表示“可…的” read -> readable  accept -> acceptable
consider vt. 考虑； considerable adj. (数量或尺寸)相当大(或多)的。
preferable adj. 更好的，更可取的； 
available* adj. 可获得的，可利用的，可支配的。(重点词)
33. In general, the amount that a student spends for housing should be held to one-fifth of the total _D_ for living expenses.
A acceptable   B applicable   C advisable   D available
living expenses 生活费； acceptable adj. 可接受的；
apply vt. 申请，应用； applicable adj. 可应用的，适当的，合适的；
advise vt. 建议； advice n. 建议； advisable adj. 明智的，可取的。
54. It is our _A_ policy that we will achieve unity through peaceful means.
A consistent   B continuous   C considerate   D continual
achieve unity through peaceful means 通过和平手段取得统一； consistent policy 一贯政策
四级重要词汇分类记忆:完形填空中常用词汇
1- 介词短语： for all    anyhow    somewhat    beneath    concerning    and so forth    provided/providing    in light of    cast/throw light on    at a glance    take for granted    in haste, on impulse    be in for    in that    for instance    at intervals    of late    likewise    long for    in a manner of speaking    at the mercy of    in memory of    mess about/around    mess up    on occasions    regarding    regardless of    for the sake of    on the spot    at stake    take by surplus    on the spot    at stake    take by surplus    lose temper    in total    just as well    may as well
2- 动词短语：
 1.  bring off    bring up    bring about    
 2.  come into    come across    come true    come off    come up with    come down with    
 3.  count in    count on 
 4.  cut in    cut off
 5.  do up    do without    
 6.  call off    call on    call for 
 8.  die down    die out    die away
 9.  break down    break up    break off
 10.  in the event of    
 11.  for good    well off    
 12.  fill in    fill out    
 13.  get through    get by    get in
 14.  give off    give out  
 15.  go over    go after    on the go
 16.  at hand    in hand    hand out    hand in    hand over    hand down   
 17.  hang on    hang about/around
 18.  head for    over/above one’s head    lose one’s head
 19.  at heart    in heart    by heart    to one’s heart’s content
 20.  in honor of    on one’s honor
 21.  knock down    knock out
 22.  lay off    lay out
 23.  let alone    let off
 24.  log in    log out
 25.  look down    look up    look to
 26.  make it    make out    make believe    make up    make up for
 27.  by means of    by all means 
 28.  keep/bear in mind
 29.  for the moment    the moment that
 30.  pick up    pick out
 31.  put out    put up with    put down    put off    put forward
 32.  run out    run across = come across
 33.  see to    see off    see through  
 34.  make sense    in sense 
 35.  set out    set about 
 36.  show off    show up
 37.  stand for 
 38.  take after    take over    take on    take in    take for    take up
 39.  turn down    turn to    turn out    turn up 
 40.  wind up

词汇和语法技巧
1。as well相当于too,通常用语句尾，后面不再跟宾语；而as well as 相当于and,后面需要加宾语
如：I like swimming and my brother likes it as well. 
    I like diving as well as swimming. 

2。no more than 是“不超过，仅仅”的意思，other than 是“除了”的意思，
rather than 是“而不是”的意思。
because of 后面只能接名词性短语，因为of是个介词，不可能接句子的。
against也是个介词，它有“反对”一意。
in relation to是"关于,和...有关"的意思
in contrast to是"与...相比较,对比"的意思
In contrast to B, A is popular with young people rather than elders. 
Today, I would like to talk about something in relation to population growth.
Running short of water, they felt approach of death. (run short of 是"短缺,缺的意思")
make one's way: 走出一条道路 The young man made his way through the crowd. 
by nature:在本质上,在根本上.
in excess of是"超过,超越"的意思
be reported to do sth.:据报道做了某事 The man is reported to kill seven women. 
name sb. after:按...命名 name the little boy after his grandfather.
take sth. into account:把...考虑在内
have an advantage over:比...有优势 
3。关于独立主格结构.
所谓独立逐个结构就是S‘+分词，SV.也就是说在一般情况下，分词短语的逻辑主语应该是主句的主语，
如果不是，那么需要在分词短语前面把它的逻辑主语填加出来

词汇题答题技巧
由于《大纲》强调要在语篇层次上解决语法与词汇问题，所以四级考试的这部分试题也很少是单个的句子，大多为并列句或复合句，因此我们应学会根据语篇知识来掌握答题技巧，尤其是要注意句子之间的解释、对比、转折、因果等关系。 
1．利用动词词组中的介词或副词确定正确选项 
　　 
　　命题人员想考查考生是否掌握了某一动词词组的用法，在设计四个选项时，有时会让一个动词出现在四个选项中，只是后边的介词或副词不一样。在做这一类题时，如果我们认识某一词组，根据自己的判断毫不犹豫地选择你认为是正确的选项。如果不认识或拿不准词组的意义，我们可以根据上下文以及动词后边的介词或副词进行推导。 
　　1）Having　decided　to　rent　a　flat，we＿＿contacting　all　the　accommodation　agencies　in　the　city。（1998年1月CET4） 
　　A）set　about　B）set　down　C）set　out　D）set　up 
　　 
　　本题的答案为A）。本句前边说“已经决定租房，我们联系房屋中介商……”这里需要填“开始”的意思。从动词后的4个介词来说，只有about有表示“将来”（beabout）的意思，所以A为正确答案。需顺便补充的是，set　about结构中，about是介词，因此它后面如果跟动词，需要用动词的－ing形式。 
　　2）When　he　realized　the　police　had　spotted　him，the　man＿＿the　exit　as　quickly　as　possible．（1991年1月CET4） 
　　A）made　off　B）made　for　C）made　out　D）made　up 
　　 　　本题的答案为B）。这里空格处要填的是表示“走向”之意，这里只有“for”表示在同一水平线上“向……方向”。注意，句中有exit一词，表示the　man是在一建筑物内，所以不可能用out　the　exit（注意上下文），而且out是一个副词，后面接名词时需要有介词of，所以正确选项是B）而不是C）。 
2．利用动词词组中的动词确定选项 
　　 
　　有些题的四个选项中的介词或副词一样，而动词不同，这时我们就可以利用动词的区别来确定正确选项，如下例： 

　　If　you＿＿the　bottle　and　cigarettes，you'll　be　much　healthier．（1997年1月CET6） 
　　A）take　off　B）keep　off　C）get　off　D）set　off 
　　 
　　本题答案为B）。keep与off合在一起是“与……保持距离，远离……”的意思，根据句义“如果你不喝酒（这里bottle代指酒）、吸烟，你就会更健康”，正确选项为B）。 

　　3．释义参照型＋近义词 
　　 
　　由于句子之间语义的关联，句中一部分有时对另一部分构成解释关系，我们可以根据已经明示的部分来确定选项。 

　　1）The　medicine　is　on　sale　everywhere．You　can　get　it　at＿＿chemist's．（1997年6月CET4） 
　　A）each　B）some　C）certain　D）any 
　　 
　　正确选项为D）。本题中前一句中的everywhere就决定了第二句中的空格处填（at）any（chemist's）。 

　　2）The　manager　spoke　highly　of　such＿＿as　loyalty，courage　and　truthfulness　shown　by　his　employees．（1998年1月CET4） 
　　A）virtues　B）features　C）properties　D）characteristics 
　　 
　　正确选项为A）。本句中as后面的名词loyalty（忠诚），courage（勇气），truthfulness（实事求是）是对空格处名词进行的解释。本句中的3个名词归纳起来都属于人应当具有的“美德”，所以本题的答案为A）。 

　　4．因果参照型＋近义词 
　　 
　　这是指在一句或两句话中，要么通过“因”推出“果”，要么通过“果”推出“因”。这是利用语法关系去确定选项，如下列例句。 

　　1）Some　old　people　don't　like　pop　songs　because　they　can't＿＿so　much　noise．（1997年1月CET4） 
　　A）resist?﨎）sustain?﨏）tolerate?﨑）undergo 
　　 
　　正确选项为C）。本句从don'tlike…，推出后边的can't　tolerate，表示“不能容忍”的意思。 

　　2）As　a　result　of　careless　washing，the　jacket＿＿to　a　child's　size．（1998年1月CET4） 
　　A）compressed?﨎）shrank?﨏）dropped?﨑）decreased 
　　 
　　正确选项为B）。通过原因“acreless　washing”推出正确选项　B）shrank，意思是“收缩”。注意四个选项中只有B）项表示“衣服缩水”的意思：其他各项的意思是：A）紧压，压缩；C）下降；D）减少。 

　　3）Since　the　matter　was　extremely＿＿，we　dealt　with　it　immediately．（1998年1月CET4） 
　　A）tough?﨎）tense?﨏）urgent?﨑）instant 
　　 
　　正确选项为C）。后半句中的副词“immediately”可以推出前半句中的“urgent”（迫切的紧急的）。 

　　5．转折或反义与对比参照型 
　　 
　　这种类型题有的是通过转折词或反义词、或对比词来确定选项，有的是通过句中词来确定选项中的转折词。 

　　1）Even　though　he　was　guilty，the＿＿judge　did　not　send　him　to　prison．（1997年1月CET6） 
　　A）merciful?﨎）impartial?﨏）conscientious?﨑）conspicuous 
　　 
　　正确选项为A）。让步状语从句中的guilty和主句的意思表明法官是一个“仁慈”的人。所以A）项正确。其他三项的意思分别是：B）正直的、公正的；C）有良心的；D）显著的。 

　　2）＿＿their　differences，the　couple　were　developing　an　obvious　and　genuine　affection　for　each　other．（1998年1月CET4） 
　　A）But　for?﨎）For　all?﨏）Above　all?﨑）Except　for 
　　 
　　正确选项为B）。句中的their　differences，obvious　and　genuine　affection可确定选项中的转折词只能是for　all，意思是“尽管”。 

　　3）These　good　sare＿＿for　export，though　a　few　of　them　may　be　sold　on　the　home　market．（1998年6月CET4） 
　　A）essentially?﨎）completely?﨏）necessarily?﨑）remarkably 
　　 
　　正确选项为A）。通过转折词though和对比词export与home　market可确定选项为A），意思是“基本上”。其他三项都不符合句意。 

　　4）Mr.Morgan　can　be　very　sad＿＿，though　in　public　he　is　extremely　cheerful．（1997年1月CET4） 
　　A）by　himself?﨎）in　person?﨏）in　private?﨑）as　individual 
　　 
　　正确选项为C）。通过后半句的转折词though和对比词in　public…cheerful来确定sad　in　private，意思是“私下里”。 

　　6．反义对比参照型＋近义词 
　　 
　　这里指的是利用句子主干中的某词或短语，再加上四个近义词选项的区别来确定正确选项。 

　　1）Competition，they　believe，＿＿the　national　character　than　corrupt　it．（1997年1月CET6） 
　　A）enforces?﨎）confirms?﨏）intensifies?﨑）strengthens 
　　 
　　正确选项为D）than决定了这里的corrupt（腐坏，破坏）与空格处的词相对，所以空白处应填入D），表示“加强”的意思。 

　　2）I　think　she　hurt　my　feelings＿＿rather　than　by　accident　as　she　claimed．（1997年1月CET6） 
　　A）virtually?﨎）deliberately?﨏）literally?﨑）appropriately 
　　 
　　正确选项为B）。通过rather　than可知by　accident与空格处相对。by　accident的意思是“偶然地，不经意地”，与此相对的应当是deliberately，“故意地”。 

　　3）As　an　excellent　shooter，Peter　practised　aiming　at　both＿＿targets　and　moving　targets．（1997年6月CET6） 
　　A）standingB）stationaryC）stillD）stable 
　　 
　　正确选项为B）。根据从句我们知道这个射手什么靶子都能射中，“both…and”表明moving与空格处相对。moving的意思是“移动的”，与此相对的应是stationary，表示“定置的，非移动的”的意思。 

　　7．语意环境参照型 
　　1）The　president　made　a＿＿speech　at　the　opening　ceremony　of　the　sports　meeting，which　encouraged　the　sportsmen　greatly．（1997年1月CET4） 
　　A）vigorous?﨎）tedious?﨏）flat?﨑）harsh 
　　 
　　正确选项为A）。“encourage”表明了校长所作发言的特点是积极的，肯定的。所给四个选项中只有A）vigorous是一个褒义词，意思是：有力的，其他三项从词语色彩上均不符合语境。 

　　2）However，at　times　this　balance　in　nature　is＿＿，resulting　in　anumber　of　possibly　unforeseen　effects．（1998年6月CET4） 
　　A）troubled?﨎）disturbed?﨏）confused?﨑）puzzled 
　　 
　　正确选项为B）。从句子的后半部分的result　in　effects可知balance　in　nature受到了破坏。Disturb符合句义。 

　　8．根据词的同现确定正确选择项 
　　 
　　同现即同一组词总会出现在同一个语义场中。考试题中出现的同现现象主要是动词与名词的同现、形容词与名词的同现、名词与名词的同现。 

　　1）The　government　is　trying　to　go　something　to＿＿better　understanding　between　the　two　countries．（1997年6月CET4） 
　　A）raise　B）promote　C）heighten　D）increase 
　　 
　　正确选项是B）。better和空格处的内容属动词和名词的重现。4个选项中只有B）promote才能和better　understanding搭配，表示“促进”的意思。 

　　2）John　Dewey　believed　that　education　should　be　a　preparation　for　life，that　a　person　learns　by　doing，and　that　teaching　must＿＿the　curiosity　and　creativity　of　children．（1998年6月CET4） 
　　A）seek　B）stimulate　C）shape　D）secure 
　　 
　　正确选项是B）。所给4个选项中只有B）stimulate才能和curiosity和creativity同现，表示“激励，激发”的意思。 

　　3）Remember　that　customers　don’t＿＿about　prices　in　that　city．（1991年1月CET4） 
　　A）debate　B）consult　C）dispute　D）bargain 
　　 
　　正确选项是D）。本句中customers，prices和选项中的bargain可以出现在同一语义场中。bargain　about短语意思是：就……讨价还价。  

21. The fifth generation computers, with artificial intelligence, _C_ and perfected now.
A) developed   B have developed   C are being developed   D will have been developed
22. This ticket _C_ you to a free meal in our new restaurant.
A gives   B grants   C entitles   D credits
A,B两项都要加双宾语，结构为：gives / grants sb. sth. 
entitle sb. to sth. 使某人有权得到某物； credit A to B 相信A是由B造成的。
相信飞机失事是由飞行员错误造成的。 Credit the crash to the pilot's mistake.
crash 坠落，坠毁（专指飞机失事）； collision 碰撞（强调两个物体碰撞，如火车、汽车等）。
we are sorry, very sorry, terribly sorry, awfully sorry.
23. You _D_ her in her office last Friday; she's been out of town for two weeks.
A needn't have seen   B must have seen
C might have seen   D can't have seen
24. That was so serious a matter that I had no choice but _D_ the police.
A called in   B calling in   C call in   D to call in
have no choice but to do sth. 别无选择，只能做...
25. She was so _B_ in her job that she didn't hear anybody knocking at the door.
A attracted   B absorbed   C drawn   D concentrated
be attracted by 被…所吸引； be absorbed in 全神贯注（专注）于做…
be drawn in 被诱骗（诱使）做... ； concentrate on 专注于。
I was simply drawn in. 我是被诱骗上钩的。
27. At first, the speaker was referring to the problem of pollution in the country, but halfway in her speech, she suddenly _B_ to another subject.
A committed   B switched   C favoured   D transmitted
switch to another subject 转换话题； switch to another channel 转换频道。
28. It is politely requested by the hotel management that radios _C_ after 11 o'clock at night. [虚拟语气]
A were not played   B not to play   C not be played   D did not play
29. Although I like the appearance of the house, what really made me decide to buy it was the beautiful _D_ through the window.
A vision   B look   C picture   D view
view n. 景色，风景，视野，视域。
30. Cancer is second only _B_ heart disease as a cause of death.
A of   B to   C with   D from
具有比较意味的形容词都要与介词to搭配。
32. The manager needs an assistant that he can _A_ to take care of problems in his absence. [in his absence 在某人不在场的情况下]
A count on   B count in   C count up   D count out
presence n. 到场，出席； in one’s presence 在某人在场的情况下。
count on=depend on 指望，依靠，依赖； count up 算出总数；
count in 把…算在内； count out 把...排除在外。
33. The organization had broken no rules, but _A_ had it acted responsibly.
A neither   B so   C either   D both
34. We gave out a cheer when the red roof of the cottage came _D_ view.
A from   B in   C before   D into 
come into view 进入视野，进入眼帘。 cheer n. 欢呼； cheers 干杯；
cheer-team 拉拉队； cheer-leader 拉拉队长。英语中为了…干杯用介词to引起。
to your health 为了你的健康干杯； to friendship为了友谊干杯。 bottom up 先干了。
35. They took _D_ measures to prevent poisonous gases from escaping.
A fruitful   B beneficial   C valid   D effective
take effective measures 采取有效措施。 valid adj. 有效的，成立的。
36. Doing your homework is a sure way to improve your test scores, and this is especially true _A_ it comes to classroom tests.
A when   B since   C before   D after
sure 做定语时表示“可靠的、稳妥的”。 come to 谈到，提及。
37. Careful surveys have indicated that as many as 50 percent of patients do not take drugs _D_ directed.
A like   B so   C which   D as
drug n. 药品，毒品。 gay adj. 放荡的，快乐的； n. 同性恋者，尤指男性同性恋。
so后面加过去分词表示一种程度。 as后面加过去分词时表示“如同…那样，正如…那样”。
53. I hope all the precautions against air pollution, _D_ suggested by the local government, will be seriously considered here.
A while   B since   C after   D as
precautions n. 防治措施； precautions against 防治…的措施。
after being + 过去分词，注意：after后面不能直接加过去分词。
38. In developing countries people are _C_ into overcrowded cities in great numbers.
A breaking   B filling   C pouring   D hurrying
pour into 涌入，蜂拥而入。 break into 强行闯入。
39. It's reported that by the end of this month the output of cement in the factory _A_ by  about 10%. [output 产量]
A will have risen   B has risen   C will be rising   D has been rising
表达将来的行为在将来某时间之前完成用将来完成时。
40. If I had remembered _A_ the window, the thief would not have got in.
A to close   B closing   C to have closed   D having closed
remember to do sth. 记得要做某事但没做。
41. There are other problems which I don't propose to _A_ at the moment.
A go into   B go around   C go for   D go up
at the moment 目前，现在。 go into 谈论，讨论。
42. Don't get your schedule _C_; stay with us in this class.
A to change   B changing   C changed   D change
43. It is quite necessary for a qualified teacher to have good manners and _A_ knowledge.
A extensive   B expansive   C intensive   D expensive
extensive adj. 范围广大的，广博的； extensive knowledge 知识渊博。 
expansive adj. 扩张的，面积广阔的； expensive adj. 昂贵的，高价的。
intensive adj. 仔细深入的，细致入微的。
54. The patient's health failed to such an extent that he was put into _C_ care.
A tense   B rigid   C intensive   D tight
to such an extent 到如此的程度。 intensive care 特级护理。
44. Jean doesn't want to work right away because she thinks that if she _B_ a job she probably wouldn't be able to see her friends very often.
A has to get   B were to get   C had got   D could have got
46. A love marriage, however, does not necessarily _B_ much sharing of interests and responsibilities. [a love marriage因相爱而结婚形成的婚姻]
A take over   B result in   C hold on   D keep to
not necessarily 未必； interests n. 利益。 take over 接管，接收；
result in 导致，结果是； hold on 坚持，挺住； keep to 坚持，遵守。
47. The ability to store knowledge makes computers different form every other machine _A_ invented. [ever adj. 曾经，以往任何时候]
A ever   B thus   C yet   D as
48. I'm not sure whether I can gain any profit from the investment, so I can't make a(n) _C_ promise to help you.
A exact   B defined   C definite   D sure
definite: unlikely to be changed 不可能被改变的； definite promise 不可能被改变的诺言。
49. I have kept that portrait _B_ I can see it every day, as it always reminds me of my university days in London.
A which   B where   C whether   D when
which在定语从句中除了做主语就是做宾语，when在定语从句中只能做时间状语。
remind sb. of sth. 使某人想起某事。
50. The sports meet, originally due to be held last Friday, was finally _D_ because of the bad weather. [sports meet=sports meeting 运动会]
A set off   B broken off   C worn off   D called off
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21. Until then, his family _D_ from him for six months.
A didn't hear   B hasn't been hearing   C hasn't heard   D hadn't heard
until then 直到那时。 hear from sb. 收到某人的来信，得到某人的消息。
22. The conference _B_ a full week by the time it ends.
A must have lasted   B will have lasted   C would last   D has lasted
见到介词by引导的时间状语，谓语动词就应是完成时态。
24. Physics is _B_ to the science which was called natural philosophy in history.
A alike   B equivalent   C likely   D uniform
be alike to sb. 对于某人来说均是一样的。 be equivalent to 相当于。
All tastes are alike to him. 所有味道对他来说都一样。
27. The new appointment of our president _A_ from the very beginning of next semester.
A takes effect   B takes part   C takes place   D takes turns
semester n. 学期； president n. 大学校长； take effect 生效，发生效力；
take part in 参与，参加； take place=happen 发生； takes turn to do sth. 轮流做某事。
28. The president made a _A_ speech at the opening ceremony of the sports meeting, which encouraged the sportsmen greatly.
A vigorous   B tedious   C flat   D harsh
ceremony n. 典礼，仪式；表达在某个典礼上介词用at。 vigorous adj. 强劲有力的，强有力的。
harsh adj. 刺耳的，令人不愉快的； flat adj. 平淡无奇的； tedious adj. 冗长无聊的。
29. It is useful to be able to predict the extent _C_ which a price change will affect supply and demand. [extent to]
A from   B with   C to   D for
30. Finding a job in such a big company has always been _D_ his wildest dreams.
A under   B over   C above   D beyond
beyond one’s wildest dreams 做梦也想不到。
31. It is not easy to learn English well, but if you _C_, you will succeed in the end.
A hang up   B hang about   C hang on   D hang onto
hang on 坚持，继续下去。
32. It is reported that _C_ adopted children want to know who their natural parents are.
A the most   B most of   C most   D the most of
most单独出现的时候有两种词性要考虑：1 adv. 非常；2 adj. 大多数的。
the most后面加多音节的形容词或副词构成该句的最高级。
most of + 名词，表示这些名词中的大多数。 make the most of 充分利用。
34. _D_ before we depart the day after tomorrow, we should have a wonderful dinner party. [Were they to arrive=If they were to arrive]
A Had they arrived   B Would they arrive   C Were they arriving   D Were they to arrive
35. The strong storm did a lot of damage to the coastal villages: several fishing boats were _A_ and many houses collapsed.
A wrecked   B spoiled   C torn   D injured
collapse vi. 倒塌，坍塌； wreck vt. （船只）遭到破坏。
torn原形是tear，n. 眼泪，vt. 撕裂，撕开。
37. As _B_ announced in today's papers, the Shanghai Export Commodities Fair is also open on Sundays.
A being   B is   C to be   D been
注意两个非限定性定语从句的引导词：as, which。
which在做非限定性定语从句引导词时有两个特点：
1 which前要有逗号与前面句子分开； 2 which引导非限定性定语从句指的是前面整句话的内容。
只要引导非限定性定语从句as和which都指一句话内容，区别在于which只能放在它所指那句话的后面，而as可以在前面也可以在后面。
38. You see the lightning _A_ it happens, but you hear the thunder later.
A the instant   B for an instant   C on the instant   D in an instant
the instant=as soon as 一…就…
39. The manager lost his _B_ just because his secretary was ten minutes late.
A mood   B temper   C mind   D passion
lose one’s temper 发脾气。
40. Great as Newton was, many of his ideas _C_ today and are being modified by the work of scientists of our time.
A are to challenge   B may be challenged   C have been challenged   D are challenging
as表示“尽管”时引导从句，从句中的表语可以放在引导词之前构成部分倒装。
41. Please be careful when you are drinking coffee in case you _D_ the new carpet.
A crash   B pollute   C spot   D stain
pollute vt. 污染； spot n. 地点，场所，斑点，污点；v. 使…上有斑点、污点。
spotted dog 斑点狗。 stain v. 弄脏，玷污，染色。
59. The tomato juice left brown _A_ on the front of my jacket.
A spot   B point   C track   D trace
42. I'd rather read than watch television; the programs seem _B_ all the time.
A to get worse   B to be getting worse   C to have got worse   D getting worse
all the time 始终，一直。
43. Convenience foods which are already prepared for cooking are _D_ in grocery stores.
A ready   B approachable   C probable   D available
convenience foods 方便食品； instant coffee/noodle 速容咖啡/速食面。
ready adj. 准备好的； approachable adj. 可接近的，平易近人的，亲切的。
probable adj. 可能的； available adj. 可获得的，可利用的，可支配的。
44. When I caught him _A_ I stopped buying things there and started dealing with another shop.
A cheating   B cheat   C to cheat   D to be cheating
45. It is important that enough money _A_ to fund the project.
A be collected   B must be collected   C was collected   D can be collected
46. Some old people don't like pop songs because they can't _C_ so much noise.
A resist   B sustain   C tolerate   D undergo
tolerate vt. 忍受，容忍； undergo vt. 经历，遭受。
48. _C_ one time, Manchester was the home of the most productive cotton mills in the world. [at one time 曾经，一度]
A On   B By   C At   D Of
49. _A_ it or not, his discovery has created a stir in scientific circles.
A Believe   B To believe   C Believing   D Believed
believe it or not 信不信由你。 creat a stir 引起轰动。
50. Mr. Morgan can be very sad _C_, though in public he is extremely cheerful.
A by himself   B in person   C in private   D as individual
in public 在公众面前； in private 私下单独一个人的时候。
　主谓一致：指的就是给出主语，要求判断谓语动词是用单数还是复数的问题。
一、就近原则：
指句子的主语由两部分单词或短语构成时，由离谓语动词近的那部分主语来决定谓语动词的单复数。
只有当以下单词或短语连接主句的两部分时就近原则才适用：
1. or 或者； 2. either … or … 不是…就是… ，…或… ； 3. neither … nor … 既不…也不… ；
4. not only … but also … 不但…而且… ； 5. not … but … 不是…而是…
例如：主语1 or 主语2 谓语动词。 此时由主语2决定谓语动词。
10. _C_ either he or his accountants going to claim for the loss?
A Are   B Where   C Is   D Does
如果题目改变为：Either he or his accountants ___ going … 则应选A
二、句子谓语动词一定用复数的两种情况：
1. 集合名词做主语，集合名词没有复数形式，因为他本身就代表一个复数概念。
常见的几个复合名词： people 人民，人们； police 警察； cattle 牛； poultry 家禽。
2. 表示数量的复数名词 + 不可数名词，整体做主语时
例如：去年出口了八百万顿煤。 Eight million tons of coal were exported last year.
三、谓语动词一定用单数的六种情况：
1. 句子的主语是由从句充当的、动词不定式短语作主语、动名词短语作主语；
2. 表示时间、重量、长度、价值四方面的词做主语；
399. -- “How many days?”
0    -- “Did you say that five days _C_ required to complete that work?”
A are   B were   C was   D is
3. 表示单数概念的主语，短语，谓语动词，此时谓语动词也用单数；
因为此结构中短语只是对主语提供附加说明情况，所以谓语动词也用单数。
当以下这些标志性的介词或介词短语出现在此结构中时可以不管中间的附加说明情况：
with, together with, like, except, besides, in addition to, rather than, as well as
注意：表示复数概念的主语，短语，谓语动词，此时谓语动词应用复数。
4. each, every, either, some, any, no，由以上六个词中任何一个所构成的复合代词作主语时；
some经常构成的三个复合代词：something, somebody, someone；
no经常构成的三个复合代词：nothing, nobody, no one； either of + 短语；
5. 通常由and连接两部分这种形式做主语谓语动词要用复数，但在以下两种情况下则应用单数；
1> and连接的两部分指的是同一事物；
2> and连接的两部分被no, each, every中任何一个词修饰时；
例如：每位男士和女士都要着装得体。 be supposed to do sth. 理应，应该做某事。
Every man and every woman is supposed to dress properly.
11. Many an airplane _B_ in the exhibition.
A are shown   B has been shown   C has shown   D show them
many a(an) 很多，相当于many； many a(an) + 可数名词单数，做主语时谓语动词用单数。
6. many a (an) + 可数名词单数，作主语时谓语动词用单数。
9. Not only Joan but her sisters _B_ the combination to the safe which contains the list of the family securities.
A have known   B know   C knows   D is knowing
not only … but also … 的一种变形形式，not only … but …
另一种变形形式not only … but … as well
combination n. 密码； combination to the safe 保险箱密码； securities有价证券。
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41. She ought to stop work; she has a headache because she _A_ too long.
A has been reading   B had read   C is reading   D read
had read 过去完成时要与一般过去时搭配。
has been reading 现在完成进行时：指某行为从过去一点到现在一直在进行。
42. Niagara Falls is a great tourist _B_, drawing millions of visitors every year.
A attention   B attraction   C appointment   D arrangement
tourist attraction 旅游胜地； attention n. 注意力； appointment n. 委任的职位，约会；
date n. 日期，约会，枣；表示约会时指的是异性之间的私人约会。 arrangement n. 布置，安排
blind date 两人第一次见面的约会。 appointment 指公事性质的，比较正式的约会。
43. I don't mind _B_ the decision as long as it is not too late.
A you to delay making   B your delaying making
C your delaying to make   D you delay to make
mind 后要加动名词； delay v. 耽搁，延误（后面也要加动名词）
45. Corn originated in the New World and thus was not known in Europe until Columbus found it _A_ in Cuba.
A being cultivated   B been cultivated   C having cultivated   D cultivating
46. The sale usually takes place outside the house, with the audience _C_ on benches, chairs or boxes.
A having seated   B seating   C seated   D having been seated
注意：seat是及物动词，及物动词用主动形式，后面要直接加宾语。
Be seated please. 请坐。 英语中只有及物动词才有被动语态。
47. This kind of glasses manufactured by experienced craftsmen _B_ comfortably.
A is worn   B wears   C wearing   D are worn
当wear表穿戴时，而句子的主语是被穿戴的东西时，wear是不及物动词，没有被动语态。
65. The coming of the railways in the 1830s _A_ our society and economic life.
A transformed   B transported   C transferred   D transmitted
字根trans在四级中着重考的含义是“从一个地方到另一个地方”。
transform 改革，变革，改变； transport 运输； transfer 转移，移动；
transmit 传送，播送；疾病的传染，传播； transplant 移植。
48. Some diseases are _D_ by certain water animals.
A transplanted   B transformed   C transported   D transmitted
49. Wouldn't you rather your child _B_ to bed early?
A go   B went   C would go   D goes
would rather的两种用法：1 would rather + 动词原形；
2 would rather + 句子（句子谓语动词用一般过去时体现虚拟语气）。
50. Although Anne is happy with her success she wonders _B_ will happen to her private life. [wonder后面要加疑问词]
A that   B what   C it   D this
51. The words of his old teacher left a _C_ impression on his mind. He is still influenced by them. [lasting adj. 持久的，永久的； liberal adj. 开明的，心胸开阔的]
A long   B lively   C lasting   D liberal
52. Mike's uncle insists _D_ in this hotel.
A staying not   B not to stay   C that he would not stay   D that he not stay
insist的两种用法：1 insist on … 坚持，坚决要求；
2 insist + that引导的从句（从句谓语动词为[should] + 动词原形）
53. We agree to accept _D_ they thought was the best tourist guide.
A whatever   B whomever   C whichever   D whoever
they thought是插入语，可以不看； tourist guide 导游。
56. Although many people view conflict as bad, conflict is sometimes useful _C_ it forces people to test relative merits of their attitudes and behaviors.
A by which   B to which   C in that   D so that
句子的意思是：如果冲突以后能回家反省一下自己是好事情。 
in that 因为； conflict n. 冲突； relative merits 相比较而言的优点； so that 以至于。
57. He is _A_ about his chances of winning a gold medal in the Olympics next year.
A optimistic   B optional   C outstanding   D obvious
optimistic adj. 乐观的； pessimistic adj. 悲观的； be optimistic about 对…持乐观态度。
optional adj. 随意的，任选的，非强制性的； optional courses 选修课；
outstanding adj. 卓越的，杰出的； obvious adj. 明显的。
58. Sometimes I wish I _B_ in a different time and a different place.
A be living   B were living   C would live   D would have lived
wish后加的句子一定要用虚拟语气。
与现在事实相反，wish后的句子经常用一般过去时来体现虚拟语气。
59. The director was critical _C_ the way we were doing the work.
A at   B in   C of   D with
be critical of 对...爱挑剔的，批评。
60. In a sudden _B_ of anger, the man tore up everything within reach.
A attack   B burst   C split   D blast
within reach 够得着； out of reach 够不着； burst 爆发，迸发；
burst可以与很多词语搭配表示突然发作：
1 能与人的情绪（喜、怒、哀、乐）搭配； 2 能与掌声、笑声搭配。
61. _D_ she realized it was too late to go home.
A No sooner it grew dark than   B Hardly did it grow dark that
C Scarcely had it grown dark than   D It was not until dark that
no sooner在句首时句子要用部分倒装；hardly要与when搭配；scarcely也要与when搭配。
62. In Britain people _C_ four million tons of potatoes every year.
A swallow   B dispose   C consume   D exhaust
swallow 吞，咽； dispose 去掉，处理，安排； consume 消费，消耗； consumer 消费者；
exhaust 将资源消耗殆尽；如果与人在一个句子中搭配则表示使人精疲力竭。
63. I'd _A_ his reputation with other farmers and business people in the community, and then make a decision about whether or not to approve a loan.
A take into account   B account for   C make up for   D make out
take into account 考虑； make up for 弥补，补偿。
65. She cooked the meat for a long time so as to make it _D_ enough to eat.
A mild   B slight   C light   D tender
mild adj. 不辣的； hot adj. 辣的； extra hot 极辣的；
light adj. 清淡的，容易消化的；蛋糕点心等松软的； muffin n. 松饼；
slight adj. 轻微的，少量的； tender adj. 肉嫩的。
steak n. 牛排；rare 三成熟的；medium 七成熟的；well-done 全熟的；medium rare 五成熟。
66. We take our skin for granted until it is burned _A_ repair.
A beyond   B for   C without   D under
take sth. for granted 把什么事当成理所当然的而不重视； beyond prep. 超出 … 的范围。
67. The computer revolution may well change society as _C_ as did the Industrial Revolution.
A certainly   B insignificantly   C fundamentally   D comparatively
certainly 当然的，确定无疑的（主观思想较浓厚）； insignificantly 没有意义的，无足轻重的；
comparatively 相比较而言的； fundamentally 根本性的，从本质上来说。
68. _C_ in this way, the situation doesn't seem so disappointing.
A To look at   B Looking at   C Looked at   D To be looked at
70. Some women _D_ a good salary in a job instead of staying home, but they decided not to work for the sake of the family.
A must make   B should have made   C would make   D could have made
for the sake of为了… ；为了…的利益；
与过去事实相反时用：情态动词 + have + 动词过去分词；
should have + 动词过去分词，表示本应该…
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32. You cannot be _B_ careful when you drive a car.
A very   B too   C so   D enough
cannot too 在…也不为过，越…越好。
34. Every man in this country has the right to live where he wants to _A_ the color of his skin. [regardless of 不管，不顾]
A regardless of   B in the light of   C by virtue of   D with the exception of
35. Housewives who do not go out to work feel they are not working to their full _B_.
A strength   B capacity   C length   D possibility
strength n. 力量，体力，实力； capacity n. 才能，才智（能力方面）。
38. The old couple decided to _C_ a boy and a girl though they had three of their own.
A adapt   B bring   C adopt   D receive
39. The government is trying to do something to _D_ better understanding between the two countries.
A raise   B increase   C heighten   D promote
promote better understanding 增进理解。
40. The newspaper did not mention the _A_ of the damage caused by the fire.
A extent   B level   C range   D quantity
extent作核心名词，表示到…程度了，介词用to。
41. The soldier was _A_ of running away when the enemy attacked.
A accused   B charged   C scolded   D punished
be accused of 被指控，被职责； be charged with 被指控。
42. Had he worked harder, he _D_ the exams.
A must have got through   B could get through
C would get through   D would have got through
had he worked harder (虚拟语气) = if he had worked harder …
与过去事实相反用：情态动词 + have + 动词的过去分词。
45. It seems oil _B_ from this pipe for some time. We'll have to take the machine apart to put it right.
A had leaked   B has been leaking   C leaked   D is leaking
for + 一段时间，做时间状语，谓语动词用完成时态。过去完成时要与一般过去时搭配。
46. When he arrived, he found _C_ the aged and the sick at home.
A nothing but   B none other   C none but   D no other than
形容词前加the表示一类人。 none but 只有，仅有。
47. The pressure _B_ causes Americans to be energetic, but it also puts them under a constant emotional strain.
A competing   B to compete   C to be competed   D having competed
the right to vote 选举权。 动词不定式作后置定语要用主动形式。
the pressure to compete 竞争的压力。
49. As teachers we should concern ourselves with what is said, not what we think _C_.
A have to be said   B must say   C ought to be said   D need to say
50. Once environmental damage _A_, it takes many years for the system to recover.
A is done   B is to do   C does   D has done
51. Studies show that the things that contribute most to a sense of happiness cannot be bought, _B_ a good family life, friendship and work satisfaction.
A as for   B such as   C in case of   D in view of
contribute to 对…做出贡献。
52. He will agree to do what you require _D_ him.
A for   B from   C to   D of
require sth. of sb. 要求某人做某事。
53. The mere fact _A_ most people believe nuclear war would be madness does not mean that it will not occur.
A that   B which   C what   D why
fact后面要加同位语从句。
54. John seems nice person. _C_, I don't trust him.
A Even though   B Therefore   C Even so   D Though
even so 即便如此，尽管如此。
55. I don't think it advisable that Tom _A_ to the job since he has no experience.
A be assigned   B will be assigned   C is assigned   D has been assigned
advisable后面加句子要用虚拟语气，形式为：（should）+ 动词原形。
56. _D_, a man who expresses himself effectively is sure to succeed more rapidly than a man whose command of language is poor.
A Other things to be equal   B Were other things equal
C To be equal to other things   D Other things being equal
B项如果不省略if应为：If other things were equal
如果从句用虚拟语气，主句也必须用虚拟语气形式。
other things being equal 在这里是独立主格做条件状语。
57. _C_ that my head had cleared, my brain was also beginning to work much better.
A For   B Since   C Now   D Despite
注意以下三个后面加句子的表达形式：
  1 in that 由于，因为； 2 now that 既然，由于； 3 except that 除了…之外。
59. By 1929, Mickey Mouse was as popular _B_ children as Coca-Cola.
A for   B with   C to   D in
be popular with + 人的群体 受…欢迎。
60. Because Edgar was convinced of the accuracy of this fact, he _A_ his opinion.
A stuck to   B strove for   C stuck at   D stood for
be convinced of 深信，确信； stick to 坚持； strive for 力求，拼命争取。
Don’t strive for perfection. 不要凡是都力求达到完美状态。
-------------------------XXXX-XX-------------------------
48. It’s no use _B_ me not to worry.
A you tell   B your telling   C for you to have told   D having told
It's no use + 动名词。 动名词的复合结构，宾格（形容词性物主代词）+ 动名词。
52. If it _A_ too much trouble, I’d love a cup of tea.
A isn’t   B wasn’t   C weren’t   D hadn’t been
一般日常用语，用一般时。
56. She was glad that her success would ___ for the women who would follow.
A make things easier   B make it easier   C be easier   D be easier to make
make for 导致，促成；朝某个方向前进，走向那里。
不要选有代词指代不明的选项。 A项中的things指的是境况，境遇。
60. We object _C_ punishing a whole group for one person’s fault.
A against   B about   C to   D for
68. The newest satellite can _A_ a thousand telephone conversations and a color TV program at the same time.
A carry   B extend   C bring   D take
carry vt. 传送，传输； extend vt. 延伸，延续（extend to 延伸到，延续到）。
fetch vt. 去拿来，去请来，去叫来； fetch water 打水。
-------------------------1995-01-------------------------
41. The grey building is where the workers live, and the white one is where the spare parts _B_. [spare parts零部件]
A are producing   B are produced   C produced   D being produced
48. _A_ a teacher in a university, it is necessary to have at least a master's degree.
A To become   B Become   C One become   D On becoming
master's degree 硕士学位； 当介词on后面加动词ing形式时表示时间概念“在…之后”。
49. The little man was _C_ more than one metre fifty tall.
A nearly   B quite   C hardly   D almost
hardly more than 不足，不到。
36. The little man was _B_ one metre fifty high.
A almost more than   B hardly more than   C nearly more than   D as much as
53. Medical care reform has become this country's most important public health _C_.
A question   B stuff   C matter   D issue
matter 事物，事情； question 有疑而问，并且有待回答的问题；
questions and answers Q & A 问与答； issue n. 问题（强调的是政治方面的问题）。
1999年前，台湾问题Taiwan issue；1999年后，台湾问题Taiwan question，态度转变。
60. If you don't like to swim, you _B_ stay at home.
A should as well   B may as well   C can as well   D would as well
may as well 还是，到不如。
70. They are teachers and don't realize _A_ to start and run a company.
A what it takes   B what takes it   C what they take   D what takes them
start and run a company 创立并经营一家公司。
-------------------------1996-06-------------------------
23. A healthy life is frequently thought to be _D_ with the open countryside and homegrown food.
A tied   B bound   C involved   D associated
be involved with 牵涉，卷入； be associated with 与...相关，联系起来。
homegrown food 自家种的食品； wine 葡萄酒； house wine 自家的酒。
33. The traditional approach _A_ with complex problems is to break them down into smaller, more easily managed problems.
A to dealing   B in dealing   C dealing   D to deal
approach n. 方式，方法； approach to + 动名词。
43. It's already 5 o'clock now. Don't you think it's about time _C_?
A we are going home   B we go home   C we went home   D we can go home
it's about time后面加句子，要用一般过去时来体现虚拟语气。
44. Lightning is a _A_ of electrical current from a cloud to the ground or from one cloud to another. [Lightning n. 闪电]
A rush   B rainbow   C rack   D ribbon
rush n. 冲撞，冲击，撞击； rainbow n. 彩虹，幻想； rack n. 支架，挂架；
ribbon n. 缎带，丝带，绒带。
46. I've already told you that I'm going to buy it, _A_.
A however much it costs   B however does it costs much
C how much does it cost   D no matter how it costs
however在这里不表示转折，而是句子的引导词，这种情况下它相当于：no matter how。
意思是，我已经决定要买了，不管多少钱。
47. New York _A_ second in the production of apples, producing 850,000,000 pounds this year. [rank 排名，名列第几，强调名列前茅；Big Apple 纽约]
A ranked   B occupied   C arranged   D classified
-------------------------1991-06-------------------------
60. When I try to understand _C_ that prevents so many Americans from being as happy as one   might expect, it seems to me that there are two causes.
A why it does   B what it does   C what it is   D why it is
  prevent sb. from doing sth. 妨碍（阻止）某人做某事。
  强调部分本为： it is what that prevents so many … 
  又因为句中有疑问词，应写为： what is it that prevents so ... 
  但强调句式在句中作宾语成分，故正确写法为： what it is that … 
50. I like watching TV _C_ to the cinema.
A more than to go   B than going   C more than going   D rather than to go
than 除构成固定短语外就要与比较级搭配，不会单独出现； rather than + 动词原形；
 平行结构，遇到平行结构时应做的两步：
1 找出连接词，2 使要填部分与已给出的对应部分形式完全一样。
51. I appreciate _D_ to your home.
A to be invited   B to have invited   C having invited   D being invited
appreciate + 动名词（不能加动词原形，不能加句子）。
41. I would appreciate _B_ it a secret.
A you to keep   B your keeping   C that you keep   D that you will keep
your keeping 动名词的复合结构。 you keeping 也是正确的。
52. I hope my teacher will take my recent illness into _C_ when judging my examination.
A regard   B counting   C account   D observation
  take sth. into account 考虑。
54. Important people don’t often have much free time as their work _C_ all their time.
A take away   B take over   C take up [占据]   D take in 
55. When I was very young, I was terribly frightened of school, but I soon ___ it.
A got off   B got across   C got away   D got over
got over it 克服战胜。
56. Many people complain of the rapid _C_ of modern life.
A rate   B speed   C pace   D growth
pace 节奏； rapid pace of modern life现在生活快节奏。
57. San Francisco is usually cool in the summer, but Los Angeles _B_.
A is rarely   B rarely is   C hardly is   D is scarcely
rarely, usually 都是频度副词。通常频度副词的位置在系动词之后，表示实在意思的词前面。
58. The speaker, _D_ for her splendid speeches, was warmly received by the audience.
A having known   B being known   C knowing   D known
  know 没有现在分词；know 用主动形式时只能和两个介词搭配：of, about。
known for 以…而著名。
60. I couldn’t find _A_, and so I took this one.
A a large enough coat   B an enough large coat
C a large coat enough   D a coat enough large
enough 修饰形容词时要放到形容词后面。
61. I always _B_ what I have said.
A get to   B hold to   C lead to   D see to
本题所有选项中的to都是介词，其后加动词动名词的形式。
hold to 坚守，信守； see to 负责做，处理，照料（后面加的都是某件事情，不加人）
62. No sooner had we reached the top of the hill _C_ we all sat down to rest.
A when   B then   C than   D until
no sooner … than 一…就…
63. Evidence came up _C_ specific speech sounds are recognized by babies as young as 6 months old.
A what   B which   C that   D whose
evidence 证据、sign 迹象、fact 事实，后面都要带同位语从句，且从句用that引导。
64. He moved away from his parents, and missed them _A_ enjoy the exciting life in New York. [too … to，太…而不能…]
A too much to   B enough to   C very much to   D much so as to
65. He was _C_ of having asked such a silly question.
A sorry   B guilty   C ashamed   D miserable
  guilty adj. 有罪的； be ashamed of 因…而羞愧（不好意思）的； miserable adj. 悲惨的。
66. The last time we had a family reunion was _B_ my brother's wedding ceremony four years ago.  
A in   B at   C during   D over
ceremony n. 典礼，仪式。要表达在某典礼（仪式）上用介词at。
  at the graduation ceremony 在毕业典礼上。
67. What _A_ would happen if the director knew you felt that way?
A do you suppose   B you suppose   C will you suppose   D you would suppose
do you supposed 常做插入语。
68. _D_ the advances of science, the discomforts of old age will no doubt always be with us. [despite prep. 尽管； as for 关于，至于]
A As for   B Besides   C Except   D Despite
69. How close parents are to their children _B_ a strong influence on the character of the children.
A have   B has   C having   D to have
influence on 对…造成影响，很大的影响中形容词用的是strong。
70. He _A_ when the bus came to a sudden stop.
A was almost hurt   B was hurt himself   C was to hurt himself   D was hurting himself
hurt oneself 自残； be to + 动词原形，将要做某事；
-------------------------1993-06-------------------------
41. Jean did not have time to go to the concert last night because she was busy _C_ for her examination.
A to prepare   B to be prepared   C preparing   D being prepared
be busy doing sth. 忙于做某事
42. Five minutes earlier, _A_ we could have caught the last train.
A and   B but   C or   D an order
and 在这里表示一种结果，翻译成“那么（和）”。只有两种情况下and才会这样翻译：
1. 省略句 ＋ and + 句子； 2. 祈使句 ＋ and + 句子。
47. Turn on the television or open a magazine and you _B_ advertisements showing happy balanced families.
A are often seeing   B will often see   C often see   D have often seen
43. I cannot give you _D_ for the type of car you sell because there is no demand for it in the market.
A an expense   B a charge   C a purchase   D an order
  order n. 定购，订单； purchase n. 购买。
45. By the end of this month, we surely _C_ a satisfactory solution to the problem.
A have found   B will be finding   C will have found   D are finding
如果一个句子的时间状语是由by引导的，则时态要选择完成时态。
将来的行为在将来的某个时间之前就已完成用将来完成时。
solution to a problem 一个问题的解决方案。
46. Mr. Wilson said that he did not want to _A_ any further responsibilities.
A take on   B get on   C put up   D look up
take on 承担； take on responsibility 承担责任。
47. Having no money but _B_ to know, he simply said he would go without dinner.
A not to want anyone   B not wanting anyone   C wanted no one   D to want no one
dinner n. 正餐（多指晚餐）； supper n. 夜宵，晚餐； breakfast n. 早餐； lunch n. 午餐；
brunch n. 早午餐。[but前后的句子要平衡]
48. We desire that the tour leader _A_ us immediately of any change in plans.
A inform   B informs   C informed   D has informed
desire v. 要求，表要求时后面加句子要用虚拟语气， (should) + 动词原形。
其他同样用法的词还有ask, demand, request, require.
49. Not _B_, the process of choosing names varies widely from culture to culture.
A obviously   B surprisingly   C particularly   D normally
not surprisingly 一点也不奇怪。 vary vi. 变化。
vary from … to … 从一种形式变化到另一种形式。vary between … and … 在两者之间进行变化。
29. Features such as height, weight, and skin color _B_ from individual to individual and from face to face.
A change   B vary   C alter   D convert
  individual n. 个人，个体； individualism n. 个人主义。
44. The hope, goals, fears and desires _D_ widely between men and women, between the rich and the poor.
A alter   B shift   C transfer   D vary
50. A man escaped from the prison last night. It was a long time _A_ the guards discovered what had happened.
A before   B until   C since   D when
It + 系动词 + 一段时间 + before引导的句子 在…之前花费多少时间。
54. Scientists say it may be five or ten years _D_ it is possible to test this medicine on human patients.
A since   B when   C after   D before
51. In the experiment we kept a watchful eye _D_ the developments and recorded every detail. [keep a watchful eye on 密切主意，留神]
A in   B at   C for   D on
52. There's little chance that mankind would _D_ a nuclear war.
A retain   B endure   C maintain   D survive
  retain vt. 保持，保留； endure v. 忍受； maintain vt. 维持，保持，坚持认为；
  survive vi. 生存； vt. 活过 … （宾语为某种灾难）。 survive a flood 活过一场洪水。
前缀sur表示过 … ，外，超； vive 表示生活，强调活着。
54. They usually have less money at the end of the month than _C_ at the beginning.
A which is   B which was   C they have   D it is
  less … than句子前后要平衡结构。
55. In the course of a day students do far more than just _A_ classes.
A attend   B attended   C to attend   D attending
far more than 远远多于，远不止于；也要句子前后平衡结构。
56. The French pianist [n. 钢琴师] who had been praised very highly _C_ to be a great disappointment.
A turned up   B turned in   C turned out   D turned down
turn up 后面不加宾语表示出现，后面加宾语表示将声音调高，调大；
turn in + 宾语 上缴，交出； turn down 将声音调低，调小；拒绝；
refuse sb. 指直接的回绝； turn sb. down 则指委婉的拒绝；
turn out + 动词不定式 最终证明是，结果是。
57. Many difficulties have _B_ as a result of the change over to a new type of fuel.
A risen   B arisen   C raised   D arrived
  因本句未加宾语，估不应选不及物动词，可排除C项； arrive vi. 到达，抵达；
  rise vi. 升起，升高（侧重指旗帜或太阳升起）；数量的增高（侧重指水位、价位）；
the sun rises in the east and sets in the west 太阳东升西落。
  arise vi. 升起，升高，出现，发生（经常与抽象名词联用）。
69. A completely new situation will _B_ when the examination system comes into existence.
A arise   B rise   C raise   D arouse
33. Last year the advertising rate _D_ by 20 percent.
A raised   B aroused   C arose   D rose
58. He made such a _D_ contribution to the university that they are naming one of the new buildings after him.
A genuine   B minimum   C modest   D generous
name after 以…的名字来命名。genuine adj. 真正的，货真价实的； genuine leather 真皮；
minimum adj. 最低的，最小的； modest adj. 谦虚谨慎的，适度的；
generous adj. 慷慨的，慷慨大方的（修饰贡献等用这个）。
59. Helen was much kinder to her youngest child than she was to the others, _D_, of course, made the others jealous.
A who   B that   C what   D which
which在这里是引导非限定性定语从句，which引导非限定性定语从句有2个特点：
1. which前面有逗号与其他句子分开。 2. which指的是前面整句话的内容。
as也可以引导非限定性定语从句，指的都是一句话的内容。
which指一句话的内容只能置于该句之后，而as既可以在后也可以在前。
67. _C_ is known to the world, Mark Twain is great American writer.
A That   B Which   C As   D It
60. In the advanced course students must take performance tests at monthly _B_.
A gaps   B intervals   C length   D distance
interval n. 间隔（即可指空间间隔，也可指时间间隔），四级考试中专考时间间隔的概念。
interval是固定与介词at搭配的。
23. Students or teachers can participate in excursions to lovely beaches around the island at regular _D_.
A gaps   B rate   C length   D intervals
at regular rate 以规则的速度； at regular interval 以规则的时间间隔；
61. Mr. Johnson preferred _A_ heavier work to do.
A to be given   B to be giving   C to have given   D having given
64. Our company decided to _D_ the contract because a number of the conditions in it had not been met.
A destroy   B resist   C assume   D cancel
65. She is _C_ a musician than her brother.
A much of   B much as   C more of   D more as
be of 具有某种性质、品质或特点； 
66. Having been found guilty, the man was given a severe _B_ by the judge.
A service   B sentence   C crime   D crisis
sentence n. 判决，判刑； crisis n. 危机； economic crisis 经济危机； 
68. The residents, _C_ had been damaged by the flood, were given help by the Red Cross.
A all their homes   B all whose homes   C all of whose homes   D all of their homes
当给出了句子的主语，且后面有两部分谓语动词，这两部分谓语动词之间又没有连接词，
时态也不同时，离主语近的谓语动词应为从句的组合成分。
69. You can't afford to let the situation get worse. You must take _D_ to put it right.
A decisions   B directions   C sides   D steps
take steps 采取措施，采取行动； take measures 采取措施；
70. Look at the terrible situation I am in! If only I _B_ your advice.
A follow   B had followed   C would follow   D have followed
if only 如果，要是...就好了，其后面的句子一定要用虚拟语气。
1. 如果if only后面的句子表示与现在或将来的事实相反，这时谓语动词用一般过去时体现虚拟语气。
2. 如果if only后面的句子表示与过去的事实相反，这时谓语动词用过去完成时体现虚拟语气。
47. If only the committee _D_ the regulations and put them into effect as soon as possible
A approve   B will approve   C can approve   D would approve
如果if only后面的句子表示与现在或将来的事实相反，这时谓语动词用一般过去时，
也可以用would + 动词原形。
-------------------------1995-06-------------------------
42. Mark often attempts to escape _C_ whenever he breaks traffic regulations.
A having been fined   B to have been fined   C being fined   B to be fined
escape + 动名词。
44. It is recommended that the project _A_ until all the preparations have been made.
A not be started   B will not be started   C is not started   D is not to be started
recommend vt. 推荐，建议，后面加句子要用虚拟语气，谓语动词的形式：(should) + 动词原形
45. I wish I _D_ longer this morning, but I had to get up and come to class.
A have slept   B slept   C might have slept   D could have slept
wish 后面的句子要用虚拟语气，表示与过去事实相反用：情态动词 + have + 动词过去分词。
might经常被翻译成或许。
46. We didn't know his telephone number, otherwise we _D_ him.
A had telephoned   B must have telephoned
C would telephone   D would have telephoned
otherwise, or等表示“否则”的词，后面句子都要用虚拟语气。
48. While people may refer to television for up-to-minute news [最新的消息], it is unlikely that television _A_ the newspaper completely.
A will replace   B have replaced   C replace   D replaced
49. An Olympic Marathon [马拉松] is 26 miles and 385 yards, approximately [大约] _B_ from Marathon to Athens [雅典].
A distance   B the distance   C is the distance   D the distance is
50. You will want two trees about ten feet apart, from _D_ to suspend your tent.
A there   B them   C where   D which
介词 + which + 动词不定式(to do sth.) 整体做定语。
本句可改写为：You will want two tress about ten feet apart, to suspend your tent from.
只要见到有介词出现在空格之前，而选项中有which, them, there, where等词则应选which。
51. As I was just getting familiar with this job, I had _C_ to ask my boss.
A many   B most   C much   D more
当many没有修饰任何其他词而单独出现时表示很多人。 much在这里相当于many things。
52. _A_ quite recently, most mothers in Britain did not take paid work outside the home.
A Until   B Before   C From   D Since
until recently 直到最近； not surprisingly 一点也不奇怪。
53. The survival of civilization as we know it is _C_ threat.
A within   B towards   C under   D upon
under threat 受到威胁。
55. In some countries, _D_ is called "equality" [平等] does not really mean equal rights for all people.
A which   B one   C that   D what
that可以引导主语从句，但只做引导词而不充当任何成分。
56. I walked too much yesterday and _A_ are still aching now.
A my leg muscles   B my muscles of leg   C my leg's muscles   D my muscles of the leg
英语中一个名词修饰另外一个名词时第一个名词要用单数。 apple trees, eye drops
57. Radio, television and press _B_ of conveying news and information.
A are the most three common means   B are the three most common means
C are the most common three means   D are three the most common means
几个词修饰一个名词时修饰词的顺序应为：1. 定冠词the应该放在最前面（离名词最远）的位置；
2. 数词应放在第二位；3. 最后考虑其他形容词。
58. Liquids are like solids _C_ they have a definite volume.
A with that   B for that   C in that   D at that
  三个与that的搭配的表达形式：now that, in that [因为], except that。
59. When a fire _C_ at the National Exhibition in London, at least ten priceless paintings were completely destroyed.
A broke off   B broke down   C broke out   D broke up
break out （火灾、战争）突然发生，爆发；
60. The destruction of these treasures was a loss for mankind that no amount of money could _D_. [make up for 弥补]
A stand up to   B put up with   C come up with   D make up for
61. Then the speaker _B_ the various factors leading to the present economic crisis.
A went after   B went into   C went for   D went on
go after 追求，设法得到； go into 谈论，叙述； go for 袭击/支持； go on 继续。
62. The students was just about to _C_ the questions, when suddenly he found the answer
A arrive at   B submit to   C give up   D work out
63. When there are small children around, it is necessary to put bottles of pills out of _B_.
A hand   B reach   C hold   D place
out of reach 够不着； within reach 够得找。
64. The _D_ of blood always makes him feel sick.
A form   B look   C view   D sight
  form n. 形式，形状； view n. 风景，景色/视野，视域； look 指的是主观有意识的看；
sight n. 看见，瞥见（不强调主客观）。
66. Free medical treatment in this country covers sickness of mind as well as _B_ sickness
A normal   B ordinary   C average   D regular
sickness of mind 精神病； normal adj. 正常的； average adj. 平均的，中等水平的；
regular adj. 有规律的，规则的； ordinary sickness 一般性疾病。
68. Although he had looked through all the reference material on the subject, he still found it hard to understand this point and her explanation only _C_ to his confusion.
A extended   B amounted   C added [add to 增加]  D turned
70. It took him several months to ___ the wild horse.
A tend   B cultivate   C tame   D breed
tame vt. 驯服； breed 强调的是繁殖，侧重指大批量的繁殖。
It take sb. sometime to do sth. 做某事花了某人多少时间。
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